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Seat

No. [4701]-201

S.Y. B.A. EXAMINATION, 2015

COMPULSORY ENGLISH

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(Text Prescribed : Reflections II)

1. Answer any two of the following : [16]

(1) Justify the title of the story ‘The Story of Stanford’.

(2) Explain the theme of the poem ‘A Different History’.

(3) Bring out the message of the story ‘The Three-Piece Suit’.

2. Attempt any two of the following : [16]

(1) What is the central idea of the poem ‘Ozymandias of Egypt’ ?

(2) Comment on the use of humour in ‘Engine Trouble’.

(3) Discuss the theme of the poem ‘After Apple Picking’.

P.T.O.
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3. Attempt any two of the following : [16]

(1) Write a newspaper report describing NSS camp activities of your

college.

(2) You need a computer operator in your Income Tax Consultancy

Firm. Frame an advertisement to be published in a local newspaper

for a suitable and eligible candidate.

(3) Write a notice inviting your college students to attend a guest

lecture on ‘Competitive Examinations’.

4. Attempt any eight of the following : [16]

(1) Write the correct word from the choices given in brackets :

(a) Most children......................................a mess while playing.

(do/make/create)

(b) The new collector........................................about many

changes. (did/brought)

(2) Use a suitable idiom to complete the sentence :

(a) My new boss has not stopped troubling me since the day

he joined the work. He is constantly...........................about

something. (on my back/on my head)
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(b) When the boy was caught copying in the exam, he was taken

to the principal. He stood there, ......................................in

shame. (pain in his neck/hanging his head)

(3) Complete the sentences using the correct word :

(a) The management was forced to..............................that the

accident was partly their fault. (except/accept)

(b) My sister has moved into the flat.........................mine.

(beside/besides)

(4) Frame a sentence each by using the following phrases :

(a) put up

(b) look after

(5) Give one word for the following expressions :

(a) Someone who does business...........................

(b) Amount of business a company does in a particular period

of time..............................
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(6) Insert an appropriate link word in the blanks :

(a) Mr. Disuza...................................Mr. Thomas are the best

players. (but/and)

(b) The function will be celebrated tomorrow .........................you

come or not. (whether/weather)

(7) Write two sentences using the following word in literal and

metaphorical sense :

a star.

(8) Choose the correct binomial from the choices given below and

fill in the blanks :

(a) Go and visit my cousin when you are in Delhi. He will take

a good care of you and........................you.

(eat and drink/wine and dine)

(b) Everything gets old and stops functioning due

to...................................

(sick and tired/wear and tear)

(9) Complete the sentences with appropriate phrases :

(a) ...................................the boys have failed in the exam. Only

three out of twenty have passed.

(a majority of/many of)

(b) ...................................of them are sorry for what they have

done. (some/a little)
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(10) Complete the following sentences with suffixes, by using the

words in the brackets :

(a) Although she worked all day, she never once complained

of fatigue. She is a truly....................worker. (tire)

(b) The only way to escape a poisonous snake is by

standing...................................till it slithers away. (motion)

5. Attempt any eight of the following : [16]

(1) Use the suitable article in the blanks :

(a) It is ................................ interesting story.

(a/an)

(b) Mr. Virat Kohali is one of ................................best cricket

players.

(the/a)

(2) Use the correct preposition in the blanks :

(a) I am in hurry, because my boss is waiting for

me................................the airport. (in/at)

(b) I have been working in this company................................the

last 25 years. (since/for)
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(3) Write the correct tense form of the verb given in brackets :

(a) Books.....................................our friends. (be)

(b) The students................................me a news last night.

(tell)

(4) Add a question tag :

(a) He has completed his homework just now.

(b) Mr. Rajesh did not attend the wedding ceremony.

(5) Write antonyms of the following :

(a) Modern

(b) Sharp

(6) Turn into passive voice :

(a) Dr. Mathur will inaugurate the function.

(b) He completed the construction of the apartment in the last

month.

(7) Give synonyms of the following words :

(a) Elegant

(b) Radiant



[4701]-201 7 P.T.O.

(8) Frame questions :

(a) Mr. Sandesh works at the telephone office.

(b) Mr. Vedprakash is an eminent writer in Hindi.

(9) Turn the following words into nouns :

(a) Examine

(b) Invite

(10) Turn the following words into adverbs :

(a) Peace

(b) Frequent.
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MARATHI (ejkBh)

G-2 : vk/kqfud ejkBh lkfgR; vkf.k mi;ksftr ejkBh

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

ikB~;iqLrds % (1) dFkkxkSjo µ laik- MkW- HkkLdj ðððððksˇds]

MkW- ckˇklkgsc xaqtkˇ

(2) vkepk cki vku~ vkEghµMkW- ujsaÊ tk/ko

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs f«gk %

(v) ðkqº«s[ku Eg.kts dk; \ rs lkaxwu ejkBh Hkk"ksP;k ðkqº«s[kukps dks.krsgh rhu fu;e

lkaxk- [10]

fdaok

[kk«h« mrkjk mŸkjif=dsr vkgs rlk f«gwu R;kps eqfÊr fpUgkaP;k lkgk∏;kus eqfÊr

ðkks/ku djk %

lkghR;kps Lo :i letkoqu ?ksrkuk izFker lkfgR;fo"k;d dkgh xks"Vh ekfgfr

vlk;«k gO;kr- mnk lkfgR; gs ðkCn :i vlrs- ðkCnkaP;k}kjk lkfgR;kpkvkfo"dkj

gksrks- i.k ts ts ðkCn:i rsrs lkfgR; vls Eg.krk ;r ukgh-

P.T.O.
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No.
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(c) [kk«h fn«s«k vðkqº mrkjk iqUgk ðkqº«s[ku fu;ekuqlkj f«gk % [10]

vk/kquhd ;=;qxkr tkrs] m[kˇ] ikVs&ojoaVs dk«ckgÓ gksr vlY;kus Jekps izlaxfg

deh gksr vkgsr- ;kew š vðkk izlaxh xk;h«h tk.kkjh xk.kh ,sd.ksgh nwfeZˇ gksr

vkgs- vkdkðkok.kh nqjfp=ok.kh lkj[;k ek/;ekaeq š cks«hHkk"ksrh« fujek.k gks.kkÚ;k

«ksdlkfgR;kr ukxjh fdaok izek.k Hkk"ksrh« ðkCnkapk izHkko ok<rks vkgs-

fdaok

[kk«h fn«s«s vðkqº ðkCn ðkqº Lo:ikr f«gk (dks.krsgh ngk) %

(1) ikuh

(2) fo|kfiB

(3) fVdkdkj

(4) cghLœr

(5) fÿMk

(6) viqokZbZ

(7) eqÊhr

(8) ðkhrkQˇ

(9) ikjaikjhd

(10) lkekthd

(11) iquZfookg

(12) izkfo.;
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(d) [kk«h«iSdh ngk ikfjHkkf"kd ðkCn f«gk % [10]

(1) Gazette

(2) Servant

(3) Joint Account

(4) Intimation

(5) Cheque

(6) Accountant

(7) Estimate

(8) Textbook

(9) Data

(10) Circular

(11) Audit

(12) Environment

(13) Security

(14) Report

(15) Outline

(16) Resignation

(17) Seniority

(18) Summary

(19) Valid

(20) Training.
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2. (v) [kk«h«iSdh ikp izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [5]

(1) dFkk Eg.kts dk; \

(2) dFksps ?kVd f«gk-

(3) ejkBh dFksps tud dks.kkl EgV«s tkrs \

(4) vkðk;kuqlkj dFksps dks.kdks.krs izdkj iMrkr \

(5) xzkeh.k dFkk Eg.kts dk; \

(6) nksu xzkeh.k dFkkdkjkaph ukos f«gk-

(7) nksu nf«r dFkkdkjkaph ukos f«gk-

(c) [kk«h«iSdh ikp izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [5]

(1) vkRepfj= Eg.kts dk; \

(2) ^vkRepfj=* ;k lkfgR;izdkjkph nksu oSfðk"VÓs lkaxk-

(3) vkRepfj=kP;k okpukus gks.kkjs nksu Qk;ns lkaxk-

(4) ejkBhrh« nksu vkRepfj=kaph ukos lkaxk-

(5) pfj= vkf.k vkRepfj= ;krh« Qjd lkaxk-

(6) vkRedFkukph nksu oSfðk"VÓs lkaxk-

(7) nksu nf«r vkRedFkukaph ukos lkaxk-
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3. (v) [kk«h«iSdh ,dk izðukps mŸkj 50 ðkCnkai;±r f«gk % [5]

(1) ^dFkk* ;k ok≥~e; izdkjkps Lo:i Li"V djk-

(2) ikjaifjd dFksis{kk nf«r dFksps osx ši.k dks.kR;k ?kVdkauh flº gksrs\

(c) [kk«h«iSdh ,dk izðukps mŸkj 50 ðkCnkai;±r f«gk % [5]

(1) vkRepfj= «s[kdkus ikˇko;kph iF;s lkaxk-

(2) nf«r vkRedFkukaps osx ši.k Li"V djk-

4. [kk«h«iSdh izR;sd xVkrhy ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [15]

(v) (1) ^^ ^Hkwd* dFksrwu ckcqjko ckxq«kauh ^Hkwd* ;k oSf‹od leL;s«k gkr ?kkr«k

vkgs-** Li"V djk-

(2) ^laLdkj* ;k dFksps vkðk;lkSan;Z Li"V djk-

(c) (1) jkghvkthP;k nwjn`"Vhps egRo MkW- ujsaÊ tk/kokauh dls Li"V ds«s vkgs \

(2) MkW- ujsaÊ tk/ko ;kaP;k HkkoaMkapk ifjp; ^vkepk cki vku~ vkEgh* ;k

vkRedFkukP;k vk/kkjs d:u |k-

5. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [15]

(v) (1) ^dFkkxkSjo* ;k laxzgkrh« xzkeh.k dFkkaps osx ši.k Li"V djk-

(2) ^pkSFkhfHkar* dFksrh« ikaMqjax es<sdjkaps O;fDrfp= js[kkVk-

(c) (1) ^vkepk cki vku~ vkEgh* ;k vkRedFkukps osx ši.k Li"V djk-

(2) nknkauh vkiY;k eq«kaoj dls laLdkj ds«s \ rs ^vkepk cki vku~ vkEgh*

;k vkRedFkukP;k vk/kkjs Li"V djk-
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lkekU;Lrj izðððððuif=dk d-&2

G-2 : O;kogkfjd vkf.k mi;ksftr ejkBh

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [20]

(1) dk;kZ«;hu Hkk"ksps nksu foðks"k f«gk-

(2) O;kogkfjd Hkk"ksph dks.krhgh nksu oSfðk"VÓs f«gk-

(3) fVIi.khps izdkj dks.krs \

(4) iwjd fVIi.kh dsOgk f«fg«h tkrs \

(5) vo;onkuklkBh lwpd ?kks"kokD; r;kj djk-

(6) vtZ«s[ku Eg.kts dk; \

(7) vtZ«s[kukph vkoð;drk lkaxk-

(8) bfro`Ÿkkps izdkj f«gk-

(9) bfro`Ÿkkps «s[ku dks.kdks.kR;k VII;kauk vuql:u ds«s tkrs \

(10) lqo.kZegksRlo fdrh o"kk±ph okVpk« iw.kZ >kY;koj lktjk ds«k tkrks \

(11) vgok« Eg.kts dk; \

(12) ekfgrhi=d dðkklkBh izflº ds«s tkrs \

(13) ?kks"k.kki=dkpk mÌsðk f«gk-
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2. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) fufonk lwpuki=dkps Lo:i f«gk-

(2) Lejf.kdsps Lo:i FkksMD;kr Li"V djk-

(3) ekfgrhi=dkph vkoð;drk FkksMD;kr f«gk-

(4) ?kks"k.kki=dkps Lo:i lkaxk-

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk %

(v) œ"kh mRiUu cktkj lferh] veˇusj] ft- tˇxko ;k laLFksP;k dkedktkpk

okf"kZd vgok« r;kj djk- [10]

fdaok

vfrò"Vheq̌ s ðksrdÚ;kaP;k fidkaps >k«s«s uqdlku o R;kiksVh uqdlkuHkjikbZ feˇkoh

;kckcr ek- ftYgkf/kdkjh ;kauk rÿkj vtZ f«gk- [10]

(c) jkt"khZ ðkkgw egkjkt egkfo|k«;] tk«uk ;k egkfo|k«;krh« fo|kFkhZ&fo|kfFkZuhalkBh

vksˇ[ki= r;kj djowu ?ks.;klkBh fufonspk elqnk r;kj djk-

fdaok

vkiY;k ðkgjkrh« e- xka/khuxje/kh« ik.khiqjoBk nksu fnol can Bso.;kr ;s.kkj

vkgs- ;kfo"k;hps ukxfjdkalkBh uxjikf«dsP;k orhus fuosnu r;kj djk-

4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 300 ðkCnkai;�±r f«gk %

(v) Jh- Hkk≈jko foB~B« fðkans ;kauh ftYgk œ"khvf/kdkjh ;kaP;kdMs ðksrrˇÓkl

vuqnku feˇ.;klkBh ds«sY;k vtkZoj fVIi.kh r;kj djk- [15]
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fdaok

vkiY;k xkokP;k ifjljkr v|;kor lks;hlqfo/kkauh lqlTt ðkkldh; #X.kk«;kps

mn~?kkVu gksr vkgs- ;k mn~?kkVu lekjaHkklkBh dk;Zÿeif=dk r;kj djk-

(c) Lejf.kdsph :ijs"kk r;kj djk % [15]

uko µ vkfnR; izdkðku laLFkk] /kkjokM

fufeŸk µ jkSI;egksRlo

Lejf.kdsps uko µ vkfnR;

fdaok

raVkeqDr xko ;kstusr lgHkkxh gks.;klanHkkZr jktkiwj xkoP;k xzkeiapk;rhrQsZ xzkelHkk

cks«ko.;kr vk«h gksrh- ;k xzkelHksps bfro`Ÿk r;kj djk-
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foðððððks"kLrj vH;klif=dk ÿ- 1

(ejkBh lkfgR;krh« fofo/k izokg)

(2008 PATTERN)

(1) ukVd o dknacjhph rkfRod@lSºkafrd ppkZ-

(2) r`rh;jRuµe- tksfrjko Qq«s-

(3) gkY;k gkY;k nq/kw nsµckckjko eqlˇs-

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) loZ izðukauk leku xq.k vkgsr-

1. (v) [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 100 ðkCnk ai;±r

f«gk % [9]

(1) ukVdkP;k fofo/k O;k[;k f«gk-

(2) ukVdkps ?kVd dks.krs \ rs f«gk-

(3) ukVdkP;k ^ðkksdkafrdk* ;k izdkjkph ekfgrh f«gk-

(4) ukVdkps lafo/kkud ;k ?kVdkph ekfgrh f«gk-

(5) usiF;kr dks.kdks.kR;k ?kVdkapk lekosðk gksrks \

P.T.O.
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(c) [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 100 ðkCnk ai;±r

f«gk % [9]

(1) ^dknacjh* ;k ok≥~e;izdkjkps Lo:i FkksMD;kr lkaxk-

(2) ukVd vkf.k dknacjh ;krh« lkE;Hksn Li"V djk-

(3) ^lkekftd dknacjh* ;k ok≥~e;izdkjkps Lo:i FkksMD;kr f«gk-

(4) ^dFkkud* ;k ?kVdkps dknacjhrh« egRo foðkn djk-

(5) dknacjhpk :ica/k FkksMD;kr lkaxk-

2. (v) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 100 ðkCnk ai;±r

f«gk % [6]

(1) iFkukVÓkph ekfgrh f«gk-

(2) ^uHkksukVÓ* Eg.kts dk; rs lkaxwu R;kps osxˇsi.k lkaxk \

(3) nf«r vkf.k xzkeh.k ;k ukVÓizdkjkaph FkksMD;kr ekfgrh f«gk-

(4) ukVdkrh« ^okrkoj.kfufeZrh* ;k ?kVdkpk ifjp; d:u nÓk-

(c) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 100 ðkCnk ai;±r

f«gk % [6]

(1) dknacjhps ?kVd dks.krs \ rs FkksMD;kr f«gk-

(2) ejkBh dknacjhph tM.k?kM.k FkksMD;kr foðkn djk-

(3) xzkeh.k dknacjhph FkksMD;kr ekfgrh f«gk-

(4) dknacjhP;k ^Hkk"kkðkS«h* ;k ?kVdkpk ifjp; d:u nÓk-
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3. (v) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) ^r`rh; jRu* ukVdkps e/;orhZ lw= FkksMD;kr lkaxk-

(2) ^r`rh; jRu* ;k ukVdkps Hkk"kkfoðks"k Li"V djk-

(3) ^r`rh; jRu* ukVdkrh« xkS.k ik=kapk FkksMD;kr ifjp; d:u |k-

(4) dq.kch vkf.k R;kph ck;dks jk=hP;k ðkkˇsr tk.;kpk fu.kZ; dk

?ksrkr \

(c) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) ^gkY;k gkY;k nq/kw ns* ;k ðkh"kZdkph leiZdrk Li"V djk-

(2) Û;kuckP;k ðkksdkafrdspk ew̌  lw=/kkj Eg.kts ðkksHkkpk ekek gks;-* ;k

fo/kkukpk FkksMD;kr ijkeðkZ ?;k-

(3) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« lkodkjkP;k «ksHkh LoHkkokps nðkZu

dls ?kMrs \ rs lkaxk-

(4) U;kuckP;k thoukph ðkksdkafrdk fpf=r dj.;klkBh «s[kdkus ^okrkoj.kfufeZrh*

;k ?kVdkpk okij dðkkizdkjs ds«k vkgs \

4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 150 ðkCnkar f«gk % [15]

(v) (1) ^r`rh; jRu* ;k ukVdkr va/kJºsps nðk Zu dks.kdks.kR;k izlaxkrwu

?kMrs \ rs lksnkgj.k f«gk-

(2) ^r`rh; jRu* ;k ukVdkrh« ^tksðkh* ps O;fDrfp= js[kkVk-

(c) (1) xzkeh.k ðksrdÚ;kph ðkksdkafrdk ^gkY;k gkY;k nq/kw ns* ;k dknacjhr «s[kdkus

dðkh fpf=r ds«h vkgs \

(2) ^gkY;k gkY;k nq/kw ns* ;k dknacjhph Hkk"kkðkS«h-
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5. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 300 ðkCnkar f«gk % [15]

(v) (1) ,d lkekftd ukVd Eg.kwu ^r`rh; jRu* ;k ukVdkpk ijkeðkZ ?;k-

(2) tksxkbZ vkf.k frpk irh ;kaP;k eukrh« la?k"kZ ^r`rh; jRu* ukVdkP;k

vk/kkjs Li"V djk-

(c) (1) ^gkY;k gkY;k nq/k w n s* ;k dknacjhrh« ^vkulk*ph O;fDrjs[kk

js[kkVk-

(2) ^gkY;k gkY;k nq/kw ns* ;k ckckjko eql š f«f[kr dknacjhrh« fuosnura=kps

foð«s"k.k djk-



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-204
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MARATHI (ejkBh)

foðððððks"kLrj izðððððuif=dk ÿekad&2

[e/;;qxhu ejkBh ok≥~e;kpk bfrgkl % izkjaHk rs 1818 (LFkw«)]

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. iq<h«iSdh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk (izR;sd xVkrh« dks.krsgh

ikp) % [20]

(v) (1) dks.kR;kgh nksu fðk«k«s[kkaph ukos f«gk-

(2) egkuqHkkokaps iapœ".k dks.krs \

(3) lar Kkusðojkauh f«fg«sY;k xzaFkkaph ukos lkaxk-

(4) rkVhps vHkax dks.kh jp«s \

(5) ^f[kzLriqjk.k* ;k xzaFkkps drsZ dks.k \

(6) lar ,dukFkkaP;k nksu Hkk#Mkaph ukos lkaxk-

(7) laresˇÓkrh« larkaph ukos f«gk-

P.T.O.
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(c) (1) lar rqdkjkekaP;k lqizflº fðk";sps uko f«gk-

(2) leFkZ jkenklkaps laiw.kZ uko dk; \

(3) ^ne;arh Lo;aoj* gs Lo;aLoj dkO; dks.kh jp«s \

(4) c[kj ;k ðkCnkph fufeZrh dks.kR;k ðkCnkiklwu >k«h \

(5) lar cfg.kkckb±P;k lqizflº vHkaxkP;k nksu vksˇh f«gk-

(6) iksokMk Eg.kts dk; \

(7) ðkkfgjh dforsph nksu vaxs dks.krh \

2. iq<h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 50 ðkCnkai;±r f«gk % [10]

(v) (1) Vhi f«gkµegnacsps /koˇs-

(2) lar lkorkekˇh ;kaP;k vHkaxok.khpk ifjp; d:u |k-

(c) (1) d#.kk"Vdkps os.k ši.k Li"V djk-

(2) doh Jh/kj iafMr ;kaP;k xzaFkkaps FkksMD;kr o.kZu djk-

3. iq<h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [20]

(v) (1) okjdjh laiznk;krh« Kkunsokps ;ksxnku Li"V djk-

(2) d«kdoh eqDrsðojkaP;k dforsps osxˇsi.k lkaxk-

(c) (1) ne;arh Lo;aoj ;k vk[;ku dkO;kph ekfgrh f«gk-

(2) c[kj ok≥~e;kps Lo:i Li"V djk-

4. iq<h«iSdh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [15]

(1) lar lkfgR;kps ;ksxnku Li"V djk-

(2) ^ukpw dhrZukps jaxh* ;k mDrh}kjs lar ukensokaP;k dk;kZps egRo Li"V

djk-
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5. iq<h«iSdh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [15]

(1) egkuqHko x| ok≥~e;kP;k vk/kkjs egkuqHkko laiznk;kP;k vkpkj/kekZph vkš [k

d:u |k-

(2) ohjjl o ‹kàxkjjl gk ðkkfgjh dkO;kpk vkRek vkgs] ;k fo/kkukph ppkZ

djk-



P.T.O.
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S.Y. B.A. EXAMINATION, 2015

URDU

General Paper  II

(2008 PATTERN)
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S.Y. B.A. EXAMINATION, 2015

URDU

Special Paper  I

[History of Urdu Literature (1901 to 2000)]

(2008  PATTERN)
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N.B. :— (i) All  questions are compulsory.

 (i i ) Figures to the left indicate full marks.
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S.Y. B.A. EXAMINATION, 2015

URDU

Special  Paper II

(Prose  and  Poetry  Text)
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Text Books :— 
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[4701]-218

S.Y. B.A. EXAMINATION, 2015

HINDI (G-2)

fganh % lkekU; 2

(dgkuh] Nk;koknksŸkj dkO; ,oa ys[ku)

(2008 PATTERN)

le; % rhu ?k.Vs iw.kk±d % 80

ikB~;&iqLrdsa % (1) dFkk fogkjµlaik- MkW- lqjs'kdqekj tSu

MkW- oh.kk eupank

(2) dkO; dqlqekoyhµlaik- MkW- lqjs'kdqekj tSu

MkW- Ωpk 'kekZ

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaSA

1. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(1) ^ekuo thou esa Li'kZ ,slk tTck gS] tks e`r Hkkoukvksa dks thou iznku djrk

gSA* ^Li'kZ* dgkuh ds vk/kkj ij Li"V dhft,A

(2) ^ve`rlj vk x;k gS----* dgkuh dh dFkkoLrq ij izdk'k Mkfy,A

2. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(1) ^ckny dks f?kjrs ns[kk gS* dfork dk HkkokFkZ fyf[k;sA

(2) ^ok.kh dh nhurk* dfork esa O;Dr fopkjksa dks vius 'kCnksa esa fyf[k;sA

P.T.O.

Seat

No.
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3. fuEufyf[kr esa ls fdUgha nks vorj.kksa dh llanHkZ O;k[;k dhft, % [16]

(1) ^^,d vdM+ dj dgrk

vius eu dk gd ys ysaxs

vkSj nwljk dgrk

fry Hkj Hkwfe u c°Vus nsaxs

iap cu cSBk gS ?kj esa] QwV Mkyus okyk

esjk ns'k ty jgk] dksbZ ugha cq>kus okykA**

(2) og #dh rks ugha] vk;ha rks vk x;ha]

ij lkFk&lkFk eqj>k x;haA

mldha igys gh efºe v#.kkyh ij

?kqVu dh ,d L;kgh Nk x;hA**

(3) ^^ftudh lsok,° vrqyuh;

ij foKkiu ls jgs nwj

izfrdwy ifjfLFkfr us ftuds

dj fn;s euksjFk pwj&pwj!

µmudks iz.kke!**

(4) ^^fdUrq ugha fQj lq[k tkuk

gj txg xw°trk Fkk ikxy dk xkuk

chp&chp esa] jktk rqe Hkwys Fks

jkuh dk g°ldj lqu iM+rk Fkk rkukA**
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4. (v) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k;s % [8]

(1) ^ikrduk'kue~* dgkuh ds ghjk dk pfj=&fp=.kA

(2) ^cM+s ?kj dh csVh* dgkuh ds 'kh"kZd dh lkFkZdrkA

(3) ^dqekrk u Hkofr* dgkuh dk mÌs';A

(vk) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k;s % [8]

(1) ^izsr dk c;ku* dfork dk vk'k;A

(2) ^rktegy dh Nk;k esa* dfork dk izfrikn~;A

(3) ^gesa u ck°/kksa izkphjksa esa* dfork dk HkkokFkZA

5. (v) fuEufyf[kr ls foKkiu vFkok O;kolkf;d i= dk uewuk rS;kj dhft, % [8]

cktkj esa vk;h ubZ VwFkisLV ds foKkiu dk uewuk rS;kj dhft,A

vFkok

izca/kd] vuwi iqLrd HkaMkj] f'kokth pkSd] lksykiqj ls jktdey izdk'ku] ubZ

fnYyh dks iqLrdksa dh ek°x iwfrZ esa gks jgs foyac dh f'kdk;r djrs gSaA

(vk) fuEufyf[kr esa ls fdUgha pkj okD;ksa dks ldkj.k 'kqn~/k djds fQj ls

fyf[k;s % [8]

(1) egkHkkjr esa vBkjg LoxZ gSaA
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(2) cacbZ ,d cM+k canj gSA

(3) ujsaÊ nkHkksydjth dh gR;k ls gesa cM+k [ksn gqvkA

(4) bZ'oj e`rd ds vkRek dks 'kkafr nsA

(5) Jhœ".k ds vusdksa uke gSaA

(6) dejs dh lkjh f[kM+fd;k° [kksy nksA
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[4701]-218

iz;kstuewyd fganh (oSdfYid)

le; % rhu ?k.Vs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr iz'uksa esa ls fdUgha vkB ds laf{kIr mŸkj fyf[k, % [16]

(1) iz;kstuewyd fganh dk ifjp; nhft,A

(2) iz;kstuewyd fganh dh iz;qfDr dh ladYiuk vius 'kCnksa esa fyf[k;sA

(3) lkekU; O;ogkj dh fganh ij izdk'k Mkfy,A

(4) O;kolkf;d i=kpkj dk egRo le>kb;sA

(5) dk;kZy;hu fganh dk Lo:i Li"V dhft,A

(6) tulapkj ek/;e dh mi;ksfxrk vius 'kCnksa esa le>kb;sA

(7) Qhpj ys[ku dk Lo:i Li"V dhft,A

(8) foKkiu dk eq[; mÌs'; crkb;sA

(9) nsoukxjh dEI;wVj dh dk;Zin~/kfr ij izdk'k Mkfy,A

(10) i=dkfjrk ls lacaf/kr ys[ku ij izdk'k Mkfy,A
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2. (v) fuEufyf[kr 'kCn&;qXeksa esa ls fdUgha pkj ds vFkZ crkdj okD; eas iz;ksx

dhft, % [8]

(1) vFkdµvdFk

(2) fpjµphj

(3) HkouµHkqou

(4) fdykµdhyk

(5) lnsgµlansg

(6) vfuyµvuy

(vk) fuEufyf[kr esa ls fdlh ,d ?kVuk@izlax dh laoknkRed vfHkO;fDr

fyf[k, % [8]

(1) xq# ls lk{kkRdkj

(2) thou dk dksbZ lq[kn {k.kA

3. (v) fuEufyf[kr esa ls fdlh ,d ij vkdk'kok.kh ds fy, foKkiu dk uewuk rS;kj

dhft, % [8]

(i) lkM+h dh nqdku dk foKkiuA

(ii) ek#rh dkj dk foKkiuA

(vk) fuEufyf[kr esa ls fdlh ,d ij nwjn'kZu ds fy, foKkiu dk uewuk rS;kj

dhft, % [8]

(i) lkcqu dk foKkiuA

(ii) 'kgj esa yxh fp=dyk izn'kZuhA
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4. fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh; iz'uksa ds mŸkj fyf[k, % [16]

(1) laoknnkrk dh vgZrk dkSu&dkSulh gSa \

(2) bZ&dkWelZ fdls dgrs gSa \

(3) ys[ku dkS'ky ij izdk'k Mkfy,A

(4) foKkiu dk vFkZ vkSj ifjHkk"kk le>kb;sA

(5) foKkiu ds iz;kstu ij izdk'k Mkfy,A

5. fuEufyf[kr ik°p esa ls fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(1) nsoukxjh dEI;wVj dk lkekU; ifjp;_

(2) bZ&esy

(3) foKkiu ds izdkj

(4) foKkiu % eqfÊr ek/;e

(5) fganh ekud orZuhA
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[4701]-219

S.Y. B.A. EXAMINATION, 2015

fganh % fo'ks"k&1

Hindi : Special— 1

(dkO;'kkL=)

(2008 PATTERN)

le; % rhu ?k.Vs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaSA

1. fuEufyf[kr esa ls fdUgha nl iz'uksa ds mŸkj la{ksi esa fyf[k, % [20]

(1) dkO; dh dksbZ ,d laLœr dh ifjHkk"kk fyf[k;sA

(2) O;atuk 'kCn'kfDr fdls dgrs gSa \

(3) izca/k dkO; ds izeq[k Hksn crkb;sA

(4) eqDrd dkO; fdls dgrs gSa \

(5) jl ds Hksn crkb;sA

(6) ,dkadh ds rRo fyf[k;sA

(7) dgkuh dh ifjHkk"kk fyf[k;sA

P.T.O.
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No.
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(8) jl ds vax fyf[k;sA

(9) ukV~; vfHku; ds izdkj crkb;sA

(10) ladyu=; fdls dgrs gSa \

(11) Nan ds Hksn fyf[k;sA

(12) dkO; ds gsrq crkb;sA

(13) vkykspd ds xq.k fyf[k;sA

2. fuEufyf[kr esa ls fdUgha nks Nanksa ds y{k.k mnkgj.k lfgr fyf[k;s % [10]

(1) nksgk

(2) gfjxhfrdk

(3) eaÊkÿkark

(4) f'k[kfj.kh

3. fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj fyf[k;s % [20]

(1) laLej.k dk Lo:i fo'kn dhft,A

(2) js[kkfp= dk Lo:i Li"V dhft,A

(3) ‹k`axkj jl dk lksnkgj.k ifjp; nhft,A

(4) ukVd esa vfHku; dk egRo crkb;sA

(5) izeq[k dkO;gsrq ^O;qRifŸk* dk ifjp; nhft,A

(6) 'kCn'kfDr dk ifjp; nhft,A
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4. fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mŸkj foLrkj ls fyf[k, % [30]

(1) laLœr rFkk vaxzsth ds fon~okuksa n~okjk nh xbZ dkO; dh ifjHkk"kkvksa dks Li"V

dhft,A

(2) ukVd ds izdkjksa dk mYys[k djrs gq, ukVd vkSj ,dkadh dh rqyuk dhft,A

(3) dkO; ds dkj.k (gsrq) dk ifjp; nhft,A

(4) miU;kl ds rRoksa dh foLrkj ls ppkZ dhft,A

(5) vkykspuk dk Lo:i crkrs gq, vkykspd ds xq.k fyf[k;sA
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Seat

No. [4701]-220

S.Y. B.A. EXAMINATION, 2015

HINDI (fganh)

Special Paper II

(ukVd] miU;kl vkSj e/;;qxhu dkO;)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

  ikBÓiqLrdsa :— (i) ^cdjh*µlosZ'ojn;ky lDlsukA

(ii) ^nkSM+*µeerk dkfy;kA

(iii) ^dkO;dqat* (e/;;qxhu fganh dkO;)

µlaik- MkW- ts- vkj- cksjlsA

    µMkW- Ωpk 'kekZA

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj lfoLrkj fyf[k, % [16]

(1) ^^ ^nkSM+* miU;kl esa miHkksDrkokn vkSj HkweaMyhdj.k ds ek;ktky esa Q°ldj

mUufr dh nkSM+ esa 'kkfey orZeku ih<+h dk nnZukd o.kZu gSA** Li"V dhft,A

(2) miU;kl fo/kk ds rRoksa ds vk/kkj ij ^nkSM+* miU;kl dh leh{kk dhft,A

2. fuEufyf[kr iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

lwjnkl ds ^Hkzejxhr izlax* esa of.kZr xksfi;ksa dk ifjp; nhft,A

P.T.O.
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vFkok

fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, %

(1) dchj dh HkfDr iºfr

(2) ehjkckbZ dk fo;ksx o.kZu

(3) fcgkjh dk la;ksx ‹k`axkj o.kZu

(4) tk;lh dk izseHkko fp=.kA

3. (v) fuEufyf[kr vorj.kksa esa ls fdlh ,d dh llanHkZ O;k[;k dhft, % [8]

(1) ^^ek° tc ls eSaus gks'k l°Hkkyk] rqEgsa Ldwy vkSj jlksbZ ds chp nkSM+rh

gh ns[kkA eq>s ;kn gS tc eSa lksdj mBrk rqe jlksbZ esa gksrha vkSj

tc eSa lksus tkrk] rc Hkh rqe jlksbZ esa gksrhaA rqEgsa pkfg, fd LVSyk

ds fy, thou HkÎh u cusA tks rqeus lgk] og D;ksa lgs \**

(2) ^^og lc fQtwy dh Hkkoqdrk Fkh ek°A rqe bl ikuh dh ,d cw°n

vxj ekbÿksLdksi ds uhps ns[k yks rks dHkh u fi;ksA**

(vk) fuEufyf[kr vorj.k dh llanHkZ O;k[;k dhft, % [8]

ekbZ jh eSa rks fy;ks xksfoUnk eksyA

dksbZ dgS Nkus] dksbZ dgS pqids] fy;ks jh ctUrk <ksy˚

dksbZ dgS eq°g/kks] dksbZ dgs lq°g/kks] fy;ks jh rjktw rksyA

dksbZ dgS dkjks] dksbZ dgs xksjks] fy;ks jh veksyd eksy˚

;kgh dw° lc tk.kr gSa] fy;ks jh vk°[kh [ksyA

ehjk° dw° izHkq njl.k nhU;kS iwjc tue dkS dkSy˚

vFkok

esjh Hko ck/kk gjkS jk/kk ukxfj lksbA

tk rudh >k°b ijS L;keq gfjr&nqfr gksbZ˚
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4. fuEufyf[kr iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

^cdjh* ukVd dh izrhdkRedrk fo'kn dhft,A

vFkok

fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, %

(1) ^cdjh* ukVd dh izklafxdrk

(2) ^cdjh* ukVd dh vfHkus;rk

(3) ^cdjh* ukVd esa ns'kdky okrkoj.kA

5. fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(1) ^nkSM+* miU;kl dk ifjos'k

(2) ^nkSM+* miU;kl dk l?ku

(3) ^nkSM+* miU;kl esa fpf=r orZeku ih<+hA
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PERSIAN

General  Paper  II

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

1. Explain the peculiarities of Ghazals of Hafiz Shirazi. [14]

Or

Narrate the life and literary works of Maulana Room.

2. (A) Write in detail about the importance of ‘Gulistaan’ in Persian

literature. [15]

Or

(B) Husain Waiz Kashifi has a great contribution in Persian

literature. Comment. [15]

Or

Evaluate the book ‘Akhlaque Mohsini’ as a literary treasure.

P.T.O.

 Seat
  No.



3. Reproduce in your own words in Persian (any two) : [12]

4. (A) Translate the following passages in English, Urdu or Marathi

(any three) : [12]
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(B) Explain in Persian or translate and explain in English or

Urdu or Marathi (any four) : [12]
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Seat

No. [4701]-222

S.Y. B.A. EXAMINATION, 2015

SANSKRIT (laLœr) (G-II)

Raghuvamsha-Cantos V & VI (j?kqoaðððððk lxZ V o VI)

Bhagvadgita Chapters III to VI (Hkxon~xhrk v/;k; III rs VI)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. (A) [kk«h«iSdh dks.kR;kgh nksu ð«ksdkaps ejkBhr fdok baxzthr vuqokn

djk % [8]

Translate into Marathi or English any two of the following

verses :

(i) bRFka iz;qT;kfðk"keXutUek jkKs izrh;k; xqjks% ldk'ke~A

jktk∑fi «sHks lqrekðkq rLeknk«ksdedkZfno tho«ksd%˚

(ii) dkea u`ik% lUrq lgÚðkks∑U;s jktUorhekgqjusu Hkwfee~A

u{k=rkjkxzgladq«kfi T;ksfr"erh pUÊelSo jkf=%˚

(iii) u`ia rekorZeuksKkukfHk% lk O;R;xknU;o/kwHkZfof=A

egh/kja ekxZoðkknqisra Úksrksogk lkxjxkfeuho˚

(B) [kk«h«iSdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk % [8]

Explain with reference to the context any two of the

following :

(i) rkesdrLro fcHkZfrZ xq#foZfuÊLrL;k Hkokuij/kq;Zinko«EchA

(ii) LQqjRizHkke.M«e/;ofrZ dkUra oiqO;ksZepja izisnsA

(iii) jRukuqfoºk.kZoes[k«k;k fnðk% liRuh Hko nf{k.kL;k%A

P.T.O.
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2. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj f«gk % [16]

Write an essay type answer to any one of the following :

(i) j?kqoaðkkP;k ikpO;k lxkZps foospd jlxzg.k djk-

Critically appreciate the 5th canto of the Raghuvamsha.

(ii) lgkO;k lxkZr vk«s[;h fofo/kjktkaph o.kZus f«gk-

Discriptions of kings according to 6th canto.

3. [kk«h«iSdh dks.kR;kgh nksu ð«ksd lfoLrj Li"V djk % [16]

Explain in detail any two of the following :

(i) vije~ Hkor% tUe ije~ tUe fooLor%A

dFke ,rr~ fotkuh;ke~ Roe~ vknkS izksDroku~ bfr˚

(ii) dk;su eulk cqºÓk dso«S% bfUÊ;S% vfiA

;ksfxu% deZ dqoZfUr l≥~xe~ R;DRok vkReðkqº;s̊

(iii) ;Fkk nhi% fuokrLFk% u b≥~xrs lk miek Le`rkA

;ksfxu% ;rfpŸkL; ;q¥tr% ;ksxe~ vkReu%˚

4. (i) Hkxon~xhrsrh« pkSF;k v/;k;krh« deZ;ksx o laU;kl Li"V djk- [16]

Explain deZ;ksx and laU;kl from fourth Adhyaya in Bhagvadgita.

fdaok

(Or)

(ii) Hkxon~xhrsP;k frlÚ;k v/;k;kpk lkjkaðk f«gk-

Summarise the third Adhyaya of the Bhagvadgita.



[4701]-222 3 P.T.O.

5. ^v* vkf.k ^c* foHkkxkrh« izR;sdh dks.kR;kgh ,dkoj laf{kIr Vhi f«gk % [16]

Write short notes on any one from each section—Section ‘A’

and ‘B’ :

^v* foHkkx

(Section ‘A’)

(i) j?kqoaðkpk lgkO;k lxkZr vk«sY;k fofo/k miekaps o.kZu djk-

Explain miek in the 6th canto of the Raghuvamsha.

(ii) j?kqoaðkP;k ikpO;k lxkZrh« fiz;aonxa/koZ ,d vn~Hkqr izlax-

vn~Hkwr izlax of fiz;aonxa/koZ in 5th canto in j?kqoaðke~.

^c* foHkkx

(Section ‘B’)

(i) ;ksxHkz"V

Yogabhrashta

(ii) ;Kpÿ

Concept of ;Kpÿ
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No. [4701]-223

S.Y. B.A. EXAMINATION, 2015

laLœr (SANSKRIT) (S-I)

dkO;'kkL=foe'kZ] o`Ÿkfopkj o dkSfVyh; vFkZ'kkL= (vf/kdj.k 1] 6)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

lwpuk%µ (i) lo Z iz'u vfuok;Z vkgsr-

(ii) mtohdMhy vad iw.kZ xq.k n'kZforkr-

1. (A) Explain into English or Marathi any two of the following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr Li"Vhdj.k djk %

(i) l|% ijfuo`ZŸk;s dkUrklaferr;ksins'k;qtsA

(ii) vrkn`f'k xq.khHkwrO;≥~X;a O;≥~X;s rq e/;ee~A

(iii) l eq[;ks∑FkZLr= eq[;ks O;kikjks∑L;kfHk/kksP;rsA

P.T.O.
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(B) Explain with Sanskrit definition and Sanskrit illustration any two

of the following Figures of Speech. [8]

laLœre/khy y{k.k vkf.k mnkgj.k lkaxwu iq<hyiSdh dks.kR;kgh nksu vyadkjkaps

Li"Vhdj.k djk %

(i) miek

(ii) O;frjsd%

(iii) fo'ks"kksf‰%

(iv) vlaxfr%A

2. Explain in detail the eaxykpj.k of dkO;izdk'k- [16]

dkO;izdk'kkps eaxykpj.k Li"V djk-

Or

(fdaok)

Explain the six types of y{k.kk-

"kM~fo/kk y{k.kk Li"V djk-
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3. (A) Explain with reference to the context any two of the following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps lalnHkZ Li"Vhdj.k djk %

(i) lk≥~[;a ;ksxks yksdk;ra psR;kUohf{kdhA

(ii) fÿ;k fg ÊO;a fou;fr ukÊO;e~A

(iii) izR;k[;kus 'kqfp% bfr /keksZi/kkA

(B) Explain with Sanskrit definition and Sanskrit illustration any two

of the following : [8]

laLœre/khy y{k.k vkf.k mnkgj.k lkaxwu iq<hyiSdh dks.kR;kgh nksu o`Ÿkkaps Li"Vhdj.k

djk %

(i) bUÊotzk

(ii) 'kkfyuh

(iii) f'k[kfj.kh

(iv) 'kknwZyfoÿhfMre~A

4. Write an essay type answer of any one of the following : [16]

iq<hyiSdh dks.kR;kgh ,dk fo"k;kps lfoLrj mŸkj fygk %

(i) bfUÊ;t;% r= jktf"kZo`Ÿke~

(ii) eU=kf/kdkj%A
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5. (A) Write a critical paragraph of any one of the following : [8]

iq<hyiSdh dks.kR;kgh ,dkoj foospd ifjPNsn fygk %

(i) vkRejf{krde~

(ii) nwrizf.kf/k%A

(B) Write a critical paragraph of any one of the following : [8]

iq<hyiSdh dks.kR;kgh ,dkoj foospd ifjPNsn fygk %

(i) O;¥tuk

(ii) f=fo/kksins'kA
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S.Y. B.A. EXAMINATION, 2015

SANSKRIT

(Special Paper II)

osnlkSjHk

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) loZ iz'u vfuok;Z vkgsr-

All questions are compulsory.

(ii) mtohdMhy vad iw.kZ xq.k n'kZforkr-

Figures to the right indicate full marks.

1. (A) [kkyhyiSdh dks.kR;kgh nksgksapk ejkBhr fdaok baxzthr vko';d Vhikalg vuqokn

djk % [6]

Translate any two of the following with necessary notes into

Marathi or English :

(i) ra ;Ka cfgZf"k izkS{ku~ iq#"ka tkrexzr% A

rsu nsok v;tUr lk/;k Ω"k;ç ;s ˚

P.T.O.
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(ii) ;L; ozrs i`fFkoh u=ehfr ;L; ozrs 'kQoTtHkqZjhfr A

;L; ozr vks"k/khfoZÇ:ik% l u% itZU; efg 'keZ ;PN ˚

(iii) ;qoka ujk i';ekukl vkI; izkpk xO;Ur% i`Fkqi'kZoks ;;q% A

nklk p o=̀k ‚rek;kZf.k p lqnklfeUÊko#.kkolkore~ ˚

(B) [kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk % [10]

Write an essay type answer to any one of the following :

(i) ljek vkf.k if.k ;kaP;krhy laoknkps jlxzg.k djk-

Appreciate a dialogue between ljek and if.k-

(ii) ΩXosnkrhy m"kl~ nsork-

The deity m"kl~ in the ΩXosn-

2. (A) [kkyhyiSdh dks.kR;kgh nksgksaspk ejkBhr fdaok baxzthr vko';d Vhikalg vuqokn

djk % [6]

Translate any two of the following with necessary notes into

Marathi or English :

(i) bgSo /kzqok izfr fr"B 'kkysÇkorh xkserh lwu`rkorh A

≈tZLorh ?k̀rorh i;LoR;qPN™;Lo egrs lkSHkxk; ˚
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(ii) bgSokfHk fo ruwHks vk=hZ bo T;;k A

okpLifrfuZ ;PNrq e∏;sokLrq ef; Jqre~ ˚

(iii) ;s f="kIrk% ifj;fUr fo'ok :ikf.k fcHkzr% A

okpLifrcZyk rs"kk rUoks v| n/kkrq es ˚

(B) [kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk % [10]

Write an essay type answer to any one of the following :

(i) es/kktuulwDre~ (vFkoZosns 1-1) A

(ii) vFkoZosnkps vUrxZr Lo:i-

Internal nature of the vFkoZosn-

3. (A) [kkyhyiSdh dks.kR;kgh ,dkps llUnHkZ Li"Vhdj.k djk % [6]

Explain with reference to the context any one of the following :

(i) ;RiÄkoŸkh;a tqgksfr A

(ii) otzks oS ;wi% A

(B) [kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk % [10]

Write an essay type answer to any one of the following :

(i) lkseizog.ke~ (,srjs; czk„.ke~) A

(ii) euqeRL;dFkk ('kriFk czk„.ke~) A
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4. (A) [kkyhyiSdh dks.kR;kgh ,dkps llUnHkZ Li"Vhdj.k djk %  [6]

Explain with reference to the context any one of the following :

(i) l vkRek rŸoefl Çrdsrks A

(ii) rsu R;Drsu Hkq¥thFkk ek x`/k% dL;fLoºue~ A

(B) [kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk %  [10]

Write an essay type answer to any one of the following :

(i) ;eufpdsrlks% laokn% A

(ii) Hk`xqo#.kks% laokn% rSfŸkjh;ksifu"kfn A

5. (A) [kkyhyiSdh dks.kR;kgh ,dkoj foospd ifjPNsn fygk % [6]

Write a critical note on any one of the following :

(i) iq#"klwDre~

(ii) bUÊnsork A

(B) [kkyhyiSdh dks.kR;kgh nksgksaoj foospd ifjPNsn fygk %  [10]

Write critical notes on any two of the following :

(i) vFkoZosns L=hdekZf.k A

(ii) U;xzks/kn`"VkUr

The U;xzks/k analogy

(iii) czk„.kxzaFkkaph Hkk"kk'kSyh-

Language style of the texts of czk„.ks.
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S.Y. B.A. EXAMINATION, 2015

ARDHAMAGADHI (Prakrit)

(General II)
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Texts : (i) vxMnŸkeqf.kvŸkdgk (Vashudev Hindee)

(ii) vHk;D[kk.ka of vEcnso (Ambdev Virachit)

Time : Three Hours Maximum Marks : 80

1. Translate into English or Marathi any two from the following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(i) lk ; gÍ µ rqÍe.klk Hk.kfr µ gk ! gk ! grks Hkk;/kk;M fŸk A rrks

vga fuÌk (Ugnk) b≈.k ra ok šlq ?ksŸkq.k Hk.kkfe µ nkfl A dks ea ?kk,b

fŸk A rrks lk ee ik,lq ifM;k ^lj.kkx;k fe* fŸk Hk.kfr A efgyklgko

Hk; fo"Hkdk e, vklkfl;k ek Hkkfg A fŸk A rrks ra ?ksŸkw.k jk;dqya

xrks A {kOoa p j..kks tgk oŸka ifjdfg;a A

(ii) rrks lks Hk.kb µ iqr ! vga /k.kiqatrks uke pksjks] u ds.kb Nfy;&

iqOoks lkgq rqea fl lqiqfjlks ,Ddks ek≈.k tkrks fŸk A iq.kk s ; es

layob µ ^oPN ! ,;Ll iOo;Ll iqfjPNfeYys nks.ga urh.ka eT> nslHkk,

vfRFk egbegkfy;k iRFkjflyk] rRFk Hkwfe?kja rRFk e;k lqIiHkw;a /k.ka

fo<Ÿka A
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(iii) rh, Hkf.k;a µ ,l vfXxa ?ksŸkw.k ,fgfr] ee ; gRFks vflyfÍa nkfgb]

rrks vga rLl vfXax tkfyarLl lhla fNankfe fŸk A rvks vEg Hkkm.kk

vCHkqox;a A vkxvks ; lks vfXax ?ksŸkw.k A Hk.kb ; µ fda nsomys mTtksma \

fr A rŸkks rh, yfo;a µ rqg gRFkx;Ll vfxLl ,l mTtksm fŸk A rrks

rs.k yfo;k µ ,;a rko vfldÍh fx.glq fr A

2. Explain with reference to the context any two of the following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps lanHkkZlg Li"Vhdj.k djk %

(i) fda bg fol, vkslgh ufRFk \ osTtks ok ufRFk \ fŸk A

(ii) ^vgks ! lkgla efgyk.ka* fŸk A

(iii) ukga ck.ks.k gvks] gvks fl ck.ks.k exjdsmLl A

3. Describe the heroic deeds of vxMnŸk on his way to mTtsuh- [16]

mTtS.khyk tkrkuk vxMnŸkkus dsysY;k ijkÿeh œR;kps o.kZu djk-

Or

(fdaok)

Give the character-sketch of vxMnŸk-

vxMnŸkkps O;fDrfp=.k djk-

4. Write a critical paragraph on any one of the following : [8]

iq<hyiSdh dks.kR;kgh ,dk fo"k;koj foospd ifjPNsn fygk %

(i) lqHkkf"kr*s in the ^vxMnŸkeqf.kvŸkdgk*-

^vxMnŸkeqf.kvŸkdgk*e/khy lqHkkf"krs-

(ii) vk.kandgk-
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5. Translate any two of the following stanzas into English or Marathi : [8]

iq<h«iSdh dks.kR;kgh nksu 'yksdkaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(i) ,oa oqŸkk fu;cqfºxfOo;k fo ; mok;eyHkark A

rs Nqgkf"kokl lksfl;xrk nh.kŸke.kqiŸkk ˚

lsf.k;dqejs.k iq.kks ?ksrqa ixyardylfcanqtya A

?kqf.kMa djaM, eks;xk.k pwjh, Hkks;fo;k ˚

(ii) rks rh, r.k;o;.kkvks fojbvks ilRFkvks oslks A

rk vkxarq u;js iosfl;k eafrfu;js.k ˚

jk;k fo v.kqCHkMosl Hkwfl;a i.kbf.ka ijyks,Ma A

rks rh, vXxefglhi;a i;PNb ifgV~Be.kks ˚

(iii) gksfg fu;es.k ufjan ,RFk fnV~Bfolks egklIiks A

rfÌV~Bh, fnV~Bks ,lks Hkhlhdvks gksTt ˚

bf.ag iq.k vMoh, ijEeqga NksfMma eq;g Fkb;a A

rks rg d, djkyks uhgfjvks fnV~BfollIiks ˚

6. Explain with reference to the context any two of the following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(i) js js ! tks ta fx.gb fnUua ra rLl lOoa fi A

(ii) rkr ! rqg ik;imeIilk;vks HkT> dqlya* fr A

(iii) vkbllq nso ea >fŸk ts.k caf/k; rek.ksfe ga A
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7. Narrate the episode of mn;u and oklonŸkk- [16]

mn;u vkf.k oklonŸkk ;kaP;k mik[;kukps o.kZu djk-

Or

(fdaok)

Describe the society reflected in the vHk;D[kk.k-

^vHk;D[kk.ka* e/;s izfrfcafcr >kysY;k lektkps o.kZu djk-

8. Write critical paragraphs on any one of the following : [8]

iq<hyiSdh dks.kR;kgh ,dkoj foospd ifjPNsn fygk %

(i) The snake-episode.

liZizlax-

(ii) The fire-incident in mTtf;uh-

mTtf;uhrhy vkxhpk izlax-
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S.Y. B.A. EXAMINATION, 2015

PALI (General-II)

(Pali Kusumanjali)

[Chatuttho Bhago (9 to 14 & 18 to 23)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. (A) Translate any two of the following passages into English or

Marathi : [12]

[kk«h«iSdh dks.kR;kgh nksgksaps ejkBhr fdaok baxzthr Hkk"kkarj djk %

(a) ,oa es lqra A ,d le;a Hkxok jktxgs fogjfr oš qous d«UndfuokisA

vFk [kks lEcgq«k tkfrHkwfedk fHkD[kw tkfrHkwfe;a oLla oqFkk ;su Hkxok

rsuqil¡fealq HkxoUra vfHkoknsRok ,deUra fulhfnalq A ,deUra fuflUus

[kks rs fHkD[kw Hkxok ,rnokspµdks uq [kks] fHkD[kos] tkfrHkwfe;a tkfrHkwedkua

fHkD[kwua lczEgpkjhua ,oa lEHkkforks&vŸkuk p vfIiPNks vfIiPNdFka p

P.T.O.
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fHkD[kwua dŸkk] vŸkuk p lUrqÎks lUrqfÎdFkap fHkD[kwua dŸkk] vŸkuk p

ifofoŸkks ifoosddFka p fHkD[kwua dŸkk] vŸkuk p vlalÎks vlalXxdFka

p fHkD[kwua dŸkk A

(b) ,oa es lqŸka A ,da le;a Hkxok dksl«slq pkfjda pjekuks egrk fHkD[kql–su

lfºa iÄersfg fHkD[kwlrsfg ;su eulkdVa uke dksl«kua czkEg.kxkeks rnolfjA

r= lqna Hkxok eulkdVs fogjfr mŸkjsu eulkdVLl vfpjofr;k ufn;k

rhjs vEcous A rsu [kks iu le;su lEcgq«k vfHk¥¥kkrk czkEg.kegklk«k

eulkdVs ifVolfUr] ls∏;fFkna p¡h czkEg.kks] rk#D[kks czkEg.kks] iksD[kjlfr

czkEg.kks] tk.kqlksf.k czkEg.kks] rksns∏;ks czkEg.kks] v¥¥ks p vfHk¥¥kkrk vfHk¥¥kkrk

czkEg.kegklk«k A

(c) dq«widfHkD[kqoRFkq psRFk oŸkCca A dq«widks fdj fHkD[kw Hkqf¥trqdkeks xsga

ifoflRok fulhna A ra fnLok vnkrqdkek ?kj.kh] r.nq«k uRFkh fr Hk.kUrh

r.nq«s vkgfjrqdkek fo; ifVfoLld ?kja xrk A fHkD[kq fi vUrksCHka

ifoflRok vk«ksdsUrks dokVdks.ks mPNqa] Hkktus xqˇa] fiVds «ks.kePNQk«s]

dqfEHk;a r.Mq«s] ?kVs ?kra fnLok fuD[kfeRok fulhfn A ?kj.kh r.Mq«s

uk«RFka fr vkxrk A fHkD[kq mikflds] vTt fHkD[kk u lEifTtLlrh

fr ifVdPpso fufeŸka vÌla fr vkg A



[4701]-226 3 P.T.O.

(B) Translate any two of the following passages into English or

Marathi : [12]

[kk«h«iSdh dks.kR;kgh nksgk saps ejkBhr fdaok baxzthr Hkk"kkarj djk %

(a) l.gxU/kdlqo..kef.Mra lksHkrs lqosf.kfg v«¡ra A

ra tjk; [k«fr flja dra lPpokfnopua vu¥¥kFkk ˚

fpŸkdkjlqdrk o «sf[krk lksHkrs lqHkeqdk iwjs ee A

rk tjk; o«hfg i«fEcrk lPpokfnopua vu¥¥Fkk ˚

HkLljk lq#fpjk ;Fkk ef.k usŸkgslqefHkuh«ek;rk A

rs tjk;fHkgrk u lksHkrs lPpokfnopua vu¥¥kFkk ˚

(b) ;kgq jÎs leqDdÎks j¥¥kks v¬Ll iºxw A

[kkTt /kEeslq mDdÎks] lks.kks nqD[kLl ikjxw ˚

iÄ fNUns iÄ tgs iÄ pqŸkfj Hkko;s A

iÄl¬kfrxks fHkD[kq vks?kfr..kks fr oqPpfr ˚

mUuˇLl ieŸkLl ckfgjklLl fHkD[kquks A

lh«a lekf/k i¥¥kk p ikfjiwfj u xPNfr ˚
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(c) rLl rs ufRFk HkhrŸka fHk∏;ks o..kks ilhnfr A

dLek u ifjnsosfl ,o:is egCHk;s A

ufRFk psfrflda nqD[ka vuisD[kLl xkef.k A

vfrDdUrk Hk;k lCcs [kh.kla;kstuLl os ˚

[kh.kk; HkousfŸk;k fnÎs /kEes ;FkkrFks A

u Hk;a ej.ks gksfr HkkjfuD[ksius ;Fkk ˚

2. (A) Explain with reference to the context (any two) : [12]

dks.kR;kgh nksgksaps lanHkkZlfgr Li"Vhdj.k djk %

(1) Hkxofr uks] vkoqlks] czEgpfj;a oqLlrh fr \

(2) ;Fkk dFka iu rqEgs] vuq#ºk] vIieŸkk vkrkfiuks ifrgŸkk fogjFkk fr \

(3) vifjXxgks Hkks xksrea A losjfpŸkks ok vosjfpŸkks ok \

(B) Explain with reference to the context (any two) : [12]

dks.kR;kgh nksgksaps lanHkkZlfgr Li"Vhdj.k djk %

(1) ;kgq jÎs leqDdÎks j¥¥kks v¬Ll iºxw A

LokTt /kEeslq mDdÎks] lks.kks nqD[kLl ikjxw ˚
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(2) iDdkfeLla p uk«rks dks/k uk«k; oPNfr A

cU/krh bfRFk:isu le.ks /kEethfouks ˚

(3) bnkuha rs bea iqŸka n.Msu Nqfjdk; ok ˚

Hkwfe;a ok fulqEHks∏;a iqŸklksdk u xPNfl ˚

3. (A) Give critical notes on any two : [10]

dks.kR;kgh nksgksaoj foospd Vhi f«gk %

(1) pwˇek«q¡Fksj

(2) efT>efudk;

(3) oklsÎks ek.koks-

(B) Give critical notes on any two : [10]

dks.kR;kgh nksgksaoj foospd Vhi f«gk %

(1) osLlUrj cksf/klŸo

(2) ikjferk

(3) lks.kdksfˇfolRFksj-
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4. Answer in detail any one of the following : [12]

[kk«h«iSdh dks.kR;kgh ,dk iz'ukps lfoLrj mŸkj f«gk %

pwˇxksfl¬lqŸka ;k ikBkps jlxzg.k djk-

Or

(fdaok)

pkikFksjhxkFkk ;k dforsps jlxzg.k djk-
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1. Translate into English or Urdu or Marathi any two of the following

passages : [16]

P.T.O.

 Seat

  No.
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2. (A) Explain with reference to the context any fou r  of the

following : [8]

P.T.O. 3 [4701]-227



(B) Summarize any two of the following : [8]

3. Translate and explain any two of the following Surahs : [16]

4. Define and illustrate any two of the following topics : [16]
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5. (A) Translate into English the following passage : [8]

(B) Translate into ‘‘Arabic’’ the following sentences : [8]

(1) Don’t open the door.

(2) Don’t play in the street.

(3) Su-ad don’t go to her house.

(4) Samiya, don’t sit on that chair.

(5) Ahmad don’t read my letter.

(6) The teacher has written the lesson on the blackboard.

5 [4701]-227



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-228

S.Y. B.A. EXAMINATION, 2015

ECONOMICS

(G-2 : Banking and Co-operation in India)

General Paper II

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the evolution of Indian Banking.

(2) State the principle of Banking.

(3) State the principle of co-operation.

(4) Explain the default of PACS.

2. Write notes in 100 words each (any four) : [20]

(1) Types of cheque

(2) Types of mortgage

(3) NABARD

P.T.O.
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(4) Importance of co-operation

(5) Role of Agricultural Marketing

(6) Housing co-operatives.

3. Answer he following questions in 200 to 250 words each (any

three) : [30]

(1) Explain the achievements of Nationalised Bank.

(2) Explain the quantitative credit control.

(3) Explain the history of Indian co-operative movement.

(4) Explain the effect of globalization on co-operative

banking.

(5) Explain the consumer co-operatives progress and

problems.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the problems of co-operative agricultural marketing and

suggest its measures.

(2) Explain the instrument of modern technology in banking.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad xq.k nðkZforkr-

(iii) tsFks vkoð;d vkgs rsFks vkœfr dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) Hkkjrkrh« c°d O;olk;kph mRÿkarh Li"V djk-

(2) c°d O;olk;kph rRos lkaxk-

(3) lgdkjkph rRos lkaxk-

(4) izkFkfed œ"kh irlaLFkkP;k mf.kok lkaxk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) %  [20]

(1) /kuknsðkkps izdkj

(2) xgk.kkps izdkj

(3) ukckMZ

(4) lgdkjkps egRo

(5) œ"kh foi.kukph Hkwfedk

(6) lgdkjh x`gm|ksx laLFkk-

3. [kk«h«iSdh izðukaph 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(1) O;kikjh c°dkaP;k jk"V™h;dj.kkps ;ðk Li"V djk-

(2) la[;kRed irfu;a=.kkph lk/kus lkaxk-

(3) Hkkjrh; lgdkjh pˇoˇhpk bfrgkl Li"V djk-



[4701]-228 4

(4) tkxfrdhdj.kkps lgdkjh c°dk ojh« ifj.kke lkaxk-

(5) xzkgd lgdkjh laLFkkph izxrh o leL;k lkaxk-

4. [kk«h«iSdh izðukaph 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) lgdkjh œ"kh foi.kukP;k leL;k lkaxwu «k lksMfo.;klkBh mik;;kstuk

lqpok-

(2) c°d O;olk;krh« vk/kqfud ra=Kkukph lk/kus lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-229

S.Y. B.A. EXAMINATION, 2015

ECONOMICS

Special Paper I

(Micro-Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the importance of Micro-Economics.

(2) Explain the determinant of supply.

(3) State the Pigovian welfare economics.

(4) Explain the collective bargaining and wages.

2. Write notes in 100 words each (any four) : [20]

(1) Tools of Economic Analysis

(2) Law of Demand

P.T.O.
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(3) Production Possibility Curve

(4) Oligopoly

(5) Innovation theory of Profit

(6) Quasi rent.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) State the limitations of Micro-Economics.

(2) Explain the types of elasticity of supply.

(3) Explain the characteristics of monopoly.

(4) Explain the Lonable Fund theory of Interest.

(5) State the concept of economics welfare and explain the social

welfare function.

4. Answer any one of the following questions in 500 words : [20]

(1) What is elasticity of price ? Explain the types of price

elasticity.

(2) What is monopolistic competition ? Explain the short-run

equilibrium of the firm in monopolistic competition.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) lq{e vFkZðkkL=kps egRo lkaxk-

(2) iqjoBÓkps fu/kkZjd ?kVd Li"V djk-

(3) fiaxq ;kaps dY;k.kkps vFkZðkkL= lkaxk-

(4) lkeqfgd lkSnkðkDrh vkf.k osru Li"V djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(1) vkfFkZd foð«s"kukph lk/kus

(2) iqjoBÓkpk fu;e

(3) mRiknu ðkD;rk oÿ

(4) vYifoÿsrkf/kdkj

(5) u∂;kpk uoizorZu flºkUr

(6) vkHkkl [kaM-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) lq{e vFkZðkkL=kP;k e;kZnk lkaxk-

(2) iqjoBÓkP;k «ofpdrsps izdkj Li"V djk-
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(3) eDrsnkjhps oSfðk"VÓs Li"V djk-

(4) O;ktkpk Ω.k;ksX; fu/kh flºkUr Li"V djk-

(5) lkekftd dY;k.kkph ladYiuk lkaxk vkf.k lkekftd dY;k.kkps Q«u Li"V

djk-

4. [kk«h«iSdh dks.krkgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) fdaer «ofpdrk Eg.kts dk; \ fdaer «ofpdrsps izdkj Li"V djk-

(2) eDrsnkjh;qDr Li/kkZ Eg.kts dk; \ eDrsnkjh;qDr Li/ksZr m|ksxlaLFkspk vYidk«hu

lerks« Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-230

S.Y. B.A. EXAMINATION, 2015

ECONOMICS

Special Paper II

(Macro-Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the importance of Macro-Economics.

(ii) Explain the Index Number.

(iii) Explain the features of Business cycles.

(iv) State the objectives of Macro-Economics.

P.T.O.
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2. Write notes in 100 words each (any four) : [20]

(i) Gross National Product and Net National Product.

(ii) Paradox of Saving;

(iii) Cost-Pull Inflation;

(iv) Stagflation;

(v) Philips Curve;

(vi) Supply Side Economics.

3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(i) Explain the scope of Macro-Economics.

(ii) Explain the Say’s Law of Market.

(iii) What is deflation ? Explain the causes of deflation.

(iv) State the Cash Balance Approach.

(v) Explain the Anti-cycle Policy of Trade.

4. Answer the following questions in 500 words (any one) : [20]

(i) Explain the Keynesian theory of Employment.

(ii) Explain the Macro-Economic Policy.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) lexz«{kh vFkZðkkL=kps egRo Li"V djk-

(ii) fdaer funsZðkkad Li"V djk-

(iii) O;kikj pÿkph oSfðk"Vs Li"V djk-

(iv) lexz«{kh vkfFkZd /kksj.kkph mfÌ"Vs lkaxk-

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) LFkq« jk"V™h; mRiknu o fuOo« jk"V™h; mRiknu_

(ii) cprhpk fojks/kkHkkl_

(iii) [kpZ rk.kfufeZr p«uok<_

(iv) eafn;qDr p«uok<_

(v) fQf«Il oÿ_

(vi) iqjoBÓkP;k cktqps vFkZðkkL=-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) lexz«{kh vFkZðkkL=kph O;kIrh Li"V djk-

(ii) ^ls* pk cktkjisBspk fu;e Li"V djk-

(iii) p«uladksp Eg.kts dk; \ p«uladkspkph dkj.ks Li"V djk-

(iv) jks[k fðkY«d n`"Vhdksu lkaxk-

(v) O;kikj pÿfojks/kh /kksj.k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) dsUlpk jkstxkjfo"k;d flºkar Li"V djk-

(ii) lexz«{kh vkfFkZd /kksj.k Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-234

S.Y. B.A. EXAMINATION, 2015

HISTORY

General Paper II

[Modern India (1885-1992)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State the role of Newspapers in the rise of Indian Nationalism.

(ii) What do you know about the Chauri Chaura incident ?

(iii) Write the importance of the ‘Bhudan Movement’.

(iv) Explain the concept of ‘Mixed Economy’.

2. Write short notes in 100 words each (any four) : [20]

(i) Abhinav Bharat;

P.T.O.
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(ii) Two Nation Theory;

(iii) Cripps Mission;

(iv) Integration of Kashmir Princely State;

(v) Relation between India and Sri Lanka;

(vi) Importance of Internet.

3. Answer the following questions in 250 words each (any three) : [30]

(i) State the factors that led to the foundation of the Indian

National Congress.

(ii) Evaluate the achievements of Lokmanya Tilak.

(iii) What is ‘Non-Alignment’ ? State its salient features.

(iv) Explain the contribution of Dr. Babasaheb Ambedkar in Dalit

Movement.

(v) What is meant by ‘Globalization’ ? State its impact on Indian

Economy.

4. Answer the following questions in 500 words (any one) : [20]

(i) Give an account of the Civil Disobedience Movement in 1930.

(ii) Explain the salient features of Indian Constitution.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) Hkkjrh; jk"V™oknkpk mn;kr o`Ÿki=kaph Hkwfedk lkaxk-

(ii) pkSjh&pkSjk ?kVusfo"k;h vki.kkl dk; ekfgrh vkgs \

(iii) ^Hkwnku pˇoˇh*ps egRo f«gk-

(iv) ^feJ vFkZO;oLFkk* gh ladYiuk Li"V djk-

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) vfHkuo Hkkjr_

(ii) f}&jk"V™okn flºkar_

(iii) fÿIl feðku_

(iv) dkðehj laLFkkukps fo«huhdj.k_

(v) Hkkjr&Jh«adk laca/k_

(vi) baVjusVps egŸo-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) Hkkjrh; jk"V™h; lHksP;k LFkkiusl dkj.khHkwr >k«s«s ?kVd lkaxk-
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(ii) «ksdekU; fVˇdkaP;k dkefxjhps ewY;ekiu djk-

(iii) ^vf«Irrkokn* Eg.kts dk; \ R;kph Bˇd oSfðk"VÓs lkaxk-

(iv) MkW- ckcklkgsc vkacsMdjkaps nf«r pˇoˇhrh« ;ksxnku Li"V djk-

(v) ^tkxfrdhdj.k* Eg.kts dk; \ Hkkjrh; vFkZO;oLFksojh« R;kps ifj.kke

lkaxk-

4. [kk«h« izðukaps 500 ðkCnkar mŸkj (dks.krkgh ,d) % [20]

(i) 1930P;k lfou; dk;nsHkax pˇoˇhpk o`Ÿkkar |k-

(ii) Hkkjrh; jkT;?kVusph Bˇd oSfðk"VÓs Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-235

S.Y. B.A. EXAMINATION, 2015

HISTORY

Special Paper I

(Introduction to History)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the importance of ‘Interpretation’.

(ii) Define the term ‘Auxiliary Sciences’.

(iii) Explain the concept of ‘Subaltern’.

(iv) Why did Herodotus called as a ‘Father of History’ ?

2. Write short notes in 100 words each (any four) : [20]

(i) Nature of History;

(ii) Primary and Secondary Sources;

P.T.O.
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(iii) Antonio Gramsci;

(iv) Karl Marx;

(v) Leopold Von Ranke;

(vi) K.A. Nilkanth Shastri.

3. Answer the following questions in 250 words each (any three) : [30]

(i) Explain the importance of History in the human life.

(ii) Evaluate the process of Internal Criticism.

(iii) Discuss the relations between History and Economics.

(iv) Evaluate the Imperialist School of Historiography.

(v) Examine the contribution of Arnold Toyanbee to the World

History ?

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the contribution of V.K. Rajwade to the Maratha

Historiography.

(ii) Discuss Romila Tapar’s contribution to the Indian

Historiography.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. iq<h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) ^vUo;kFkkZ*ps egRo Li"V djk-

(ii) ^lgk∏;dkjh ðkkL=s* ;k laKspk vFkZ f«gk-

(iii) oafpr (Subaltern) gh ladYiuk Li"V djk-

(iv) ^fgjksMksVl«k bfrgklkpk tud* vls dk Eg.krkr \

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) bfrgklkps Lo:i_

(ii) izkFkfed vkf.k nq∏;e lk/kus_

(iii) v°rksfuvks xzkEðkh_

(iv) dk«Z ekDlZ_

(v) f«vks ikWYM okWu jkUds_

(vi) ds-,- uhˇdaB ðkkL=h-

3. iq<h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ekuoh thoukrh« bfrgklkps egRo Li"V djk-
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(ii) varjax ijh{k.kkP;k izfÿ;sps ewY;ekiu djk-

(iii) bfrgkl vkf.k vFkZðkkL= ;kaP;ke/kh« laca/kkph ppkZ djk-

(iv) lkezkT;oknh bfrgkl«s[ku izokgkps ewY;ekiu djk-

(v) tkxfrd bfrgkl«s[kukr vukZsYM VkW;Uch ;kaP;k ;ksxnkukps ijh{k.k djk-

4. iq<h« izðukaps dks.krkgh ,d mŸkj 500 ðkCnkar f«gk % [20]

(i) ejkBÓkaP;k bfrgkl«s[kukrh« fo- dk- jktokMs ;kaps ;ksxnku Li"V djk-

(ii) Hkkjrh; bfrgkl«s[kukrh« jkseh«k Fkkij ;kaps ;ksxnku Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4701]-236

S.Y. B.A. EXAMINATION, 2015

HISTORY

Special Paper II

(Ancient India : 3000 B.C. to 1200 A.D.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the importance of Archaeological Sources.

(ii) Explain the causes of decline of the Mauryan Empire.

(iii) Review salient features of Art and Architecture during Pallavas.

(iv) Review cultural contribution of the Rashtrakutas.

2. Write short notes in 100 words each (any four) : [20]

(i) Foreign Accounts;

P.T.O.
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(ii) Iron Technology;

(iii) Extent of the Mauryan Empire;

(iv) Naneghat;

(v) Sangam Age;

(vi) Pulkeshi II

3. Answer the following questions in 250 words each (any three) : [30]

(i) Explain the scope and features of the Harappan

Civilization.

(ii) Review the Vedic Literature.

(iii) Evaluate the achievements of Kanishka.

(iv) Discuss the cultural contribution of the Satavahanas.

(v) Examine the socio-religious life during the Imperial

Guptas.

4. Answer the following questions in 500 words each (any one) : [20]

(i) Discuss the Buddhist Philosophy in detail.

(ii) Evaluate the achievements of Harshvardhan.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ^iqjkrRoh;* lk/kukaps egRo Li"V djk-

(ii) ekS;Z lkezkT;kP;k Úgklkph dkj.ks Li"V djk-

(iii) iY«odk«hu d«k vkf.k LFkkiR;kP;k Bˇd oSfðk"VÓkapk vk<kok ?;k-

(iv) jk"V™dwVkaP;k lkaLœfrd ;ksxnkukpk vk<kok ?;k-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) ijdh; izokl o.kZus_

(ii) «ksgra=Kku_

(iii) ekS;Z lkezkT;kpk foLrkj_

(iv) uk.ks?kkV_

(v) laxe ;qx_

(vi) nqljk iq«dsðkh-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) gMIik laLœrhph O;kIrh vkf.k oSfðk"VÓs Li"V djk-

(ii) oSfnd ok≥~e;kpk vk<kok ?;k-

(iii) dfu"dkP;k dkefxjhps ewY;ekiu djk-

(iv) lkrokgukaP;k lkaLœfrd ;ksxnkukph ppkZ djk-

(v) xqIrdk«hu lkekftd&/kkfeZd thoukps ijh{k.k djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) ckSº rRoKkukph lfoLrj ppkZ djk-

(ii) g"kZo/kZuP;k dkefxjhps ewY;ekiu djk-
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[4701]-236

(History of U.S.A. : 1914 to 2001 A.D.)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the importance of ‘Marshall Plan’.

(ii) Explain the role of USA in Korean War.

(iii) Discuss in short the relations between U.S.A. and Vietnam.

(iv) Explain the consequences of the Open Trade Policy.

2. Write short notes in 100 words each (any four) : [20]

(i) ‘A New Deal’;

(ii) Dr. Martin Luther King;

(iii) American Policy about Japan after World War II;

(iv) Relations between USA and Cuba;

(v) GATT Treaty;

(vi) Terrorism.
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3. Answer the following questions in 250 words each (any three) : [30]

(i) Discuss the causes and consequences of the Great

Depression.

(ii) Evaluate movement for rights of women in U.S.A.

(iii) Examine relations between U.S.A. and India after the World

War II.

(iv) Review the role of USA as a Superpower during 1990-2001.

(v) Discuss terrorism and its consequences.

4. Answer the following questions in 500 words (any one) : [20]

(i) Evaluate the role of USA in the World War I.

(ii) Examine the role of USA in the Cold War.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) ^ekðkZ« ;kstusps* egRo Li"V djk-

(ii) dksfj;u ;qºkarh« vesfjdsph Hkwfedk Li"V djk-

(iii) vesfjdk vkf.k fOg,ruke ;kaP;krh« laca/kkph ppkZ djk-

(iv) ^eqDr O;kikj /kksj.kk*ps ifj.kke Li"V djk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) U;w Mh«_

(ii) MkW- ekfVZu Y;wFkj fdax_

(iii) nqlÚ;k egk;qºkuarjps vesfjdsps tikufo"k;d /kksj.k_

(iv) vesfjdk vkf.k D;wck e/kh« laca/k_

(v) ^xWV djkj*_

(vi) ngðkrokn-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) vkfFkZd egkeanhph dkj.ks vkf.k ifj.kkekaph ppkZ djk-

(ii) vesfjdsrh« L=h gDdfo"k;d pˇoˇhps ewY;ekiu djk-

(iii) nqlÚ;k egk;qºkuarjP;k vesfjdk vkf.k Hkkjr ;kaP;k e/kh« laca/kkps ijh{k.k

djk-

(iv) lu 1990&2001 ;k dk«ko/khrh« tkxfrd egklŸkk Eg.kwu vesfjdsP;k Hkwfedspk

vk<kok ?;k-

(v) ngðkrokn vkf.k R;kpk ifj.kkekaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(i) ifgY;k tkxfrd egk;qºkrh« vesfjdsP;k Hkwfedsps ewY;ekiu djk-

(ii) ðkhr;qºkrh« vesfjdsP;k Hkwfedsps ijh{k.k djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-237

S.Y. B.A. EXAMINATION, 2015

ANTHROPOLOGY

(G-2 : Indian Tribes and Tribal Welfare)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) Write the cultural classification of Indian Tribes.

(ii) What is report writing ?

(iii) What is Acculturation ?

(iv) State the concept of Tribal Development.

2. Write short notes on any four of the following in 100 words

each : [20]

(i) Integrated Tribal Development Programme;

(ii) Isolation;

P.T.O.
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(iii) Ghotul;

(iv) Education and Media;

(v) Deforestation;

(vi) Tribal Subplan.

3. Answer any three of the following questions in 250 words each : [30]

(i) Explain the main problems of Indian Tribes.

(ii) Discuss the economic and social status of Warli tribe.

(iii) What is the importance of Magic among Indian Tribes ?

(iv) What are the various types of preparations required for field

work ?

(v) Describe the economic and geographical classification of Indian

Tribes.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the structure and functions of Youth Dormitories.

(ii) Explain the differences between Caste and Tribe.



[4701]-237 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(i) Hkkjrh; vkfnoklhaps lkaLœfrd oxhZdj.k djk-

(ii) vgok« «s[ku Eg.kts dk; \

(iii) lelaLœrhdj.k Eg.kts dk; \

(iv) vkfnoklh fodklkph ladYiuk lkaxk-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r FkksMD;kr fVik f«gk % [20]

(i) ,dkfRed vkfnoklh fodkl izdYi_

(ii) vf«Irrk_

(iii) ?kksVq«_

(iv) fðk{k.k vkf.k izlkj ek/;es_

(v) tax«rksM_

(vi) vkfnoklh mi;kstuk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkai;±r f«gk % [30]

(i) Hkkjrh; vkfnoklhaP;k eq[; leL;k lkaxk-
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(ii) okj«h tekrhP;k vkfFkZd o lkekftd fLFkrhph ppkZ djk-

(iii) Hkkjrh; vkfnoklhae/;s tknwps egRo dk; vkgs \

(iv) {ks=dk;kZlkBh «kx.kkjh fofo/k izdkjph r;kjh dks.krh \

(v) Hkkjrh; vkfnoklhaps vkfFkZd vkf.k HkkSxksf«d oxhZdj.k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkai;±r f«gk % [20]

(i) ;qokx`gkph jpuk vkf.k dk;sZ foðkn djk-

(ii) tkr vkf.k tekr ;krh« Qjd Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8+2

[4701]-238

S.Y. B.A. EXAMINATION, 2015

GEOGRAPHY

General Paper II

Gg-210 : Geography of Human Resources)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]

(1) Write any two branches of Human Geography.

(2) What is “Determinism” ?

(3) State the Mesopotamia ?

(4) Give the stages of Human Evolution.

(5) Write any two physical characteristics of Negroids.

P.T.O.

Seat

No.
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(6) Give the habitat regions of Bushmen Tribes.

(7) Write any two weapons of Naga.

(8) What is Language ?

(9) Give the name of founder of Islamic Religion.

(10) Define the Seasonal Migration.

(11) Write any two physical factors affecting on the location of

Rural Settlements.

(12) Write four names of pattern of Rural Settlement.

(13) Give any two critics on Malthus Theory.

2. Answer in 50 words each (any two) : [10]

(1) Indo-civilization and “Great Bath”.

(2) Food and Clothing of “Eskimo”.

(3) Religion and National Integration.

(4) Geographical factors affecting on Growth of Urban Settlement.

3. Answer in 150 words each (any two) : [20]

(1) Give an account of work of Geographers in  Modern Period.

(2) Write socio-economic life of “Pygmy”.

(3) Write in detail the effects of Migration.

(4) Explain the types of Rural Settlement.
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4. Answer in 300 words each (any two) : [30]

(1) Define the Human Geography and explain its relation with

social sciences.

(2) Define Human Race ? Explain bases of racial classification.

(3) Write the geographical essay on “Naga Tribe”.

(4) Explain “Population as a Resource”.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1. izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) ekuoh Hkwxks«kP;k dks.kR;kgh nksu ðkk[kk lkaxk-

(2) ^^fuðp;okn** Eg.kts dk; \

(3) ^^eslksiksVsfe;k** Eg.kts dk; \

(4) ekuoh mRÿkarhps VIis |k-
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(5) fuxzksoaðkkP;k «ksdkaph nksu ðkkjhfjd oSfðk"VÓs f«gk-

(6) cqðkesu tekrhpk fuoklh iznsðk f«gk-

(7) ^ukxk*P;k gR;kjkaph ukos lkaxk-

(8) Hkk"kk Eg.kts dk; \

(9) bL«ke /keZ laLFkkidkps uko lkaxk-

(10) gaxkeh LFk«karjkph O;k[;k lkaxk-

(11) xzkeh.k oLrhP;k LFkkfudhdj.kkoj ifj.kke dj.kkjs dks.krsgh nksu izkœfrd ?kVd

f«gk-

(12) xzkeh.k olkgr izk:ikaph pkj ukos f«gk-

(13) ekYFklP;k flºkarkojh« dks.krsgh nksu vk{ksi f«gk-

2. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) fla/kwlaLœrh o ^^egkLukux`g**-

(2) ,fdLeksaps vUu o oL=-

(3) /keZ o jk"V™h; ,dkRerk-

(4) ukxjh olkgrhP;k ok<hoj ifj.kke dj.kkjs HkkSxksf«d ?kVd-

3. izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) vk/kqfud dkˇkrh« ekuoh Hkwxks«rTKkaps dk;sZ lkaxk-

(2) fiXehaps lkekftd o vkfFkZd thou f«gk-

(3) LFk«karjkps ifj.kke lkaxk-

(4) xzkeh.k olkgrhaps izdkj Li"V djk-
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4. izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) ekuoh Hkwxks«kph O;k[;k lkaxwu R;kpk lkekftd ðkkL=kaðkh laca/k Li"V

djk-

(2) oaðk Eg.kts dk; \ oaðk oxhZdj.kkps ekinaM Li"V djk-

(3) ukxk tekrhoj HkkSxksf«d ekfgrh f«gk-

(4) ^^«ksdla[;k ,d lk/kulaink** Li"V djk-
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[4701]-238

Gg-210 : Geography and Natural Hazards)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) :  [20]

(1) Define “Deforestation’.

(2) Define Environmental Geography.

(3) What is Environmental Hazards ?

(4) Give any two types of manmade hazards.

(5) What is ‘rehabilitation’ ?

(6) What is ‘Risk Analysis’ ?

(7) Give any two Hazard Zones.

(8) Give any two recent cyclones that hit the East Coast of India.

(9) Give any two causes of landslide.
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(10) State any two Tsunami affected regions of the world.

(11) Give any two effects of Desertification.

(12) Define soil degradation.

(13) What is ‘Optimum Population’ ?

2. Answer in 50 words each (any two) : [10]

(1) Ecosystem and Ecology;

(2) Environmental Stress;

(3) Hazard Awareness;

(4) Causes of Tsunami.

3. Answer in 150 words each (any two) : [20]

(1) Explain any two approaches to the study of man-environmental

relationship.

(2) Describe the management of ‘Pre-hazard condition’.

(3) Write a note on any one atmospheric disaster in India.

(4) Explain effects and management of forest fire.
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4. Answer in 300 words each (any two) :  [30]

(1) Classify the environmental hazards and give an example of

each hazard.

(2) Describe the causes, effects of population explosion. Give measures

to control population growth.

(3) Explain the causes, effects and management of Earthquake.

Give a note on any one earthquake in India.

(4) Explain Post Hazard Management of floods and landslides.

Give the distribution of flood-prone and landslide-prone areas

in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUlYl okij.;kl ijokuxh vkgsr-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. izR;sdh 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) fuoZuhdj.kkph O;k[;k f«gk-

(2) i;kZoj.kh; Hkwxks«kph O;k[;k f«gk-
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(3) i;kZoj.kh; vkiŸkh Eg.kts dk; \

(4) ekuofufeZr vkiŸkhaps dks.krhgh nksu mnkgj.ks nÓk-

(5) ^iquoZlu* Eg.kts dk; \

(6) ^tks[khe foð«s"k.k* Eg.kts dk; \

(7) vkiŸkh LFkˇkaph nksu ukos lkaxk-

(8) HkkjrkP;k iwoZfdukjiÍhoj /kMd.kkÚ;k vf«dMh« dkˇkrh« dks.kR;kgh nksu

pÿhoknˇkaph ukos lkaxk-

(9) Hkwehikrkph dks.krhgh nksu dkj.ks nÓk-

(10) txkrh« Rlqukeh izHkkfor dks.krhgh nksu {ks= lkaxk-

(11) okˇoaVhdj.kkps dks.krsgh nksu ifj.kke f«gk-

(12) e`nk /kwisph O;k[;k f«gk-

(13) ^i;kZIr «ksdla[;k* Eg.kts dk; \

2. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ifjlaLFkk vkf.k ikfjfLFkrhdh_

(2) i;kZoj.kh; rk.k_

(3) vkiŸkh tk.kho tkx`rh_

(4) Rlqukehph dkj.ks f«gk-
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3. izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ekuo&i;kZoj.k lglaca/kkP;k dks.kR;kgh nksu vH;kliºrh Li"V djk-

(2) vkiŸkhiwoZ ifjfLFkrhps O;oLFkkiu Li"V djk-

(3) Hkkjrkrh« dks.kR;kgh ,dk okrkoj.kh; vkirhaoj Vhi f«gk-

(4) tax«krh« o.kO;kps ifj.kke o O;oLFkkiu o.kZu djk-

4. izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) i;kZoj.kh; vkiŸkhaps oxhZdj.k d:u izR;sdh mnkgj.ks nÓk-

(2) «ksdla[;k foLQksVkph dkj.ks o ifj.kke lkaxwu «ksdla[;k ok< jks[k.;kps mik;

f«gk-

(3) Hkwdaikph dkj.ks] ifj.kke vkf.k O;oLFkkiu Li"V d:u Hkkjrkrh« dks.kR;kgh

,dk Hkwadikoj Vhi f«gk-

(4) iwjkph vkf.k Hkwehikrkps vkiŸkhiwoZ O;oLFkkiu Li"V d:u Hkkjrkrh« iwjizo.k

{ks= o HkwL[k«u {ks=kph foHkkx.kh djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-239

S.Y. B.A. EXAMINATION, 2015

GEOGRAPHY (S-1)

Special Paper I

[Gg-220 : China—A Geographical Analysis (S-1)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]

(1) Write latitudinal and longitudinal extent of China.

(2) Which are the major physical divisions of China ?

(3) Write any two major rivers in China.

(4) Write any two seasons in China.

(5) Define soil conservation.

(6) State any two types of forest in China.

(7) State any two manganese producing regions in China.

(8) Define ‘white-revolution’.

(9) Write any two chemical fertilizer centers in China.

(10) State any two factors affecting change in population.

(11) State any two demerits of Road transportation.

(12) State any two hydro-power projects in China.

(13) State any two mountain ranges in China.

P.T.O.
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2. Answer in 50 words each (any two) : [10]

(1) Coastal low land of China.

(2) Mekong Drainage system.

(3) Liberalization in China.

(4) International Trade in China.

3. Answer in 150 words each (any two) : [20]

(1) Explain the causes of soil erosion in China.

(2) Explain the relationship with neighbouring countries of China.

(3) Explain the distribution of Bauxite producing regions of China.

(4) Explain the distribution of Iron ore Industries in China.

4. Answer in 300 words each (any two) : [30]

(1) Give a detailed account of major climatic regions in

China.

(2) Give an account of the importance of agriculture in economy

of China.

(3) Describe the problems of urbanization in China.

(4) Explain in detail the types of forest in China.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1. izR;sdh 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) %  [20]

(1) phupk v{ko`Ÿkh; o js[kko`Ÿkh; foLrkj f«gk-

(2) phups eq[; izkœfrd foHkkx dks.krs \



[4701]-239 3 P.T.O.

(3) phue/kh« dks.kR;kgh nksu eq[; unÓkaph ukos f«gk-

(4) phue/kh« dks.kR;kgh nksu =rqaph ukos f«gk-

(5) e`nk lao/kZukph O;k[;k f«gk-

(6) phue/kh« dks.kR;kgh nksu oukaps izdkj lkaxk-

(7) phue/kh« dks.krsgh nksu eWXuht mRiknd iznsðk lkaxk-

(8) /ko«ÿkarhph O;k[;k lkaxk-

(9) phue/kh« dks.kR;kgh nksu jklk;fud [kr&fufeZrh dsaÊkaph ukos f«gk-

(10) «ksdla[;srh« cn«koj ifj.kke dj.kkjs dks.krsgh nksu ?kVd lkaxk-

(11) jLrs okgrqdhps dks.krsgh nksu nks"k lkaxk-

(12) phue/kh« dks.krsgh nksu t«fo|qr izdYi lkaxk-

(13) phue/kh« dks.kR;kgh nksu ioZrjkaxkaph ukos lkaxk-

2. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) phue/kh« fdukjh eSnkus

(2) esdk°x unh iz.kk«h

(3) phue/kh« mnkjhdj.k

(4) phupk vkarjjk"V™h; O;kikj-

3. izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [20]

(1) phue/kh« e`nk/kwihph dkj.ks Li"V djk-

(2) phups ðkstkjh« nsðkkaðkh laca/k Li"V djk-

(3) phue/kh« ckWDlkbZV mRiknd iznsðkkaps forj.k Li"V djk-

(4) phue/kh« «ksgiks«kn m|ksx/kanÓkaps forj.k Li"V djk-
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4. izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) phue/kh« izeq[k gokeku foHkkxkafo"k;h lfoLrj ekfgrh |k-

(2) phuP;k vFkZO;oLFksrh« ðksrhps egRo foðkn djk-

(3) phue/kh« ukxjhdj.kkP;k leL;kaps o.kZu djk-

(4) phue/kh« oukaps izdkj lfoLrj Li"V djk-
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[4701]-239

(Gg-220 : India : A Geographical Analysis)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : [20]

(1) Give any two neighbouring countries of India.

(2) Write any two names of sea island in India.

(3) Which type of rock prominently found on ‘‘Deccan

Plateau’’ ?

(4) Write any two names of physiographic regions of India.

(5) Name any two east flowing rivers of Peninsular India.

(6) Give two names of leading Bauxite producing States in India.

(7) State any two economic factors affecting agricultural

development.

(8) Write two names of hydroelectric projects in India.

(9) What is White Revolution ?

(10) Give two problems of iron and steel industries in India.

(11) State two centres of textile industries in India.

(12) Write two remedial measures on problems of urbanization in

India.

(13) State two benefits of air transportation.
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2. Answer in 50 words each (any two) : [10]

(1) Monsoonal rainfall in India.

(2) Characteristics of Alluvial soil.

(3) Problems of Indian cotton textile industries.

(4) Effects of rural-urban migration.

3. Answer in 150 words each (any two) : [20]

(1) Explain the winter climatic conditions in India.

(2) Describe the soil conservation methods in India.

(3) Explain the salient features of Indian agriculture.

(4) Explain the distribution of population in India.

4. Answer in 300 words each (any two) : [30]

(1) Mention the major physiographic divisions of India and describe

details about northern mountain region.

(2) Explain the problems of deforestation in India and describe

the importance of forest conservation.

(3) Write a detailed account on energy resources in India.

(4) Explain the importance of transportation ways in regional

development.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1. izR;sdh 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) %  [20]

(1) HkkjrkP;k dks.kR;kgh nksu ðkstkjh« nsðkkaph ukos f«gk-

(2) Hkkjrkrh« lkxjh csVkaph nksu ukos lkaxk-

(3) Hkkjrkrh« nD[ku iBkjkoj dks.krk izeq[k [kMd vk<ˇrks \

(4) HkkjrkP;k izkœfrd jpusps dks.krsgh nksu foHkkx lkaxk-

(5) Hkkjrkrh« dks.kR;kgh nksu f}idYih; iwoZokfguh u|kaph ukos f«gk-

(6) Hkkjrkrh« ckWDlkbZV [kfut mRiknukr vxzslj nksu jkT;kaph ukos f«gk-

(7) ðksrh fodklkoj ifj.kke dj.kkjs nksu vkfFkZd ?kVd lkaxk-

(8) Hkkjrkrh« nksu t«fo|qr izdYikaph ukos f«gk-

(9) /ko« ÿkarh Eg.kts dk; \

(10) Hkkjrkrh« «ksg iks«kn m|ksxkP;k nksu leL;k lkaxk-

(11) Hkkjrkrh« lqrh&oL=ks|ksx dsaÊkpah nksu ukos |k-

(12) Hkkjrkrh« ukxjhdj.kkP;k leL;kaojh« nksu mik;;kstuk lkaxk-

(13) gokbZ okgrwdhps nksu Qk;ns f«gk-

2. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) Hkkjrkrh« eksleh itZU;

(2) xkˇkP;k e`nsph xq.k oSfðk"VÓs

(3) Hkkjrh; lqrh oL=ks|ksxkP;k leL;k

(4) xzkeh.k rs ukxjh LFk«karjkps ifj.kke-
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3. izR;sdh 150 ðkCnkar mŸkj f«gk (dks.krsgh nksu) %  [20]

(1) Hkkjrkrh« fgokˇk ;k Ωrqrh« gokekukph fLFkrh o.kZu djk-

(2) Hkkjrkrh« e`nk lao/kZukP;k iºrh foðkn djk-

(3) Hkkjrkrh« ðksrhph Bˇd oSfðk"VÓs o.kZu djk-

(4) Hkkjrkrh« «ksdla[;sps forj.k Li"V djk-

4. izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) Hkkjrkrh« izeq[k izkœfrd foHkkx lkaxwu R;kiSdh mŸkjsdMh« ioZrh; iznsðkkps

lfoLrj o.kZu djk-

(2) Hkkjrkrh« fuoZuhdj.kkeq«s gks.kkÚ;k fofo/k leL;kapk vk<kok ?;k vkf.k

o`{klao/kZukps egRo foðkn djk-

(3) Hkkjrkrh« izeq[k mtkZ laiŸkhoj lfoLrj o`=kar f«gk-

(4) izknsfðkd fodklkr fofo/k okgrqd ekxk±ps egRo Li"V djk-



Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

No. [4701]-240

S.Y. B.A. EXAMINATION, 2015

MUSIC (laxhr)
laxhr lkekU; Lrj (th&2)

(;k lapkrh« jkx laxhr xk;u] rc«k] lrkj ;k rhuiSdh dks.krhgh ,d
izðððððuif=dk lksMok)

(2008 PATTERN)

jkxlaxhr xk;u
oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-
(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« NksVÓk [;k«kps (e/; «;@Êqr «;)
Loj«s[ku djk-

2. fcgkx vFkok ek«dal ;kiSdh dks.kR;kgh ,dk jkxkph lfoLrj ðkkÚksDr ekfgrh
f«gk-

3. fo«afcr ,drk« vkf.k /kekj ;kiSdh dks.kR;kgh ,dk rk«kps «s[ku djk-

4. [kk«h«iSdh dks.kR;kgh ikpph O;k[;k f«gk %
(1) xzg
(2) vaðk
(3) d.k Loj
(4) vYiRo
(5) o.kZ
(6) xk;d
(7) dkse« Loj
(8) ehaM-

P.T.O.
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5. Vhik f«gk (dks.kR;kgh nksu) %

(1) xkule; flºkar

(2) [;k«

(3) rkukaps izdkj

(4) vkjksg&vojksg&idM

6. fuca/k f«gk (dks.krkgh ,d) %

(1) laxhr lHksps vk;kstu

(2) «ksd laxhr

(3) laxhr vkf.k thou

7. pfj= f«gk (dks.krkgh ,d) %

(1) ia- nŸkk=; fo".kw i«qLdj

(2) cStw ckojk

(3) ia- vksadkjukFk Bkdwj-
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[4701]-240

rc«k
oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-
(ii) moZfjr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ckjk ek=kaP;k dks.kR;kgh ,dk rk«kps ekfgrhlg rk««s[ku djk-

2. vH;klÿekrh« dks.kR;kgh ,dk rk«kpk rqdMk lesiklwu lesi;±r rk«f«ihcº

djk-

3. fVik f«gk (dks.kR;kgh nksu) %

(1) i«Vk

(2) frgkbZps izdkj

(3) rk«kP;k tkrh

(4) dk;nk-

4. fuca/k f«gk (dks.krkgh ,d) %

(1) rc«k ok|kpk laf{kIr bfrgkl

(2) laxhrlkFkhlkBh rcY;kph mi;qDrrk-

5. rqeP;k vkoMR;k rc«kokndkps pfj= f«gk-
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[4701]-240

lrkj
oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-
(ii) moZfjr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph jtk[kkuh xr Lojf«ficº djk-

2. vH;klÿekrh« dks.kR;kgh ,dk jkxkph ðkkL=h; ekfgrh o LojfoLrkj f«gk-

3. fVik f«gk (dks.kR;kgh nksu) %

(1) tksM

(2) [kVdk

(3) U;kl

(4) xed o xed izdkj-

4. fuca/k f«gk (dks.krkgh ,d) %

(1) eh ,sd«s«h eSfQ«

(2) lrkj ok|kps Lo:i-

5. rqeP;k vkoMR;k lrkjokndkps pfj= f«gk-



Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

No. [4701]-241

S.Y. B.A. EXAMINATION, 2015

MUSIC (laxhr)

laxhr foðððððks"kLrj (,l&1)

(;k lapkrh« jkx laxhr xk;u] rc«k] lrkj ;k rhuiSdh dks.krhgh ,d

izðððððuif=dk lksMok)

(2008 PATTERN)

jkx laxhr xk;u
oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-
(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fo«afcr cafnðk@cMk [;k« Lojf«ficº
djk-

2. dY;k.k] fgaMks« vFkok ðkqºlkjax ;kiSdh dks.kR;kgh ,dk jkxkph lfoLrj ðkkL=h;
ekfgrh f«gk-

3. [;k« xk;ukl mi;qDr vl«sY;k fo«afcr «;krh« dks.kR;kgh ,dk rk«kps «s[ku
djk-

4. [kk«h«iSdh dks.kR;kgh ikpph O;k[;k f«gk %
(1) iwoZjkx
(2) idM
(3) laoknh Loj
(4) vk/kkj Loj

P.T.O.
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(5) vkanksf«r

(6) uk;d

(7) [kaM

(8) rhoz Loj

5. Vhik f«gk (dks.kR;kgh nksu) %

(1) p« Loj&vp« Loj

(2) lIrdkps iwok±x&mŸkjkax

(3) jkx tkrh

(4) /kekj-

6. fuca/k f«gk (dks.krkgh ,d) %

(1) nsðkh laxhr

(2) laxhr lk/kuk

(3) xk;ukr ðkCnksPpkjkps egRo-

7. rqeP;k vkoMR;k d«kdkjkps lkaxhfrd thou&pfj= f«gk-
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rc«k

oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ,drk« fdaok f=rk« ;kiSdh dks.kR;kgh ,dk rk«kps ekfgrhlg rk««s[ku djk-

2. vH;klÿekrh« dks.kR;kgh ,dk rk«kpk rqdMk lesiklwu lesi;±r rk«f«ihcº

djk-

3. fVik f«gk (dks.kR;kgh nksu) %

(1) dk;|kps izdkj

(2) csne o nenkj frgkbZ

(3) rk«kph nqIiV&frIiV

(4) pÿnkj-

4. fuca/k f«gk (dks.krkgh ,d) %

(1) rcY;krh« [kq«k ckt

(2) fofHkUu xk;u izdkjkalkBhph rc«klkFk-

5. rqeP;k vkoMR;k rc«kokndkps pfj= f«gk-
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[4701]-241

lrkj
oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph eflr[kkuh xr Lojf«ficº djk-

2. vH;klÿekrh« dks.kR;kgh ,dk jkxkph ðkkL=h; ekfgrh o LojfoLrkj f«gk-

3. fVik f«gk (dks.kR;kgh nksu)%

(1) Jqfr&Loj foHkktu

(2) [kVdk&eqdhZ

(3) xzg&vaðk&U;kl

(4) xed o xed izdkj-

4. fuca/k f«gk (dks.krkgh ,d) %

(1) eh ,sd«s«h eSfQ«

(2) laxhr fðk{k.kkr xq:aps LFkku-

5. rqeP;k vkoMR;k lrkjokndkps pfj= f«gk-
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Seat

No. [4701]-242

S.Y. B.A. EXAMINATION, 2015

MUSIC (laxhr)

 foðððððks"k Lrj (,l&2)

(;k lapkrh« jkx laxhr xk;u] rc«k] lrkj ;k rhuiSdh dks.krhgh ,d
izðððððuif=dk lksMok)

(2008 PATTERN)

jkx laxhr xk;u
oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-
(ii) moZfjr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fo«afcr cafnðk@cMk [;k« Lojf«ficº
djk-

2. HkSjo] paÊdal vkf.k cksxsJh ;kiSdh dks.kR;kgh ,dk jkxkph lfoLrj ðkkL=h; ekfgrh
f«gk-

3. /kekj vkf.k lw«rk« ;kiSdh dks.kR;kgh ,dk rk«kps ekfgrhlg «s[ku djk-

4. Vhik f«gk (dks.kR;kgh nksu) %
(1) Hkkoxhr
(2) nknjk
(3) pSrh
(4) rjkuk-

P.T.O.
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5. [kk«h«iSdh dks.kR;kgh nksu fo"k;h FkksMD;kr f«gk %

(1) Loj«s[ku iºrhph O;kIrh

(2) ukVdkr laxhrkps egRo

(3) /k̀in xk;u ðkS«h

(4) uHkksok.kh-

6. fuca/k f«gk (dks.krkgh ,d) %

(1) egkjk"V™kps «ksdlaxhr

(2) daBlk/kuk

(3) laxhr o vk/kqfud oSKkfud midj.ks-

7. pfj= f«gk (dks.krkgh ,d) %

(1) ia- ftrsaÊ vfHk"ksdh

(2) ia- Hkhelsu tksðkh

(3) m- cMs xq«ke v«h [kk°
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[4701]-242

rc«k

oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. rsojk fdaok /kekj ;kiSdh dks.kR;kgh ,dk rk«kps ekfgrhlg rk««s[ku djk-

2. vH;klÿekrh« dks.kR;kgh ,dk rk«kpk ,d dk;nk o js«k rk«f«ihcº djk-

3. fVik f«gk (dks.kR;kgh nksu) %

(1) jkS

(2) vken

(3) xr dk;nk

(4) i«Vk-

4. fuca/k f«gk (dks.krkgh ,d) %

(1) rk« fufeZrhps flºkar

(2) rc«koknukpk vtjkMk ckt-

5. rqeP;k vkoMR;k rc«kokndkP;k oknuðkS«hph oSfðk"VÓs f«gk-
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[4701]-242

lrkj

oš  % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph eflr[kkuh xr Lojf«ficº djk-

2. vH;klÿekrh« dks.kR;kgh ,dk jkxkph ðkkL=h; ekfgrh o LojfoLrkj f«gk-

3. fVik f«gk (dks.kR;kgh nksu) %

(1) lrkjoknukph ew«rRos

(2) Lojf«ihph e;kZnk

(3) vk/kqfud fo|qr ok|s

(4) ok|ofxZdj.k-

4. fuca/k f«gk (dks.krkgh ,d) %

(1) laxhr fðk{k.kkps cn«rs Lo:i

(2) jkxlaxhrkpk fluslaxhrkoj gks.kkjk izHkko-

5. rqeP;k vkoMR;k lrkjoknd d«kdkjkP;k oknuðkS«hph oSfðk"VÓs f«gk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-243

S.Y. B.A. EXAMINATION, 2015

PUBLIC ADMINISTRATION

General Paper II

(Theory of Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the meaning of Public Administration.

(2) Describe the types of staff unit.

(3) Importance of training.

(4) Mention the peculiarities of Private Administration.

2. Write notes in 100 words each (any four) : [20]

(1) Benefits of promotion

(2) Types of Chief Executives

(3) Decision making process

(4) Administrative Tribunals in India

(5) Family Courts

(6) Principle of co-ordination.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any

three ) : [30]

(1) Explain the functions of Line and Staff Agencies.

(2) Write the bases of organization.

(3) State the features of Civil Services

(4) POSDCORB

(5) State Public Service Commission.

4. Answer any one question in 500 words : [20]

(1) What is recruitment ? Explain the methods of recruitment.

(2) Discuss the budgetary process in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) «ksdizðkklukpk vFkZ lkaxk-

(2) LVkQ ?kVdkps izdkj o.kZu djk-

(3) izfðk{k.kkps egRo

(4) [kktxh izðkklukph oSfðk"VÓs uewn djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(1) c<rhps Qk;ns

(2) izeq[k dk;kZf/kdkÚ;kps izdkj
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(3) fu.kZ; fu/kkZj.k izfÿ;k

(4) Hkkjrkrh« izðkkldh; U;k;kf/kdj.ks

(5) dkSVqafcd U;k;k«;s

(6) leUo;kps rRo-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.kR;kgh rhu) % [30]

(1) js"kk vkf.k LVkQ ?kVdkaph dkes Li"V djk-

(2) la?kVusps vk/kkjHkwr ?kVd f«gk-

(3) ukxjh lsosph oSfðk"VÓs lkaxk-

(4) iksLMdkWcZ

(5) jkT; «ksd lsok vk;ksx-

4. [kk«h«iSdh dks.krkgh ,d izðu 500 ðkCnkar lksMok % [20]

(1) Hkjrh Eg.kts dk; \ HkjrhP;k iºrh Li"V djk-

(2) Hkkjrkrh« vankti=dh; izfÿ;sps o.kZu djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-244

S.Y. B.A. EXAMINATION, 2015

PUBLIC ADMINISTRATION

Special Paper I

(Administrative Thinkers)
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State Kautilya’s views on Administrative Corruption.

(2) Explain Woodrow Wilson’s views on Administration.

(3) Nature of ‘Sala Model’.

(4) Max Weber’s views on Legitimacy.

2. Write notes in 100 words each (any four) : [20]

(1) Explain Kautilya’s views on Principles of Administration.

(2) State F.W. Taylor’s concept of Scientific Management.

P.T.O.
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(3) Nehru’s views on Bureacuracy.

(4) Simon’s views on Behaviourism.

(5) Chester Bernard’s theory of Authority.

(6) Nehru’s views on Socialism.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Explain Herbert Simon’s views on Traditional Administra-

tion.

(2) Explain Rigg’s structural-functional approach.

(3) Describe Kautilya’s nature of Rajdharm.

(4) State Nehru’s views on Decentralization.

(5) Critically evaluate Taylor’s concept of Scientific Manage-

ment.

4. Answer any one of the following questions in 500 words : [20]

(1) Mention Chester Bernard’s power and functions of the Chief

Executive.

(2) Explain Nehru’s contribution to the development of Socialism

and Administration.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) dkSfVY;kps izðkkldh; Hkz"Vkpkjklaca/kh fopkj lkaxk-

(2) oqM™ks foYlups izðkkluklaca/kh ers Li"V djk-

(3) lk«k ekWMs«ps Lo:i-

(4) vf/kekU;rs laca/kh eWDl oscjph ers-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(1) dkSfVY;kph izðkkldh; rRoklaca/kh ers Li"V djk-

(2) ,Q-MCY;w- Vs«j ;kaph ðkkL=h; O;oLFkkiukph ladYiuk lkaxk-

(3) uksdjðkkgh laca/kh usg:aph ers-

(4) orZuoknklaca/kh gcZVZ lk;euph ers uewn djk-

(5) psLVj cukZMZpk vf/kdkjkpk flºkar-

(6) lektoknklaca/kh usg:aph ers-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) %

[30]

(1) ijaijkxr izðkkluklaca/kh gcZVZ lk;euph ers Li"V djk-

(2) fjXtpk jpukRed&dk;Zoknh n`"Vhdksu Li"V djk-
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(3) dkSfVY;kps jkt/kekZps Lo:i Li"V djk-

(4) fodasÊhdj.kklaca/kh iafMr usg:ps fopkj lkaxk-

(5) Vs«jP;k ðkkL=h; O;oLFkkiukP;k ladYiusps fVdkRed eqY;ekiu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) psLVj cukZMZus lqpfo«s«h izeq[k vf/kdkÚ;kps vf/kdkj o dkes uewn djk-

(2) lektokn vkf.k izðkklu fodklkrh« usg:ps ;ksxnku-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-245

S.Y. B.A. EXAMINATION, 2015
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) All India Services

(2) Role of National Development Council

(3) Planning Commission

(4) Nature of Globalization.

2. Write the notes in 100 words each (any four) : [20]

(1) Structure of U.P.S.C.

(2) State the types of training.

P.T.O.
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(3) Recommendations of National Commission for Woman.

(4) Composition of Planning Commission in India.

(5) Role of State Reserve Police Force.

(6) Liberalization.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Explain the functions of State Public Service Commi-

ssion.

(2) Explain the meaning and significance of E-Govern-

ment.

(3) Describe the Budgetary Process in India.

(4) Mention the functions of Voluntary Organization.

(5) Explain the role of Dept. of Home Affairs regarding the Law

and Order.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the relationship between Political and Execu-

tives.

(2) Describe the role of Lokpal and Lokayukta.



[4701]-245 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) vf[k« Hkkjrh; lsok

(2) jk"V™h; fodkl ifj"knsph Hkwfedk

(3) fu;kstu vk;ksx

(4) tkxfrdhdj.kkps Lo:i-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(1) dsaÊh; «ksdlsok vk;ksxkph jpuk

(2) izfðk{k.kkps izdkj lkaxk

(3) jk"V™h; efg«k vk;ksxkP;k fðkQkjðkh

(4) Hkkjrkrh« fu;kstu vk;ksxkph jpuk

(5) jkT; jk[kho iks«hl n«kph Hkwfedk

(6) mnkjhdj.k-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) %

[30]

(1) jkT; «ksd lsok vk;ksxkph dkes Li"V djk-

(2) bZ&ðkklukpk vFkZ vkf.k egRo Li"V djk-

(3) Hkkjrkrh« vankti=dh; izfÿ;k Li"V djk-
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(4) Lo;alsoh la?kVukph dkes uewn djk-

(5) dk;nk o lqO;oLFks okcr x`gea=k«;kph Hkwfedk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) jktdh; dk;Zdkjh izeq[k o izðkkldh; dk;Zdkjh izeq[k ;kP;karh« laca/k Li"V

djk-

(2) «ksdik« o «ksdk;qDrkph Hkwfedk Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain factors of attitude.

(2) What is schemas ?

(3) What is observation ?

(4) What is communication ?

2. Write short notes in 100 words each (any four) : [20]

(1) Discussion skills

(2) Mate selection

(3) Correlational method

(4) Self-awareness

(5) Verbal and non-verbal communication.

(6) Interpersonal attraction.

P.T.O.
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3. Answer any three questions in 200 to 250 words each : [30]

(1) What is prejudice ? Explain causes of prejudice.

(2) Explain triangular theory of love.

(3) Explain various theories of Social Psychology.

(4) Explain basic sources of attribution error.

(5) Explain the formation and functions of ‘self’.

4. Answer any one of the following questions in 500 words : [20]

(1) What is compliance ? Explain techniques of compliance.

(2) Describe the behaviour in the presence of others.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) vfHko`Ÿkhps ?kVd Li"V djk-

(2) vkœrhca/k Eg.kts dk; \

(3) fujh{k.k Eg.kts dk; \

(4) laizs"k.k Eg.kts dk; \

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) %  [20]

(1) ppkZRed dkSðkY;

(2) tksMhnkjkph fuoM

(3) lglaca/kkRed iºrh

(4) Lo&tk.kho

(5) ðkkfCnd o vðkkfCnd laizs"k.k

(6) vkarjoS;fDrd vkd"kZ.k-
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3. [kk«h«iSdh dks.krsgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) iwoZxzg Eg.kts dk; \ iwoZxzgkph dkj.ks Li"V djk-

(2) izsekpk f=dks.k flºkar Li"V djk-

(3) lkekftd ekulðkkL=kps flºkar Li"V djk-

(4) vkjksi.kkph eq«Hkwr mxeLFkkus o izekn Li"V djk-

(5) ^Lo* ph fufeZrh o dk;sZ Li"V djk-

4. [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) vuqik«u Eg.kts dk; \ vuqik«ukph ra=s Li"V djk-

(2) brjkaP;k mifLFkrhe/;s ds«sY;k orZukaps fofo/k ?kVd Li"V djk-
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is psychology of adjustment ?

(2) State anxiety disorder.

(3) What is Health Psychology ?

(4) What are the emotional responses to stress ?

2. Write short notes in 100 words each (any four) : [20]

(1) Roots of Happiness

(2) Sexual Harassment

(3) Catatonic Schizophrenic disorder

(4) Placebo Research

(5) Conflict as a stress

(6) Smoking and drinking.

P.T.O.
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3. Answer any three questions in 200 to 250 words each : [30]

(1) Discuss on Bandura’s social learning theory.

(2) Explain career choice model of Holland.

(3) Describe the various personality disorders.

(4) What is stress ? Explain major types of stress.

(5) Explain the relationship between Behaviour and AIDS.

4. Answer any one of the following questions in 500 words : [20]

(1) What is divorce ? Discuss the effects of divorce.

(2) Illustrate appraisal-focused constructive coping style.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vko';d vkgs-

(ii) mtohdMh« vad xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) lek;kstukps ekul'kkL= Eg.kts dk; \

(2) fpark foœrhph ekfgrh |k-

(3) vkjksX; ekul'kkL= Eg.kts dk; \

(4) rk.kkyk dks.kdks.kR;k Hkkofud izfrfÿ;k fnY;k tkrkr \

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik fygk (dks.krsgh pkj) %  [20]

(1) vkuankph rRos

(2) ySafxd Nˇ



[4701]-247 3 P.T.O.

(3) dWVWVkWfud fLd>ks›sfud foœrh

(4) Iyslcks la'kks/ku

(5) la?k"kZ % ,d rk.k

(6) /kqeziku vkf.k en~;iku-

3. [kk«hy iz'ukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar fygk (dks.kR;kgh rhu) % [30]

(1) ckaMwjk ;kaP;k ^lkekftd v/;;u flºkarkoj* ppkZ djk-

(2) ^gkWyaM&dfjvj fuoM* izk:i Li"V djk-

(3) fofo/k O;fDreRo foœrhaps o.kZu djk-

(4) rk.k Eg.kts dk; \ rk.kkps eq[; izdkj Li"V djk-

(5) orZu vkf.k ,Ml~ ;kaP;krhy laca/k Li"V djk-

4. [kkyhyiSdh ,dk iz'ukaps 500 ðkCnkar mŸkj fygk % [20]

(1) ?kVLQksV Eg.kts dk; \ ?kVLQksVkP;k ifj.kkekaph ppkZ djk-

(2) ewY;kadudsafÊr jpukRed izfr;kstu&'kSyh lksnkgj.k Li"V djk-
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[4701]-247

(S-1 : Abnormal Psychology and Therapeutic Interventions)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is abnormal behaviour ?

(2) What is psychotherapy ?

(3) What is aversion ?

(4) State token economy.

2. Write short notes in 100 words each (any four) : [20]

(1) ICD-10

(2) Catatonic schizophrenia

(3) Therapeutic relationship

(4) Emotional personality disorders

(5) Modelling

(6) Gestalt therapy.

3. Answer any three questions in 200 to 250 words each : [30]

(1) Discuss Psychoanalytic approach.

(2) Explain Psychotic disorders.

(3) Explain the need for psychotherapy.

(4) Describe anxious and fearful personality disorders.

(5) Illustrate client-centered therapy.
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4. Answer any one of the following questions in 500 words : [20]

(1) What is Phobia ? Explain various types of Phobia.

(2) Illustrate marital therapy and family therapy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vko';d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) euksfoœr orZu Eg.kts dk; \

(2) ekulksipkj Eg.kts dk; \

(3) ijko`Ÿkh@otZu Eg.kts dk; \

(4) izfrdkRed ikfjrksf"kd izfÿ;k lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik fygk (dks.krsgh pkj) %  [20]

(1) vk;-lh-Mh- 10

(2) d"Vor Luk;qtMrktU; fNUueuLdrk

(3) mipkjd&#X.k laca/k

(4) Hkkofud O;fDreRo foœrh

(5) izfr:i vuqlj.k

(6) lexzoknh mipkj-

3. [kk«hy iz'ukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar fygk (dks.kR;kgh rhu) %

[30]

(1) euksfo'ys"k.kkRed n`"Vhdksukph ppkZ djk-

(2) euksfof{kIrh foœrh Li"V djk-
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(3) fparkÿkar vkf.k Hk;xzLr O;fDreRo foœrhaps o.kZu djk-

(4) ekulksipkjkph xjt Li"V djk-

(5) #X.kdsaÊhr mipkjiºrh lksnkgj.k Li"V djk-

4. [kkyhyiSdh ,dk iz'ukps mŸkj 500 ðkCnkar fygk % [20]

(1) nqfHkZrh Eg.kts dk; \ nqfHkZrhps fofo/k izdkj Li"V djk-

(2) fookg mipkj iºrh vkf.k dqVwac mipkj iºrh lksnkgj.k Li"V djk-
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(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(1) Explain the roots of language development in infancy.

(2) Explain the ‘self-concept’ in middle childhood.

(3) Explain the various effective parenting styles.

(4) State the problems of working women.

2. Write short notes in 100 words each (any four) : [20]

(1) Information processing approach in middle childhood.

(2) Problems of adolescence.

(3) Various plays in preschool years.

(4) Various diseases in middle adulthood.

(5) Sensory development in Infancy.

(6) Menopause in women.

P.T.O.
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3. Answer any three questions in 200 to 250 words each : [30]

(1) Discuss the physical growth in preschool years.

(2) Describe the daily life of late adulthood.

(3) Explain the relationship between school and middle childhood.

(4) Explain the various stages of life span development.

(5) Explain the functions of marriage in early adulthood.

4. Answer any one question in 500 words : [20]

(1) Describe the primary and secondary sex characteristics in

adolescence.

(2) What is development ? Describe the factors affecting prenatal

development.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) fðkðkwaP;k Hkkf"kd fodklkph eqˇs Li"V djk-

(2) e/; ckY;koLFksrh« ^Lo ladYiuk* Li"V djk-

(3) ifj.kkedkjd ik«dRo ðkS«h Li"V djk-

(4) uksdjhdj.kkÚ;k fL=;kaP;k leL;k Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) e/; ckY;koLFksrh« ekfgrh laLdj.k izk:i

(2) fdðkksjkoLFksrh« leL;k

(3) iwoZ&ðkk«s; o;krh« [ksˇ

(4) e/; izkS<+koLFksrh« fofo/k fodkj

(5) uotkrkpk osnfud fodkl

(6) fL=;kae/kh« jtksfuo`Ÿkh-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) iwoZ&ðkk«s; o;krh« ðkkjhfjd ok<hph ppkZ djk-

(2) o`ºkaph nSuafnuh o.kZu djk-

(3) ðkkˇk vkf.k e/;ckY;koLFkk ;kaP;krh« laca/k Li"V djk-

(4) thoud{kk fodklkrh« fofo/k VIis o.kZu djk-

(5) iwoZ izkS<+koLFksrh« fookgkph dk;sZ Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) fdðkksjkoLFksrh« izkFkfed o nq∏;e «Safxd «{k.ks Li"V djk-

(2) fodkl Eg.kts dk; \ tUeiwoZ fodklkoj ifj.kke dj.kkjs ?kVd Li"V djk-
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[4701]-248

(S-2 : Positive Psychology and Counselling Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions in 50 words each : [10]

(1) Explain Traditional Psychology.

(2) Describe successful aging.

(3) Explain resilience in childhood.

(4) Describe the counselling process with older adults.

2. Write short notes in 100 words each (any four) : [20]

(1) Person centred counselling.

(2) Positive youth development.

(3) Life tasks of adulthood.

(4) Emotional intelligence.

(5) Assessment of children.

(6) Trait factor counselling.

3. Attempt any three questions in 200 to 250 words each : [30]

(1) Explain the relationship between optimism and well-being.

(2) Describe the importance of communication with children.

(3) Explain the characteristics of older adult as a client.

(4) Describe the relationship between positive emotions and

well-being.

(5) Explain the cognitive counselling.
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4. Attempt any one question in 500 words : [20]

(1) What is happiness ? Describe the determinants and measurement

techniques of happiness.

(2) Define counselling. Explain the stages of counselling process.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) ikjaikfjd ekulðkkL= Li"V djk-

(2) ;ðkLoh o`ºkoLFkk o.kZu djk-

(3) ckY;koLFksrh« vkuanho`Ÿkh Li"V djk-

(4) o;Ld izkS<kaP;k ckcrhr leqinsðku izfÿ;sps o.kZu djk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) O;Drh&dsafÊr leqinsðku

(2) ldkjkRed ;qok fodkl

(3) o;Ld izkS<kph thou dk;sZ

(4) Hkkofud cqfºeŸkk

(5) ck«dkaps dk;Zekiu

(6) xq.krRo&?kVd leqinsðku-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) vkðkkokn vkf.k [kqðkkˇh ;kaP;krh« laca/k Li"V djk-

(2) ckˇdkacjkscjhˇ laoknkps egRo o.kZu djk-
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(3) ,d lY«kFkhZ Eg.kwu o;Ld izkS<kph oSfðk"Vs Li"V djk-

(4) ldkjkRed Hkkouk vkf.k [kqðkk«h ;kaP;krh« laca/k o.kZu djk-

(5) cks/kkRed leqinsðku Li"V djk-

4. [kk«h« izðukpk 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) vkuanho`Ÿkh Eg.kts dk; \ vkuanho`Ÿkhps ?kVd vkf.k ekiu ra= o.kZu djk-

(2) leqinsðku O;k[;k |k- leqinsðku izfÿ;sP;k voLFkk Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-249

S.Y. B.A. EXAMINATION, 2015

GANDHIAN THOUGHT

General Paper II

(Social-Political and Religious Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain the role of Gram Panchayat in Gandhiji’s Idea of Panchayat

Raj.

(2) State and explain Gandhiji’s conception of Vaishnavjana.

(3) Explain Gandhiji’s views on Village industries.

(4) Explain Gandhiji’s criticism on Traditional Varna system.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Gandhiji’s Idea of Dignity of Labour

(2) Functions of the state

P.T.O.



[4701]-249 2

(3) Spiritualization of politics

(4) Trusteeship

(5) Gandhiji’s conception of Swarajya.

(6) Non-violent social change.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) Explain the various techniques of Satyagraha advocated by

Gandhiji.

(2) Bring out the importance of small scale industries in social

change.

(3) Explain the significance of Gandhiji’s idea of ideal society (Ram-

Rajya).

(4) Explain Gandhiji’s critique of totalitarianism and commu-

nism.

4. Answer any one of the following question in 500 words : [20]

(1) Explain Gandhiji’s view on Satyagraha as a techniques of Mass-

movement in political and social life.

(2) Explain and critically evaluate Gandhiji’s Eighteen Point

Constructive programme for social reconstruction.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) xka/khthaP;k iapk;rjkt ladYiusrh« xzkeiapk;rhph Hkwfedk FkksMD;kr Li"V djk-

(2) xka/khthph oS".kotu ladYiuk FkksMD;kr Li"V djk-

(3) xka/khthaph xzkeks|ksx ladYiuk Li"V djk-

(4) ikjaikfjd o.kZO;oLFksojh« xka/khthph Vhdk Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) %  [20]

(1) xka/khthaph Jeizfr"Bsph ladYiuk

(2) jkT;kph dk;sZ (dkes)

(3) jktdkj.kkps vk/;kfRedj.k

(4) foðoLrrk

(5) xka/khthaph LojkT; ladYiuk

(6) vfgald lekt ifjorZu-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) %  [30]

(1) xka/khthauh lkafxr«s«h lR;kxzgkph fofo/k ra=s Li"V djk-

(2) lkekftd ifjorZukrh« «?kqm|ksxkps egRo Li"V djk-

(3) xka/khthaP;k vknðkZlekt (jkejkT;) ladYiusps egRo foðkn djk-

(4) xka/khthaph ,dkf/kdkjðkkgh vkf.k lkE;oknkojh« Vhdk Li"V djk-
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4. 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) xka/khthapk lkekftd vkf.k jktdh; thoukrh« lkekftd pˇoˇhps ,d ra=

Eg.kwu lR;kxzgkpk n`"Vhdksu Li"V djk-

(2) xka/khthapk lkekftd iqujZpusrh« vBjk d«ehfo/kk;d dk;Zÿe lkaxwu R;kps

ewY;ekiu djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-250

S.Y. B.A. EXAMINATION, 2015

YOGVIDYA

General Paper II

(Yogachi Sarvangeen Baithak)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words :  [5]

(1) State the benefits of Meditation.

(2) State the benefits of Pranayama.

2. Write short notes on (any two) : [10]

(1) Hathyog

(2) Bhramari Pranayam

(3) Jalneti

(4) Vibhutipad.

P.T.O.



[4701]-250 2

3. Answer any two questions from the following in 200 to 250 words

each : [15]

(1) State the types, precautions and benefits of Shuddhi Kriya.

(2) Explain the importance of Yoga in human life.

(3) Discuss personality development and Yoga Science.

4. Attempt any one question in detail : [10]

(1) Write the meaning of mental health and explain correlation

with Yoga Science.

(2) What is Bhartiya Darshan Shastra ? Explain the Charvak Darshan.

(ejkBh :ikarj)

osˇ % nksu rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krkgh ,dkps 50 ðkCnkar Li"Vhdj.k |k %  [5]

(1) /;kukps egRo lkaxk-

(2) izk.kk;kekps egRo lkaxk-

2. FkksMD;kr Vhik |k (dks.krsgh nksu) %  [10]

(1) gB;ksx

(2) Hkzkejh izk.kk;ke

(3) t«usrh

(4) foHkwrhikn-
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3. [kk«h«iSdh dks.krsgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkar mŸkj |k %  [15]

(1) ðkqfºfÿ;kaps izdkj lkaxwu n{krk o «kHk lkaxk-

(2) ekuoh thoukr ;ksxkps egRo Li"V djk-

(3) O;fDreRo fodkl vkf.k ;ksxðkkL=µppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dkps lfoLrj mŸkj |k % [10]

(1) ekufld LokLF;kpk vFkZ lkaxwu ;ksxðkkL=kpk lglaca/k Li"V djk-

(2) Hkkjrh; nðkZuðkkL=s Eg.kts dk; \ pkokZd nðkZukph lfoLrj ekfgrh |k-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-251

S.Y. B.A. EXAMINATION, 2015

HISTORY OF CIVILIZATION

General Paper II

(Indian Culture)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State in brief the importance of Indian culture.

(2) Write in brief the ‘Harappan Religion’.

(3) State the importance of Ancient Indian Sacraments.

(4) What is Information Technology ?

2. Write short notes in 100 words each (any four) : [20]

(1) Proto-historic period

(2) Extent of Buddhism

P.T.O.
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(3) Sikhism

(4) Ancient paintings

(5) Satyashodhak Samaj

(6) Space Technology.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) State the salient features of Ancient Indian Culture.

(2) Write in detail the demerits of the Varna and Caste

System.

(3) Take a brief review of the Philosophy of Jainism.

(4) Discuss the social contribution of Bhakti Movement.

(5) Take a review of the Medieval Architecture.

4. Answer any one of the following questions in 500 words : [20]

(1) Discuss the sources for the study of Ancient Indian

Culture.

(2) Describe the contribution of Arya Samaj and Ramakrishna Mission

in Socio-Religious Reform Movement.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.kR;kgh nksu) %  [10]

(1) Hkkjrh; laLœrhps egRo FkksMD;kr lkaxk-

(2) ^gM+Iikdk«hu /keZ* FkksMD;kr f«gk-

(3) izkphu Hkkjrh; laLdkjkaps egRo lkaxk-

(4) ekfgrh ra=Kku Eg.kts dk; \

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) %  [20]

(1) bfrgkl iwoZdkˇ

(2) ckSº/kekZpk foLrkj

(3) ðkh[k /keZ

(4) izkphu fp=d«k

(5) lR;ðkks/kd lekt

(6) vodkðk ra=Kku-

3. [kk«h«iSdh izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) %

[30]

(1) izkphu Hkkjrh; laLœrhph Bˇd oSfðk"VÓs lkaxk-

(2) o.kZ vkf.k tkrhO;oLFksps nks"k lfoLrj f«gk-
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(3) tSu /kekZP;k rŸoKkukpk FkksMD;kr vk<kok ?;k-

(4) HkDrh pˇoˇhP;k lkekftd ;ksxnkukph ppkZ djk-

(5) e/;;qxhu dkˇkrh« LFkkiR;d«spk vk<kok ?;k-

4. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) izkphu Hkkjrh; laLœrhP;k vH;klkP;k lk/kukaph ppkZ djk-

(2) lekt o /keZlq/kkj.kk pˇoˇhrh« vk;Zlekt o jkeœ".k feðku ;kaps ;ksxnku

o.kZu djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-252

S.Y. B.A. EXAMINATION, 2015

HOME ECONOMICS

(G-2 : Sociology of Family)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]

(i) Nuclear family

(ii) Head of the family

(iii) Socialisation

(iv) Marriage.

2. Write short notes in 100 words each (any four) : [20]

(i) Nature of family

P.T.O.
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(ii) Importance of sociology

(iii) Family disorganisation

(iv) Family welfare

(v) Types of marriage

(vi) Socialisation of child.

3. Answer the following questions in 200 words each (any three) : [30]

(i) Describe the basic development of human race.

(ii) Explain the role of government in family and child welfare

in Indian society.

(iii) Explain the merits and demerits of joint family.

(iv) Explain the importance of study of sociology for family life.

(v) Explain the functions of the family.

4. Answer any one of the following questions in 500 words :  [20]

(i) Write an essay on social legislation about marriage and family

in India after independence.

(ii) Explain the causes of family disintegration in rural and urban

sector in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« ladYiukph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) v.kq dqVaqc

(ii) dqVqac izeq[k

(iii) lkekftdhdj.k

(iv) fookg-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) dqVqackps Lo:i

(ii) lektðkkL=kps egRo

(iii) dqVaqckps foLFkkiu

(iv) dqVqac dY;k.k

(v) fookgkps izdkj

(vi) ck«dkaps lkekftdhdj.k-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh rhu)% [30]

(i) ekuoh oaðkkpk eq«Hkwr fodkl o.kZu djk-

(ii) Hkkjrh; lektkrh« ck« vkf.k L=hdY;k.kkrh« ðkklukph Hkwfedk Li"V djk-

(iii) ,d= dqVqac iºrhP;k Qk;nÓk&rksVÓkaph ppkZ djk-

(iv) lektðkkL=kP;k vH;klkps egRo dkSVqafcd thoukdfjrk Li"V djk-

(v) dqVqackph dk;sZ Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(i) Hkkjrkrh« Lokra´;k sŸkj dkˇkrh« fookg vkf.k dqVq acfo"k;d lkekftd

fo/ks;dkoj fuca/k f«gk-

(ii) Hkkjrh; xzkeh.k vkf.k ðkgjh Hkkxkrh« dqVqac fo?kVukph dkj.ks Li"V djk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+4

Seat

No. [4701]-253

S.Y. B.A. EXAMINATION, 2015

DEFENCE AND STRATEGIC STUDIES

[D.S. G-2(A) : India’s National Security]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What are the India’s internal security problems ?

(2) State the concept of national security.

(3) What are the objectives of SAARC ?

(4) Explain the concept of insurgency.

2. Write short notes in 100 words each (any four) : [20]

(1) Nuclear test, 1974

P.T.O.
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(2) MacMahon line

(3) Indian Naval Security

(4) Achievements of SAARC

(5) Nuclear agreement between India and U.S.A.

(6) Peaceful uses of nuclear power.

3. Answer in 200 to 250 words each (any three) :  [30]

(1) Explain the causes and measures of terrorism.

(2) State Indo-Soviet relations after disintegration of USSR.

(3) Explain the relation between India and China.

(4) Describe India’s nuclear policy since 1970.

(5) Discuss ‘Military power as a capability factor’.

4. Answer in 500 words each (any one) :  [20]

(1) Explain the determinants of Foreign Policy of India.

(2) Explain the Indo-Pak relations with special reference to the

Kashmir issue.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) Hkkjrh; varxZr lqj{ksP;k leL;k dks.kR;k \

(2) jk"V™h; lqj{ksph ladYiuk lkaxk-

(3) lkdZph mÌh"Vs dks.krh \

(4) foI«okph ladYiuk Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) 1974ph v.kqpkp.kh

(2) eWdeksgu js"kk

(3) Hkkjrh; ukfod lqj{kk

(4) lkdZps ;ðk

(5) Hkkjr&vesfjdk ukxjh vkf.od djkj

(6) v.kqðkDrhps ðkkarrke; mi;ksx-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) ngðkroknkph dkj.ks o mik; Li"V djk-

(2) lksfOg,r ;qfu;uP;k fo?kVukuarjps Hkkjr&jfðk;k laca/k lkaxk-

(3) Hkkjr vkf.k phups laca/k Li"V djk-

(4) 1970 iklwuP;k HkkjrkP;k laj{k.k /kksj.kkps ewY;ekiu djk-

(5) ^«"djh ðkDrh* gk ,d lkeF;Zoku ?kVd vkgs* ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(1) HkkjrkP;k ijjk"V™h; /kksj.kkps ?kVd Li"V djk-

(2) dkðehj izðuk«k vuql:u Hkkjr&ikd laca/k Li"V djk-



[4701]-253 5 P.T.O.

[4701]-253

[(D.S. G-2 (B) : Cold War]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the emergence of cold war.

(2) What are the objectives of NATO Pact ?

(3) Explain the SEATO Pact.

(4) Explain the causes of New Cold War.

2. Write short notes in 100 words each (any four) : [20]

(1) Mikhail Gorbachev

(2) Brussels conference

(3) Truman

(4) New Cold War
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(5) Concept of cold war

(6) Cominform created.

3. Answer in 200 to 250 words each (any three) :  [30]

(1) Evaluate the Truman doctrine.

(2) Explain the causes of cold war.

(3) State the causes of Soviet intervention in Afghanistan.

(4) Discuss American view about Cuban missile crisis.

(5) Explain the effects of disintegration of Soviet Union.

4. Answer any one of the following questions in 500 words :  [20]

(1) Explain in detail the Warsaw pact.

(2) What is detente ? Explain its developments.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-
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1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ðkhr ;qºkpk mn; Li"V djk-

(2) ukVks djkjkph mfÌ"Vs dk; vkgsr \

(3) flvWVks (SEATO) djkj Li"V djk-

(4) ufou ðkhr ;qºkph dkj.ks Li"V djk-

2. izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) fe[kkbZ« xksckZpsOg

(2) czqlsYl ifj"kn

(3) V™qeu

(4) ufou ðkhr ;qº

(5) ðkhr ;qºkph ladYiuk

(6) dksfeuQkWeZph fufeZrh-

3. izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) %  [30]

(1) V™qeu flºkarkps eqY;ekiu djk-

(2) ðkhr ;qºkph dkj.ks Li"V djk-
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(3) vQxkf.kLrkukr lksfOg,r jfðk;kP;k gLr{ksikph dkj.ks lkaxk-

(4) D;qcu {ksi.kkL= la?k"kkZckcr vesfjdu n`"Vhdksukckcr ppkZ djk-

(5) lksfOg,r jfðk;kP;k fo?kVukps ifj.kke Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkj f«gk %  [20]

(1) oklkZ djkj lfoLrj Li"V djk-

(2) r.kkoðkSfFkY; Eg.kts dk; \ R;kpk fodkl Li"V djk-



[4701]-253 9 P.T.O.

[4701]-253

[D.S. G-2 (C) : Evolution of Strategic Thought]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the concept of strategy by Clausewitz.

(2) State the concept of total war by Ludendorff

(3) What are the J.F.C. Fuller’s principles of war ?

(4) According to Moltke what is the role of commander in

war.

2. Write short notes on 100 words each (any four) : [20]

(1) Jomini

(2) Dupica
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(3) Liddle Hart

(4) Mao Zedong

(5) Karl Haushopher

(6) Marshal Foch.

3. Answer in 200 to 250 words each (any three) :  [30]

(1) Explain theory of air power by Douhet.

(2) State Dupica’s thought regarding war.

(3) Explain theory of sea power by A.T. Mahan.

(4) Describe thought of Mao Zedong about Guerrilla

strategy.

(5) State geopolitical thought by Karl Haushopher.

4. Answer the 500 words each (any one) :  [20]

(1) Describe strategic thought of Liddle Hart.

(2) Explain Heartland theory by Mackinder.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) D«kWtfoV~lph ^;qº /kksj.k* gh ladYiuk Li"V djk-

(2) «wMsuMkWQZph ^lo±d"k ;qº* gh ladYiuk lkaxk-

(3) ts- ,Q- lh- Qq«j ;kaph ;qº rRos dks.krh \

(4) eksYVds ;kaP;k ers lsukirhph ;qºkrh« Hkwfedk dks.krh \

2. izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) tkWfeuh

(2) Mwfid

(3) f«M« gkVZ

(4) ekvks >sMk°x

(5) dk«Z gkSðkksQj

(6) ekðkZ« Qksp-
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3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krhgh rhu) %  [30]

(1) MwgsV ;kapk ^gokbZ ðkDrhpk flºkar* Li"V djk-

(2) Mwfid ;kaps ;qº fo"k;hps fopkj lkaxk-

(3) vWMfej« ,-Vh- egku ;kapk ^lkxjh lŸkspk flºkar* Li"V djk-

(4) ekvks >sMk°x ;kaps ^xfueh ;qºfurh* laaca/khps fopkj foðkn djk-

(5) dk«Z gkSðkksQj ;kaps ^Hkwjktf.krhd* fopkj lkaxk-

4. 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) f«M« gkVZ ;kaps ^lkefjd fopkj* foðkn djk-

(2) eWfdUMj ;kapk ^eeZHkweh flºkar* Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-254

S.Y. B.A. EXAMINATION, 2015

DEFENCE AND STRATEGIC STUDIES

[D.S. S.1 (A) : International and Regional Organisation)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Give the objectives of European Union.

(2) What are the basic principles of UN Charter ?

(3) Explain the structure of SAARC.

(4) State the functions of ASEAN.

2. Write short notes in 100 words each (any four) : [20]

(1) Security Council

P.T.O.
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(2) Objectives of NAFTA

(3) SAARC

(4) Future of UN

(5) Human Rights

(6) Peaceful settlement of disputes.

3. Answer in 200 to 250 words each (any three) :  [30]

(1) Describe the UN contribution in Human Rights.

(2) Explain the structure and functions of European Union.

(3) Describe the role of the UN in the field of social issues.

(4) Explain the structure of ASEAN.

(5) State the powers and functions of Security Council.

4. Answer any one of the following questions in 500 words :  [20]

(1) Describe the hindrances and suggestions in the working of

the UN.

(2) Explain the structure and functions of NAFTA.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nks) % [10]

(1) ;qjksfi;u ;qfu;uph mfÌ"Vs lkaxk-

(2) la;qDr jk"V™kaP;k lunsph eq«Hkwr rŸos dk; vkgsr \

(3) lkdZph jpuk Li"V djk-

(4) vkfðk;kuph dk;sZ lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) lqj{kk ifj"kn

(2) uk∂rkph mfÌ"Vs

(3) lkdZ

(4) ;quksps HkforO;

(5) ekuoh gDd

(6) izðu lksMfo.;kps ðkkarrke; ekxZ-
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3. izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) %  [30]

(1) la;qDr jk"V™kps ekuoh gDdkrh« ;ksxnku foðkn djk-

(2) ;qjksfi;u ;qfu;uph jpuk vkf.k dk;sZ Li"V djk-

(3) lkekftd {ks=krh« la;qDr jk"V™kaph Hkwfedk foðkn djk-

(4) vkfðk;kuph jpuk Li"V djk-

(5) lqj{kk lferhps vf/kdkj vkf.k dk;sZ lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkr mŸkjs f«gk %  [20]

(1) la;qDr jk"V™kaP;k dk;kZrh« vMFkˇs o mik; foðkn djk-

(2) uk∂Vkph jpuk vkf.k dk;sZ Li"V djk-
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[4701]-254

[D.S. S-1 (B) : India and Her Neighbours]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What are the problems of SAARC ?

(2) Explain the causes of Kargil Operation.

(3) What is India’s Geostrategic location ?

(4) State the lessons of 1965 war.

2. Write short notes in 100 words each (any four) : [20]

(1) Causes of 1965 war

(2) Problem of Tibet

(3) Geostrategic importance of Bhutan

(4) Simla Pact

(5) India’s Eastern Land Border

(6) Role of Airforce in Bangla Desh war.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) Describe India’s role in the Sri Lankan Ethnic

conflict.

(2) Explain India’s role in SAARC.

(3) Explain the role of Indian Navy in the war of 1971.

(4) Describe the co-operation between India and

Myanmar.

(5) Describe in detail India and Nepal relations.

4. Answer in 500 words each (any one) :  [20]

(1) Describe the India-China relations since 1990.

(2) Explain the factors of India’s National power.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-
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1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) lkdZP;k leL;k dks.kR;k \

(2) dkjxh« la?k"kkZph dkj.ks Li"V djk-

(3) Hkkjrkps Hkwlkefjd LFkku dk; vkgs \

(4) 1965P;k ;qºkrwu feˇk«s«s /kMs lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) 1965P;k ;qºkph dkj.ks

(2) frcsVph leL;k

(3) Hkwrkups Hkwlkefjd egŸo

(4) fle«k djkj

(5) Hkkjrkph iwoZ Hkwlhek

(6) ckax«k nsðk ;qºkrh« gokbZ lsusph Hkwfedk-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) %  [30]

(1) Jh«adsrh« okafðkd la?k"kkZrh« HkkjrkP;k Hkwfedsps o.kZu djk-

(2) lkdZ e/kh« Hkkjrkph Hkwfedk Li"V djk-
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(3) 1971P;k ;qºkrh« HkkjrkP;k ukSn«kph Hkwfedk Li"V djk-

(4) Hkkjr vkf.k E;kuekj e/kh« lgdk;Z foðkn djk-

(5) Hkkjr vkf.k usikˇ laca/kkps lfoLrj o.kZu djk-

4. izR;sdh 500 ðkCnkr ,dkps mŸkj f«gk %  [20]

(1) 1990 iklwuP;k Hkkjrµphu laca/kkps o.kZu djk-

(2) Hkkjrh; jk"V™h; ðkDrhps ?kVd Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-255

S.Y. B.A. EXAMINATION, 2015

DEFENCE AND STRATEGIC STUDIES

[D.S. S-2 (A) : Defence Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What are the functions of Estimate Committee ?

(2) State the external threats of India’s security.

(3) What are the effects of inflation ?

(4) State the scope of economic warfare.

2. Write short notes in 100 words each (any four) : [20]

(1) Price control

P.T.O.
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(2) Importance of development

(3) Types of loans

(4) Post-war problems

(5) Defence budget

(6) Means of war finance.

3. Answer in 200 to 250 words each (any three) :  [30]

(1) Describe the effects of war on economic structure.

(2) Explain the aims and functions of Public Accounts Committee.

(3) What are the main problems of wartime economy ?

(4) Explain the causes of increasing defence expenditure of

India.

(5) Contrast between defence and development.

4. Answer any one in 500 words :  [20]

(1) Analyse the defence expenditure of India from 1947 to

update.

(2) Describe in detail the economic warfare.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh mŸkjs 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) vankt lferhph dk;sZ dks.krh \

(2) HkkjrkP;k lqj{ksps cfgxZr /kksds lkaxk \

(3) p«uok<hps ifj.kke dks.krs \

(4) vkfFkZd ;qº iºrhph O;kIrh lkaxk-

2. izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) fdaer fu;a=.k

(2) fodklkps egRo

(3) dtkZps izdkj

(4) ;qºksŸkj leL;k

(5) laj{k.k vankti=d

(6) ;qº foŸkkph lk/kus-



[4701]-255 4

3. izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) %  [30]

(1) ;qºkps vkfFkZd {ks=kojh« ifj.kke foðkn djk-

(2) lkoZtfud «s[kk lferhph mfÌ"Vs o dk;sZ Li"V djk-

(3) ;qºdk«hu vFkZO;oLFksP;k izeq[k leL;k dks.kR;k \

(4) HkkjrkP;k laj{k.k [kpkZr ok< gks.;kph dkj.ks Li"V djk-

(5) laj{k.k vkf.k fodkl ;krh« Qjd Li"V djk-

4. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk %  [20]

(1) b-l- 1947 rs vkti;±rP;k HkkjrkP;k laj{k.k [kpkZps foð«s"k.k djk-

(2) vkfFkZd ;qºiºrhps lfoLrj o.kZu djk-
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[4701]-255

[D.S. S-2 (B) : Military Psychology and Sociology]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the social aspects of Victory.

(2) State the effects of war on society.

(3) What are the functions of a leader ?

(4) State the social causes of war.

2. Write short notes in 100 words each (any four) : [20]

(1) Civil military relations

(2) Emotional problems during war

(3) Personality test
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(4) Motivation and training

(5) Human rights

(6) Morale in the Armed Forces.

3. Answer in 200 to 250 words each (any three) : [30]

(1) State the impact of rumours on society.

(2) Discuss the image of soldier in different societies

(3) Describe the concept of defence.

(4) Explain the role of Armed Forces in promoting nation

building.

(5) Explain the characteristics of Armed Forces.

4. Answer any one in 500 words :  [20]

(1) What are the uses of psychology in defence

problems ?

(2) Discuss ‘Military organisation as a rationality disciplined

group”.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) fot;kpk lkekftd n`"Vhdksu Li"V djk-

(2) lektkoj gks.kkjs ;qºkps ifj.kke lkaxk-

(3) usr`Rokph dk;sZ dks.krh \

(4) ;qºkph lkekftd dkj.ks lkaxk-

2. izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) ukxjh&«"djh laca/k

(2) ;qº dkˇkrh« Hkkofud leL;k

(3) O;DrheRo pkp.kh

(4) izsj.kk vkf.k Vs™fuax

(5) ekuoh gDd

(6) lðkL= lsukn«krh« euks/kS;Z-
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3. izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) %  [30]

(1) vQokapk lektkojh« ifj.kke lkaxk-

(2) fofo/k lekt ?kVdkrh« lSfudkaP;k izfrekaph ppkZ djk-

(3) laj{k.kkph ladYiuk foðkn djk-

(4) jk"V™ mHkkj.khP;k dk;kZrh« lðkL= lsukn«kaph Hkwfedk Li"V djk-

(5) lðkL= n«kph oSfðk"Vs Li"V djk-

4. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk %  [20]

(1) laj{k.k leL;ke/kh« ekulðkkL=kps mi;ksx dks.krs \

(2) «"djh la?kVuk ,d /;s;oknh fðkLrcº xV vkgs \ ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-256

S.Y. B.A. EXAMINATION, 2015

SOCIAL WORK

(General)

(i) Introduction : Fields of Social Work

(ii) Population Education

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate marks.

1. Answer any two of the following in 50 words each : [10]

(i) Explain the concept of tribal sub-plan.

(ii) List out the various welfare programmes for the aged.

(iii) State the merits of reservations for women in Local Self-

Government.

(iv) State the functions of Medical Social Worker.

P.T.O.



[4701]-256 2

2. Answer any four of the following in 100 words each : [20]

(i) Discuss in brief the trends of population growth in

India.

(ii) Discuss in detail the merits and demerits of large size

family.

(iii) Describe the impact of unemployment on society.

(iv) Prepare a note on health problems of rural areas.

(v) List out major problems of urban areas.

3. Answer any three of the following in 200 to 250 words each : [30]

(i) Describe the welfare programmes for the aged.

(ii) Write a detailed note on ‘Labour Welfare’.

(iii) Prepare a note on “Integrated Child Development

Scheme’.

(iv) Discuss in detail, Population Education.

(v) Discuss the causes and effects of poor standard of

living.
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4. Answer any one of the following in 500 words :  [20]

(i) Write an essay on ‘Child Welfare’.

(ii) Write an essay on ‘Population Growth and Development’.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) vkfnoklh mi&;kstuk ladYiuk foðkn djk-

(ii) o`ºkalkBhP;k fofo/k dY;k.kdkjh dk;Zÿekaph ;knh r;kj djk-

(iii) LFkkfud LojkT; laLFkke/kh« fL=;kalkBh vkj{k.kkps Qk;ns foðkn djk-

(iv) oS|fd; lektdk;ZdR;kZph dk;sZ foðkn djk-

2. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(i) Hkkjrkrh« «ksdla[;k ok<hps izokg ;koj FkksMD;kr ppkZ djk-

(ii) eksBÓk vkdkjkP;k dqVqackps Qk;ns o rksVs ;koj lfoLrj ppkZ djk-
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(iii) csjkstxkjhpk lektkojh« ifj.kke ;kps o.kZu djk-

(iv) xzkeh.k Hkkxkrh« vkjksX; leL;kaoj fVi.kh r;kj djk-

(v) ukxjh Hkkxkrh« eq[; leL;kaph ;knh r;kj djk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnki;±r f«gk % [30]

(i) o`ºkalkBhP;k dY;k.kdkjh dk;Zÿekaps o.kZu djk-

(ii) dkexkj dY;k.kµlfoLrj fVi.kh fygk-

(iii) ,dkfRed ck« fodkl ;kstukµfVi.kh r;kj djk-

(iv) «ksdla[;k fðk{k.kµlfoLrj ppkZ djk-

(v) fu"œ"V jkg.khekukP;k ntkZph dkj.ks o ifj.kke ;koj ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk %  [20]

(i) ^ck«dY;k.k*µfuca/k f«gk-

(ii) ^«ksdla[;k ok< o fodkl*µfuca/k f«gk-



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-258

S.Y. B.A. EXAMINATION, 2015

COMMERCE (GENERAL)

(Business Accounting)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain various subsidiary books. [16]

Or

Journalise the following transactions : [16]

Jan. 1 Started business with cash Rs. 2,00,000

Jan. 5 Deposited cash into Bank Rs. 10,000

Jan. 8 Paid commission Rs. 500

Jan. 12 Cash sales Rs. 15,000

Jan. 16 Cash sales Rs. 20,000

Jan. 17 Cash purchases Rs. 10,000

Jan. 20 Paid for advertisement Rs. 1,000

Jan. 22 Withdrew Rs. 3,000 for personal use.

P.T.O.



[4701]-258 2

2. Describe objectives, utility and importance of Book-keeping. [16]

Or

Prepare Cash Book with Cash and Bank column : [16]

Nov. 1 Cash Balance Rs. 20,000

Nov. 1 Bank Balance Rs. 30,000

Nov. 5 Paid for Stationery 10,000

Nov. 8 Cash Purchases Rs. 30,000

Nov. 10 Cash Sales Rs. 60,000

Nov. 13 Received Cash of Rs. 2,000 from Ravi

Nov. 30 Deposited Cash into Bank Rs. 3,000

Nov. 30 Paid for Carriage Rs. 2,000

3. (a) State the objectives of Cost Accounting. [8]

(b) Describe limitations of Financial Accounting. [8]

Or

Explain in detail purchase procedure. [16]

4. Prepare Store Ledger Account on the basis of FIFO method : [16]

May 1 Opening Balance 200 Qty @ Rs. 40

May 5 Purchased Material 400 Qty @ Rs. 30

May 6 Purchased Material 100 Qty @ Rs. 20
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May 8 Issued 200 Qty

May 9 Material purchased 200 Qty @ Rs. 30

May 20 Issued 400 Qty

May 22 Material purchased 300 Qty @ Rs. 20

May 30 Issued 200 Qty

Or

Describe various types of overheads. [16]

5. Write short notes on (any four) : [16]

(a) Ledger

(b) Petty Cash Book

(c) Time Booking

(d) Trial Balance

(e) Balance Sheet

(f) Rules of Journalising.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-259

S.Y. B.A. EXAMINATION, 2015

G-2 : EDUCATION

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write the answer of the following questions in 50 words each

(any two) : [10]

(1) Write difference between growth and development.

(2) Write the importance of computer education.

(3) Describe the causes behind fatigue.

(4) State the objectives of secondary education.

2. Write short notes in 100 words each (any four) : [20]

(1) Problem solving method

(2) Social heredity

(3) Concept of forgetting

(4) Emotional development in infancy

(5) Shriniketan

(6) Thorndike’s law of learning.



[4701]-259 2

3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(1) Write the concept of ‘Basic Education’. Explain the features

of basic education.

(2) What is national integrity ? Explain the role of a school in

the development of national integrity.

(3) What is insight learning ? Describe the importance of insight

learning.

(4) Explain the importance of heredity and environment in the

development of a child.

(5) Write the concept of Open University. Explain the importance

of Open University.

(6) What is development ? Describe the features of process of

development.

4. Write the answers of any one of the following questions in

500 words : [20]

(1) What is memory ? What are the stages of memory ? Write

the ways of memory development.

(2) ‘School is a social institution.’ Explain the statement with

examples.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.kRksgh nksu) % [10]

(1) ok< o fodklkrh« Qjd f«gk-

(2) lax.kd fðk{k.kkps egRRo f«gk-

(3) FkdO;kph dkj.ks foðkn djk-

(4) ek/;fed fðk{k.kkph mn~fn"Vs f«gk-

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kRksgh pkj) % [20]

(1) leL;k fujkdj.k iºr

(2) lkekftd vuqoaðk

(3) foLej.kkph ladYiuk

(4) ckY;koLFksrh« Hkkofud fodkl

(5) Jhfudsru

(6) FkkWuZMkbZdps v/;;ufo"k;d fu;e-

3- [kk«h«iSdh izðukaph mŸkjs izR;sd 200 rs 250 ðkCnkar f«gk (dks.kRksgh rhu) % [30]

(1) eq«nÓksxh fðk{k.kkph ladYiuk lkaxwu eq«nÓksxh fðk{k.kkph oSfðk"VÓs Li"V

djk-
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(2) jk"V™h; ,dkRerk Eg.kts dk; \ jk"V™h; ,dkRersP;k fodklkr ðkk šph Hkwfedk

Li"V djk-

(3) eeZn`"Vhew«d v/;;u Eg.kts dk; \ eeZn`"Vhew«d v/;;ukps egRRo Li"V

djk-

(4) vuqoaðk o ifjfLFkrhps ck«dkaP;k fodklkrh« egRRo Li"V djk-

(5) eqDr fo|kihBkph ladYiuk lkaxwu eqDr fo|kihBkps egRRo Li"V djk-

(6) fodkl Eg.kts dk; \ fodkl izfÿ;sph oSfðk"VÓs Li"V djk-

4- [kk«h«iSdh dks.kRkkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Lej.k Eg.kts dk; \ Lej.k izfÿ;sps VIis dks.krs \ Le`fr fodklkps ekxZ

f«gk-

(2) ðkkˇk ,d lkekftd laLFkk vkgs \ gs fo/kku lksnkgj.k Li"V djk-
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Total No. of Questions—5] [Total No. of Printed Pages—8+4

Seat

No. [4701]-260

S.Y. B.A. EXAMINATION, 2015

MATHEMATICS

(FMG-2 : Operations Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of logarithmic table and calculator is allowed.

(iv) Graph papers will be supplied on demand.

1. Attempt the following : [16]

(i) Write the dual of the following LPP :

Max       z = 3x1 + x2 + 4x3

Subject to

x1 + 2x2 + x3 ≤ 3

4x1 – x2 ≥ 4

3x2 + 2x3 ≥ 5

x1, x2, x3 ≥ 0.



[4701]-260 2

(ii) Define :

(a) Artificial variable

(b) Surplus variable.

(iii) Explain the term ‘Redundant Constraint’.

(iv) Can there be multiple optimal solution to transportation

problem ?

(v) Explain the term ‘Sudden Failure’.

(vi) Give any two differences between CPM and PERT.

(vii) Define :

(a) Saddle point and

(b) Fair game.

(viii) State any two assumptions of the sequencing problem.

2. (A) Attempt any one of the following : [6]

(i) Solve the following LPP by graphical method :

Min      z = –x1 + 2x2

Subject to

–x1 + 3x2 ≤ 10

x1 + x2 ≤ 6

x1 – x2 ≤ 2

x1, x2, ≥ 0.
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(ii) Five new machines are to be located in a machine shop.

There are five possible locations in which the machines

can be located. The cost table is as follows :

A B C D E

I 15 10 25 25 10

II 1 8 10 20 2

III 8 9 17 20 10

IV 14 10 25 27 15

V 10 8 25 27 12

Find the optimal assignment.

(B) Attempt any one of the following : [10]

(i) Solve the following LPP by Big-M method :

Min    z = 4x1 + 3x2 + x3

Subject to

x1 + 2x2 + 4x3 ≥ 12

3x1 + 2x2 + x3 ≥ 8

x1, x2, x3 ≥ 0.
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(ii) Find the initial basic feasible solution for the following

transportation problem by VAM method :

Plan

Terminal A B C D Available

U 20 36 19 28 10

V 40 20 45 20 4

W 75 35 45 50 6

X 30 35 40 25 5

Demand 13 10 6 6

3. (A) Attempt any one of the following : [8]

(i) Solve the following LPP by Simplex method :

Max    z = 4x1 + 10x2

Subject to

2x1 + x2 ≤ 10

2x1 + 5x2 ≤ 20

2x1 + 3x2 ≤ 18

x1, x2 ≥ 0.
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(ii) Solve the following LPP by dual simplex method :

Min     z = 4x1 + 6x2 + 18x3

Subject to

x1 + 3x3 ≥ 3

x2 + 2x3 ≥ 5

x1, x2, x3 ≥ 0.

(B) Attempt any one of the following : [8]

(i) Solve the following game using principle of

dominance :

        Player B

B1 B2 B3 B4 B5 B6

1 4 2 0 2 1 1

2 4 3 1 3 2 2

Player A 3 4 3 7 –5 1 2

4 4 3 4 –1 2 2

5 4 3 2 –2 2 2
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(ii) Six jobs go over machine I first and then over machine

II. The following table gives the machine time in hours

for six jobs and two machines.

Jobs Machine I Machine II

A 5 7

B 9 4

C 4 8

D 7 3

E 8 9

F 6 5

Find the sequence of the jobs that minimizes total elapsed

time for corresponding jobs.

4. (A) Attempt any one of the following : [6]

(i) A company has a machine whose cost is Rs. 30,000. Its

maintenance cost and resale value at the end of different

years are as given below :

Year Maintenance Resale Value

Cost (Rs.) (Rs.)

1 4,500 27,000

2 4,700 25,300
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3 5,000 24,000

4 5,500 21,000

5 6,500 18,000

6 7,500 13,000

Determine at what age is the replacement due ?

(ii) Solve the following game by Dominance Principle :

Firm B

B1 B2 B3 B4

A1 15 35 25 5

Firm A A2 10 20 5 0

A3 20 50 10 5

A4 25 55 15 20

(B) Attempt any one of the following : [10]

(i) Draw the network corresponding to the following project.

Also determine the :

(a) Project duration
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(b) Critical path

(c) Total float of each activity.

Activity Duration

(Days)

1—2 2

2—3 8

2—4 10

3—5 6

3—6 3

4—5 3

4—7 7

5—8 5

6—8 2

7—8 8
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(ii) There are 7 jobs each of which has to go through

the machines M1, M2 and then M3 in the order

M1, M2, M3.

The processing times (in hours) are given below :

Jobs Machine I Machine II Machine III

A 3 4 6

B 8 3 7

C 7 2 5

D 4 5 11

E 9 1 5

F 8 4 6

G 7 3 12

Determine the sequence of these jobs that will minimize

the total elapsed time. Also find the idle time for each

machine.
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5. (A) Attempt any one of the following : [6]

(i) Solve the following game by graphical method :

Player B

B1 B2

A1 1 6

Player A A2 8 5

A3 5 4

A4 10 3

(ii) Draw the arrow diagram (project network) for the following

project :

Activity Predecessor(s)

A —

B —

C A

D A
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E B,C

F B,C

G E

H E

I D,G

J F,H,I

(B) Attempt any one of the following : [10]

(i) Machine A costs Rs. 45,000 and its operating costs are

estimated to be Rs. 1,000 for the first year, increasing

by Rs. 10,000 per year in the second and subsequent

years. Machine B costs Rs. 50,000 and operating costs

are Rs. 2,000. For the first year, increasing by Rs. 4,000

in the second and subsequent years. If at present company

have a machine of type A, should we replace it

with B ? If so, when ? Assume that both machines

have no resale value and their future costs are not

discounted.
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(ii) The data for PERT network is given in the following

table :

Activity Time Estimates

Most Optimistic Most Likely Pessimistic

1—2 4 6 8

2—3 5 7 15

2—4 4 8 12

3—5 10 18 28

4—6 8 9 16

5—7 4 8 12

3—6 15 20 25

6—7 1 2 3

7—8 6 7 8

(a) Draw a project network

(b) Compute the expected project completion time.



Total No. of Questions—4] [Total No. of Printed Pages—7

Seat

No. [4701]-261

S.Y. B.A. EXAMINATION, 2015

MATHEMATICAL STATISTICS (General)

(Discrete Probability Distributions and Statistical Methods)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical tables are allowed.

(v) Graph papers will be provided on request.

1. Attempt any two of the following  : [2×5=10]

(a) Define the following terms with an illustration :

(i) Discrete Random Variable (r.v.)

(ii) Probability Mass Function (p.m.f.)

P.T.O.
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(b) Show that all cumulants of Poisson distribution are equal. Hence

comment on nature of distribution.

(c) With usual notations, describe a large sample test for testing

H0 : P1 = P2 against H1 : P1 ≠  P2. Use 5% level of significance

(l.o.s.).

(d) Write a note on deflating and purchasing power as application

of index numbers.

2. Attempt any four of the following : [4×5=20]

(a) Define the term variance of a discrete random variable (r.v.).

Show that it is affected by scale but not origin.

(b) If X and Y are two iid geometric r.v.s having common p.m.f.

with parameter ‘p’ defined on non-negative integer values, obtain

the conditional distribution of X given X + Y = n, where n

is any non-negative integer.
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(c) Derive m.g.f. of the negative binomial distribution with

parameters k and p.

(d) In a random sample of 900 ball bearings is found to have

average weight of 12.5 grams. Can we assume that a

sample is coming from a population with mean 13 grams

against that it is less than 13 grams ? Assume that the

population standard deviation is 0.9 gram. Use 5% level of

significance.

(e) Describe stepwise procedure of finding seasonal indices by simple

average method.

(f) Splice the two series together so as to get a continuous series

with base year 2005 :

Year 2005 2006 2007 2008 2009 2010 2011

Series A 100 125 140 160 — — —

Series B — — — 100 130 150 170
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3. Attempt any three of the following :  [3×10=30]

(a) (i) Obtain the mgf of Poisson distribution with parameter m.

Hence or otherwise find its variance. [5]

(ii) Define the term m.g.f. of bivariate r.v. State and prove

its any one property. [5]

(b) Define time series. Discuss various components of time

series. [10]

(c) (i) A personnel officer knows that about 25% of the application

for a certain position are suitable for the job. What is

the probability that the 4th person interviewed will be

the first one who is suitable for the job ? [5]

(ii) An item is produced in large numbers. The machine is

known to produce 3% defectives. A quality control inspector

is examining the items by taking them at random. What

is the probability that at least 4 items are to be examined

in order to get 2 defectives ? [5]
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(d) (i) Describe the ‘Logistic regression with one repressor in detail.

State one real situation where it can be used. [6]

(ii) Discuss the term residual with its uses in regression

analysis. [4]

(e) (i) Discuss the main steps in the construction of cost of living

index numbers. [6]

(ii) Compute cost of living index number from the following

data :

Group Index number Weight

Food 350 50

Fuel and Lighting 200 10

Clothing 240 10

House Rent 160 10

Miscellaneous 250 20

Also, comment on your result. [4]
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4. Attempt any one of the following :  [1×20=20]

(a) (i) Obtain the equation of regression plane X1 on X2 and

X3 by the method of least squares. [10]

(ii) A TV repairman finds that the time spent on his

job follows exponential distribution with mean of

30 minutes. If he repairs sets in order in which they

came in, and if the arrival of sets follows a Poisson

distribution with an average rate of 16 per 8 hrs day,

calculate : [6]

(I) The expected number of TV sets in the system.

(II) The expected waiting time in the queue.

(iii) Describe the test procedure to test equality of two unknown

population correlation coefficients. [4]

(b) (i) Define the term multiple correlation coefficient in case

of trivariate data. Also with usual notations show that

0 

≤

 R1.23 

≤

 1. [10]
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(ii) The mean yield of wheat due to variety ‘A’ was 200

pounds per acre with a standard deviation of 10 pounds

from a sample of 100 pots. Variety ‘B’ gave mean yield

of 210 pounds per acre with a standard deviation of

12 pounds from a sample of 100 plots. Test whether

variety ‘B’ is better than variety ‘A’ in giving better average

yield. Use 5% l.o.s. [6]

(iii) Discuss the importance of national income. [4]



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4701]-262

S.Y. B.A. EXAMINATION, 2015

ENGLISH

General Paper II

(Understanding Fiction)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed :— (i) Lord of the Flies : William Golding

(ii) Inside the Haveli : Rama Mehta

(iii) A Man of the People : Chinua Achebe

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i) What is fiction ? Give its characteristics.

P.T.O.
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(ii) Explain the technique of narration in the novel.

(iii) What is irony ? Explain with examples.

(iv) Write a note on regional novel.

(v) Define plot and mention its types.

(vi) Explain the types of characters with examples.

2. Attempt any four in the following in not more than 150 words

each : [16]

(i) Bring out the traits of Ralph’s character as a

protagonist.

(ii) Examine ‘Lord of the Flies’ as a study of child psychology.

(iii) Explain the theme of good and evil in ‘Lord of the

Flies’.

(iv) Comment on the role of fire in ‘Lord of the Flies’.

(v) Examine critically the plot construction of the novel ‘Lord of

the Flies’.

(vi) Explain the significance of spectacles of Piggy.
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3. Attempt any two of the following : [16]

(i) Comment on Rama Mehta’s art of characterization in ‘Inside

the Haveli’.

(ii) Discuss the significance of the title ‘Inside the Haveli’.

(iii) Attempt a character sketch of Pari.

4. Attempt any two in the following in not more than 150 words

each : [16]

(i) Explain the use of flashback technique in ‘A Man of the

People’.

(ii) Discuss ‘A Man of the People’ as a political novel.

(iii) Attempt a character sketch of Odili.

5. Attempt any four of the following :  [16]

(i) Comment on the setting of ‘Lord of the Flies’.

(ii) Describe major symbols in ‘Lord of the Flies’.
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(iii) Differentiate main plot and sub plot. Explain with reference

to ‘Inside the Haveli’.

(iv) Comment on the point of view in ‘Inside the Haveli’.

(v) Examine the ending of ‘A Man of the People’.

(vi) Describe ‘A Man of the People’ as a story of expectations.
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-263

S.Y. B.A. EXAMINATION, 2015

ENGLISH

Special Paper I

(Understanding Drama)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :— (i) ‘The Importance of Being Earnest’ by Oscar

Wilde

(ii) ‘Death of a salesman’ by Arthur Miller

(iii) ‘Hayavadana’ by Girish Karnad.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four of the following : [16]

(i) Point out the significance of stage property in the performance

of a play.

(ii) Define drama and state various types of drama.

(iii) What is the difference between a plot and a story ?

(iv) State the features of tragedy as a form of drama.

(v) Explain with examples the concept of unity of place.

(vi) What do you mean by a round character ? Give examples.
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2. Attempt any four of the following : [16]

(i) Write a note on the significance of dialogues in ‘The Importance

of Being Earnest’.

(ii) Comment on the plot of ‘The Importance of Being Earnest’.

(iii) Examine ‘The Importance of Being Earnest’ as a hillarious

comedy.

(iv) How does Wilde develop the theme of love and marriage in

‘The Importance of Being Earnest’ ?

(v) Attempt a character sketch of miss Prism.

(vi) Write a note on the use of humour in ‘The Importance of

Being Earnest’.

3. Attempt any two of the following : [16]

(i) Discuss ‘Death of a Salesman’ as a modern tragedy.

(ii) Write a note on the use of expressionism in ‘Death of a

Salesman’.

(iii) Comment on the role of the minor characters in ‘Death of

a Salesman’.

4. Attempt any two of the following : [16]

(i) Comment on the plot of ‘Hayavadana’.
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(ii) Attempt a character sketch of Kapila.

(iii) How does Karnad present the theme of confusion of identities

in ‘Hayavadana’ ?

5. Attempt any four of the following : [16]

(i) Point out the significance of the title ‘The Importance of Being

Earnest’.

(ii) Comment on the social satire in ‘The Importance of Being

Earnest’.

(iii) Write a note on the central theme of ‘Death of a

Salesman’.

(iv) What role does Charley play in ‘Death of a Salesman’.

(v) Analyse the sub plot of ‘Hayavadana’.

(vi) Explain he use of conventions of folk tales in ‘Hayavadana’.
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S.Y. B.A. EXAMINATION, 2015

ENGLISH

(Special Paper II)

(Understanding Poetry)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed :— Poetry Down the Ages.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i) Describe the features of ‘Lyric’ with suitable examples.

(ii) Define ‘Alliteration’ and give two examples.

(iii) Write any four important features of poetry.

(iv) Explain ‘conceit’ as a literary device.

(v) What is a ‘Dramatic Monologue’ ? Explain with reference to

the poem you have studied.

(vi) Explain ‘Symbol’ as a figure of speech with examples.
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2. Answer any four of the following : [16]

(i) Discuss Wordsworth’s ‘Lucy Gray’ as a moving story.

(ii) How does Browning describe a bishop in his poem ‘The Bishop

Orders his Tomb at Saint Praxed’s Church’ ?

(iii) Explain how Keats’ ‘Ode on a Grecian Urn’ deals with mortality

of human life and permanence of art.

(iv) How does William Blakes ‘The Chimney Sweeper’ depict the

suffering and hardship of chimney sweepers ?

(v) Explain how ‘To a Skylark’ deals with the contrast between

the sorrow of human life and the joy of a skylark.

(vi) Discuss the use of hyperbole in Andrew Marvell’s ‘To His

Coy Mistress’.

3. Answer any two of the following : [16]

(i) Comment on the theme of W.H. Auden’s poem ‘Song’.

(ii) Describe Jayant Mahapatra’s ‘The Abandoned British Cemetery

at Balsore’ as a perfectly crafted poem about the effect of

his visit to an old British cemetery.

(iii) Point out the symbolic significance in Philip Larkin’s ‘Church

Going’.
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4. Answer any two of the following : [16]

(i) Describe how A.K. Ramanujan portrays the decline of the

Mughal dynasty in ‘The Last of the Princes’.

(ii) Discuss Robert Frost’s ‘The Road Not Taken’ as a fine example

of use of ordinary situations or images as powerful symbols

of some deeper truth.

(iii) What according to Emerson are the specific things that a person

could give to love ?

5. Explain with reference to the context any four of the

following : [16]

(i) A serious house on serious earth it is,

In whose blent air all our compulsions meet,

Are recognised, and robed as destinies.

(ii) They took their time to die, this dynasty

falling in slow motion from Aurangzeb’s time;

some of bone TB

others of a London fog that went to their heads,
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some of current trends, imported wine and women

one or two heroic in war or poverty,

with ballads

to their name.

(iii) A lonely impulse of delight

Drove to this tumult in the clouds;

Those that I fight I do not hate,

I balanced all, brought all to mind,

The years to come seemed waste of breath

A waste of breath the years behind

In balance with this life, this death.

(iv) Ten Bucks you say I owe you ?

Ten Bucks you say is due ?

Well, that’s Ten Bucks more’n I’ll pay you

Till you fix this house up new.

(v) Thou, thou, the Ideal Man,

Fair, able, beautiful, content, and loving,

Complete in body and dilate in spirit

Be thou my God.
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(vi) Give all to love,

Obey thy heart;

Friends, kindred, days,

Estate, good-fame

Plans, credit and the Muse—

Nothing refuse.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-265

S.Y. B.A. EXAMINATION, 2015

PHYSICAL EDUCATION

(2008 & 2011 PATTERN)

Time : Two Hours Maximum Marks : 40
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1. Answer the following questions in 50 words each (any two) :[5]

(a) How will you develop your physical fitness ?

(b) Write down the procedure and benefits of any one asana.

(c) List out the jumping events in Athletics.

2. Answer the following questions in 100 words each (any two) : [10]

(a) Write down the importance of organisation of tournaments and

elaborate about good organisation of tournament.

(b) Describe the different steps of Suryanamaskar in detail.

(c) List out the basic skills and rules of Kho-Kho.
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3. Answer the following questions in 250 words each (any two) : [15]

(a) Define physical fitness and write down about BMI in

detail.

(b) List out the various training methods and describe circuit training

method.

(c) Describe the importance of sports in human life.

4. Answer any one of the following in 500 words : [10]

(a) Write the history and aims of ancient Olympics.

(b) What do you mean by physical fitness ? Write in detail.

(ejkBh :ikarj)

osˇ % nksu rkl ,dw.k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iz'ukps iw.kZ xq.k nðkZforkr-

1- [kkyhy izðukaph mŸkjs izR;sdh 50 'kCnkr fygk (QDr nksu) % [5]

(v) 'kkjhfjd lqn`<rk fodlhr Ogkoh ;klkBh mik; lqpok-

(c) dks.kR;kgh ,dk vklukph œrh fygwu R;kps Qk;ns lkaxk-

(d) eSnkuh Li/kZsrhy mMÓkP;k izdkjkph ;knh |k-



[4701]-265 3 P.T.O.

2- [kkyhy izðukaph mŸkjs izR;sdh 100 'kCnkar fygk (QDr nksu) % [10]

(v) ÿhMk Li/kkZ vk;kstukps egRo lkaxk o mRœ"V Li/kkZ vk;kstu d';ky

Eg.kky-

(c) lq;ZueLdkjkP;k fofo/k œRrhps lfoLrj o.kZu djk-

(d) [kks&[kks [ksˇkrhy eqyHkwr dkS'kY; o eqyHkwr fu;e lkaxk-

3- [kkyhy izðukaph mŸkjs izR;sdh 250 'kCnkr fygk (QDr nksu) % [15]

(v) 'kkjhfjd lqn`<rk Eg.kts dk; rs lkaxwu ^ch-,e-vk;- ps lq=* lkaxwu izek.k fo'kn

djk-

(c) fofo/k izf'k{k.k iºrhph ;knh nsowu lfdZV Vs™fuax iºrhps o.kZu djk-

(d) ekuoh thoukr ÿhMsps egRo lkaxk-

4- [kkyhy dks.kRkkgh ,dk izðukps 500 'kCnkr mŸkj fygk % [10]

(v) vkWyEihd Li/ks Zph ,sfrgklhd ik'oZHkweh lkaxwu vkWyEihd Li/ks Zph /;s;

lkaxk-

(c) 'kkjhfjd lqn`<rk ;koj lfoLrj fuca/k fygk-
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S.Y. B.A. EXAMINATION, 2015

MATHEMATICS

(MG-2 : Differential Equations and Linear Algebra)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
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1. Attempt each of the following : [16]

(a) Define order and degree of the differential equation.

(b) Solve the differential equation

2

2

1

1

dy y

dx x

+
=

+
.

(c) Find the complementary function of the differential equation

2

2
5 6 0.

d y dy
y

dxdx
− + =

(d) Check whether the given differential equation is exact or not

(2x cos y + 3x2y)dx + (x3 – x2 sin y + 2y)dy = 0.

P.T.O.
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(e) Let S = {(1, 0), (0, 1)}, show that S spans R2, where R2

is vector space.

(f) Let T : R2 → R3 be linear transformation defined as

T(x, y) = (x, x + y, y). Find Ker T.

(g) If

(1, 4, 3, 2)u =  and 

v

 = (3, 0, 8, –2)

be vectors in Euclidean inner product space R4. Find

|| − ||+ || ||

.

(h) Find the eigen values of the matrix :
A = 

.

2. (A) Attempt any one of the following : [6]

(i) Explain the method of solving the homogeneous differential

equation.

(ii) Solve the differential equation

1
.

1

dy x y

dx x y

+ +
=

+ −
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(B) Attempt any two of the following : [10]

(i) Solve the differential equation,

23 .
dy y

x
dx x

− =

(ii) Find the orthogonal trajectories of the family of curves

y2 = mx.

(iii) Find the particular integral of the differential equation

2
2

2
4 12 .xd y dy

y e
dxdx

+ − =

3. (A) Attempt any one of the following : [8]

(i) The rate of growth of bacteria is proportional to the number

of bacteria present at any time t. Initially there were 1000

bacteria present and in 3 hours the number of bacteria

is double. Find the number of bacteria at the end of 6

hours.

(ii) Verify that y1 = x is solution of the differential equation

2x2y" + xy' – y = 0. Also find another solution y2 and

hence general solution of the given differential

equation.
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(B) Attempt any one of the following : [8]

(i) Find eigen values of the matrix

2 1 1

A = 2 3 4

1 1 2

 
 
 
 
 − − − 

.

Also find eigen vectors corresponding to each eigen value

of matrix A.

(ii) Using Gram-Schmidt process, transform the basis

1 2(1, 1, 1), ( 1, 1, 0)u u= = −  and 

u

 to orthonormal

basis of R3.

4. (A) Attempt any one of the following : [6]

(i) Let T : R3 → R2 be a linear transformation such that T(1,

0, 0) = (0, 0), T(0, 1, 0) = (1, 1), T(0, 0, 1) = (1, –1).

Compute T(4, –1, 1) and determine nullity and rank of T.

(ii) Show that the set of vectors S = {(1, 1, 1), (1, 1, 0),

(1, 0, 0)} forms basis for vector space R3.
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(B) Attempt any two of the following : [10]

(i) Let S be the set of two or more vectors from vector

space V. Then show that S is linearly dependent if and

only if at least one of the vectors in S is expressible

as a linear combination of the rest of vectors in S.

(ii) Find the standard matrix for the linear transformation

T : R3 → R4 defined by

  T(x, y, z) = (3x – 4y + z, x + y – z, y + z, x + 2y + 3z).

(iii) A map T : R2 → R2 given by T(x, y) = (x + y, x – y), show

that T is linear isomorphism.

5. (A) Attempt any one of the following : [6]

(i) State and prove Cauchy-Schwarz inequality.

(ii) Let 

u

 and 

v

 be the vectors in an inner product space

v, show that :

, 0u v< > =

 if and only if 

u v u v|| + || = || − ||

.

(B) Attempt any two of the following : [10]

(i) Determine whether the set of vectors 

1V

 = (2, 1, 0, 3)

2V  = (3, –1, 5, 2), 3V  = (–1, 0, 2, 1) is linearly independent

or not.
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(ii) Let V be the vector space of continuous functions on

[0, 1] and define a map T : V → R by T(f) = 

1

0

f∫ (x)dx.

Show that T is linear transformation.

(iii) Let T : V → W be a linear transformation, then prove

that Ker T is subspace of vector space V.
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1. Attempt the following questions : [16]

(i) If a|b and a|c, then show that :

a|(b + c).

(ii) Does the congruence 3x ≡ 2 (mod 4) have a solution in

integers ? Justify.

(iii) Evaluate :

φ(100), µ(100).

(iv) Find two pythagorean triplets whose terms forms an arithmetic

progression.
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(v) Evaluate :

2015

C

z dz∫

where C is |z| = 5 described in positive sense.

(vi) Evaluate :

2

C

1

6 8
dz

z z− +∫

where C is |z| = 3 described in positive sense.

(vii) State Liouville’s theorem.

(viii) Is

f(z) = x2 + iy2

entire function ? Justify.

2. (A) Attempt any one of the following : [6]

(i) If d is the greatest common divisors of a and b,

then prove that there exists integers x0 and y0 such

that :

d = ax0 + by0.

(ii) State and prove Wilson’s theorem.
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(B) Attempt any two of the following : [10]

(i) Find the remainder when 1373 + 143 is divided

by 11.

(ii) Let n be a positive integer. Prove that :

( )
|d n

d nφ =∑ .

(iii) Find the highest power of 7 that divides 1000 !

3. (A) Attempt any one of the following : [8]

(i) Find the least positive integer x such that :

x ≡ 5 (mod 7)

x ≡ 7 (mod 11)

x ≡ 3 (mod 13).

(ii) State and prove Mobius Inversion formula.

(B) Attempt any one of the following : [8]

(i) Suppose that :

f(z) = u(x, y) + iv(x, y)
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and that f ′(z) exists at a point

z0 = x0 + iy0.

Then show that the first order partial derivatives of

u and v must exist at (x0, y0) and they satisfy the Cauchy-

Riemann equations :

ux = vy and uy = –vx

there. Also show that f ′(z0) can be written as

f ′(z0) = ux + ivx,

where these partial derivatives are to be evaluated

at (x0, y0).

(ii) Let f be analytic everywhere inside and on a simple closed

contour C, taken in the positive sense. If z0 is any point

interior to C, then show that : f z

.

4. (A) Attempt any one of the following : [6]

(i) If a function f is analytic and f ′ is continuous at all

points interior to and on a simple closed contour C, then

prove that :

( )
C

0f z dz =∫ .
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(ii) If  f ′(z) = 0 everywhere in a domain D, then prove

that f(z) must be constant throughout D.

(B) Attempt any two of the following : [10]

(i) Let a function f(z) be analytic in a domain D. Prove

that f(z) must be constant throughout D if |f(z)| is constant

throughout D.

(ii) Show that :

u(x, y)

is harmonic and find G harmonic conjugate v(x, y)

when :

u(x, y) = 2x(1 – y).

(iii) Let :

z = x + iy and ez = ex . eiy.

Prove the following :

(a) 1 2 1 2.z z z ze e e += , zn = xn + iyn, n = 1, 2

(b)
1

1 2

2

z
z z

z

e
e

e

−= , zn = xn + iyn, n = 1, 2

(c) Is ez periodic ? Justify.
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5. (A) Attempt any one of the following : [6]

(i) Suppose that a function f is analytic throughout a disk

|z| < R0 centered at O and with radius R0. Then prove

that f(z) has the power series representation :

( )
0

n
n

n

f z a z

∞

=

= ∑  (|z| < R0)

where

( ) ( )0

!

n

n

f
a

n
=  (n = 0, 1, 2, ..... ).

(ii) Given a function f and a point z0, suppose that f is

analytic at z0 and f(z0) = 0 but f(z) is not identically

equal to zero in any neighbourhood of z0. Then prove

that f(z) ≠ 0 throughout some deleted neighbourhood :

0 < |z – z0| , < ∈ of z0.

(B) Attempt any two of the following : [10]

(i) Find the residue at z = 0 of the functions :

(a) 2

1

z z+

(b)
1

cosz
z

 
   .
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(ii) Evaluate :

2

6

0
1

x
dx

x

∞

+∫ .

(iii) If

1

n

n

z

∞

=
∑

is absolutely convergent, then prove that :

1

n

n

z

∞

=
∑

is convergent.
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[4701]-267

MS-1 (b) : Problem Course Based on

Papers MG2 and AMG2

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions : [16]

(i) Show that the differential equation :

(3xy2 – x2) dx + (3x2y – 6y2 – 1) dy = 0

is exact.

(ii) Form a differential equation by eliminating arbitrary

constant :

y2 = 4ax.

(iii) Check whether the set

S = {(1, 1, 1), (1, 1, 0), (1, 0, 0)}

is linearly independent in R3.
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(iv) Let

S = {u1, u2, u3}

be set of vectors in C3 where

u1 = (1, 0, i), u2 = (i, 0, 1) and

u3 = (0, 1 + i, 0).

Show that S is orthogonal set.

(v) If

f(x, y) = |x| + |y|

then find fx(0, 0) and fy(0, 0) if exist.

(vi) Evaluate :

( ) ( )

3 3

2 2, 0,0
lim

x y

x y

x y→ +
.

(vii) Find the curl and divergence of :

( )F , ,x y z xi yj zk= + + .

(viii) If the function :

( ) 2 5tr t e i t j k= + +

is continuous at t = 0 find r(0).
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2. (A) Attempt any one of the following : [6]

(i) For the family

x2 + 3y2 = cy,

find that member of the orthogonal trajectories which

passes through the point (1, 2).

(ii) Solve the differential equation :

4 6 3

6 9 1

dy x y

dx x y

− +
=

− − .

(B) Attempt any two of the following : [10]

(i) If

x = rcos θ, y = rsin θ,

show that :

( )22

2 2

log cos2r

x y x r

∂∂ θ − θ
= =

∂ ∂ ∂
.

(ii) Find by double integration the area of the region bounded

by the parabolas :

y2 = 4ax and x2 = 4ay.
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(iii) Find the equation of tangent plane and normal line to

the surface :

x2 + y2 – z2 = 18

at (3, 5, –4).

3. (A) Attempt any one of the following : [8]

(i) Evaluate :

R

1
dxdy

xy∫∫ ,

where R is the region in XY-plane bounded by four

circles :

x2 + y2 = ax,

x2 + y2 = bx,

x2 + y2 = cy,

x2 + y2 = dy.

(ii) Solve the equation :

(D2 – 1)y = x2 cos x.
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(B) Attempt any one of the following : [8]

(i) Let R3 be a Euclidean inner product. Use Gram-Schmidt

process to transform the basis

u1 = (1, 1, 1), u2 = (–1, 1, 0) and

u3 = (1, 2, 1).

to orthonormal basis of R3.

(ii) Verify Stokes’ theorem if :

F yi zj xk= + +

and surface S is the part of the sphere

x2 + y2 + z2 = 1

above the XY-plane.

4. (A) Attempt any one of the following : [6]

(i) If

T : R3 → R3

is a linear transformation given by

T(x, y, z) = (x + y – z, x – 2y + z, –2x – 2y + 2z)
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Find basis and dimension of :

(a) Ker T

(b) R(T).

(ii) Let A be 2 × 3 matrix and

T : R3 → R2

be the matrix transformation

T(X) = AX

given by :

1 0 0

1 3 4
T 0 , T 1 , T 0 ,

1 0 7
0 0 1

     
          
          = = =          −          
          

Find :

(a)

1

T 2

3

 
 
 − 
 
  

(b)
T

x

y

z

 
 
 
 
 
  

(c) A.
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(B) Attempt any two of the following : [10]

(i) Check whether the set

S = {(1, 1, –1), (1, –2, 3), (2, –1, 2)}

is basis for R3.

(ii) Determine the dimension of and a basis for the solution

space of the system :

x1 – 4x2 + 3x3 – x4 = 0

2x1 – x2 + 5x3 – 3x4 = 0.

(iii) Find all the stationary points of the function :

f(x, y) = 2(x2 – y2) – x4 + y4.

5. (A) Attempt any one of the following : [6]

(i) Find the flux of :

2F = yzi xj z k+ −

outward through the parabolic cylinder

y = x2, 0 ≤ x ≤ 1, 0 ≤ z ≤ 4.



[4701]-267 15 P.T.O.

(ii) Verify Green’s theorem for the field :

F(x, y) = (x – y)i + xj

and the region R bounded by the unit circle

C : r(t) = cos sinti tj+ ; 0 ≤ t ≤ 2π.

(B) Attempt any two of the following : [10]

(i) If u is a vector function which possesses continuous second

order partial derivatives, then prove that :

div(curl u) = 0.

(ii) Find the flow of velocity field :

( ) ( )2 2F = x y i x y j+ − +

along path the upper half of the circle

x2 + y2 = 1

from (1, 0) to (–1, 0) in XY plane.

(iii) Find the point on the curve

( ) = 5sin 5cos 12r t ti tj tk+ +

at distance 26π units along the curve from the origin

in the direction of increasing arc length.
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(iii) Use of calculator and statistical table is allowed.

(iv) Symbols have their usual meanings.

1. Attempt any two of the following : [2×5=10]

(a) If A and B are two non-empty events of a sample space (Ω),

then prove that :

P(A B) = P(A) + P(B) – P(A B)U I

P.T.O.
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(b) Let X be a discrete r.v. with probability as given

below :

X P[X = x]

0 0.02

1 0.04

2 0.51

3 0.38

4 0.05

(i) Find mean of X

(ii) Calculate E[3X – 5].

(c) Distinguish between general fertility rate and total fertility rate

in demography.

(d) Three fair coins are tossed at a time. Find the probability

of occurring :

(i) exactly two tails

(ii) at least one head.
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2. Attempt any four of the following : [4×5=20]

(a) Write a short note on the construction of ‘Life Table’.

(b) State probability mass function (p.m.f.) of negative binomial

distribution and obtain its mean.

(c) Let A and B be two events defined on a sample space Ω .

Ω  = {1, 2, 3, 4, 5, 6, 7, 8}, A = {2, 3, 4} B = {3, 4, 5}

Calculate the probability P(A|B) and P(B|A)

(d) If X follows Poisson distribution such that :

P[X = 1] = P[X = 2] = 0.5

find V(X) and P(X 
≥

 3).

(e) Discuss the terms : Family formation, composition and dissolution

in demography.

(f) A random variable X follows binomial distribution with

parameters n and p. If E(x) = 6 and V(x) = 4.2, find

P(x

≤

 2)

3. Attempt any three of the following : [3×10=30]

(a) Explain the term Crude Death Rate (CDR). Also describe indirect

method of obtaining STDR. [10]
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(b) Compute ‘General Fertility Rate’ and ‘Age Specific Fertility Rate’

for the following data : [10]

Age Group Female Population No. of Births

15—20 8000 172

20—25 8100 1112

25—30 9500 1167

30—35 9700 875

35—40 9800 520

40—45 9200 200

(c) (i) State and prove Bayes’ theorem. [7]

(ii) Explain the concept of probability. [3]

(d) (i) State the probability mass function of Poisson

distribution. Also state any two real life situations where

it is applicable. [5]

(ii) Let A and B be the two events defined on sample space

Ω

. If P(A) = 1/3, P(B) = 1/4 and P(A B) = 1/6, then

compute P(A U B), P(A' I B) and P(A' I B'). [5]

(e) Discuss all the measures of mortality. [10]
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4. Attempt any one of the following : [1×20=20]

(a) (i) Compute STDR and compare the mortality of two

states. Take population of state A as standard

population : [10]

 Population A Population B

Age group No. of No. of No. of No. of

(in years) Persons Deaths Persons Deaths

0—10 500 20 520 18

10—20 1100 4 1600 6

20—60 3200 26 2500 25

60—100 410 21 750 20

(ii) Two fair dice are rolled simultaneously. Find the probability

distribution of the sum of points appearing on the top

faces. Also compute : [10]

P(3 < X < 8) and P(X ≤  4 | X ≥  2).
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(b) (i) State the Probability Mass Function (p.m.f.) of hypergeometric

distribution and obtain its mean. [6]

(ii) Define normal distribution. State its important

properties. [4]

(iii) Compute gross reproduction rate and net reproduction rate

from the data given below, assuming sex ratio at birth

as 106 males to 100 females : [10]

Age Group No. of Women Female Births Survival Rate

15—19 15000 155 0.91

20—24 16000 215 0.92

25—29 15600 320 0.90

30—34 15120 211 0.88

35—39 16120 145 0.86

40—44 11000 95 0.88
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(ii) Figures to the right indicate full marks.

1. Explain the following concepts in 50 words each (any two) : [10]

(1) Characteristics of a Deductive System

(2) Revised form the rule of E.G.

(3) Relation of Identity

(4) Union of Sets.

2. Answer any four of the following : [20]

(1) Symbolise the following propositions with the help of the symbols

given in brackets (any two) :

(a) Snakes are reptiles (Sx-x is a snake,

Rx-x is a reptile)
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(b) All that glitters is not gold. (Gx-x is Glitters,

Ax-x is Gold)

(c) Only property owners may vote in the elections.

(Px-x is a property owner, Vx-x may vote in elections.)

(d) Some students are both intelligent and hardworking.

(Sx-x is a student, Ix-x is intelligent,

Hx-x is hardworking)

(2) Symbolise the following propositions with the help of the symbols

given in brackets (any two) :

(a) If any bananas are yellow, they are ripe.

(Bx-x is a banana, Yx-x is yellow, Rx-x is ripe)

(b) If any officer is present then either no majors are present

or he is a major. (Ox-x is an officer,

Px-x is present, Mx-x is a major)

(c) If anything is damaged someone will be blamed.

(Dx-x is damaged, Px-x is a person,

Bx-x will be blamed)
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(d) If there are any survivors and only women are survivors

then they are women.

(Sx-x is a survivor, Fx-x is a fortunate)

(3) If :

A = {a, b, c, d, e, f, ....}

B = {c, f}

C = {a, b, c, e}

U = {a, d}

Then list the elements of the following sets :

(a) A ∪ B

(b) ~ A ∩ ~ C

(c) U ∩ B

(d) (A ∪ C) ∪ ~ B

(e) ~ U

(4) Logical structure of a relational proposition.

(5) Need for quantificational rules.
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(6) The method of proving invalidity of invalid quantificational

arguments.

3. Answer any three of the following : [30]

(1) Prove the validity of any two of the following :

(a) (X) (Ax ⊃ Bx)

~ Bt /∴ ~At

(b) (X) (Ix ⊃ Jx)

(∃x) (Ix . ~ Jx) /∴ (X) (Jx ⊃ Ix)

(c) (X) (Dx ⊃ Cx)

(∃x) (Ax . Dx) /∴ (∃x) (Ax . Cx)

(d) Dates are edible. Only items of food are edible. All items

of food are good. Therefore all dates are good.

(Dx, Ex, Fx, Gx)

(2) Prove invalidity of the following invalid arguments (any two) :

(a) (∃x) (Ax . Bx)

AC /∴ BC
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(b) (X) (Ex ⊃ Fx)

(X) (Gx ⊃ Fx) /∴ (X) (Ex ⊃ Gx)

(c) (X) (Wx ⊃ Hx)

(X) (Ex ⊃ Hx) /∴ (X) (Wx ⊃ Ex)

(d) No kittens are large. Some mammals are large.

Therefore, no kittens are mammals. (Kx-x is kitten,

Lx-x is large, Mx-x is mammals)

(3) Explain with examples the properties of dyadic relation.

(4) Explain the rule of Identity with its four versions. Give

examples.

(5) Prove the validity of the following valid relational arguments

(any two) :

(a) (X) (Dx ⊃ Ex) /∴ Da ⊃ [(Y) (Ey ⊃ Fy) ⊃ Fa]

(b) (X) (Ax ⊃ Bx) /∴ (X) (Bx ⊃ Cx) ⊃ (Ak ⊃ Ck)

(c) (X) (Cax ⊃ Dxb)

(∃x) Dxb ⊃ (∃y) Dby /∴ (∃x) Cax ⊃ (∃y) Dby.

(d) All circles are figures. Therefore all who draw circles

draw figures. (Cx-x is a circle, Fx-x is a figure,

Cxy-x drawsy)
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4. Answer any one of the following : [20]

(1) (A) State the preliminary requirements for the axiomatic

system P.M.

(B) Prove any three of the following theorems with the help

of the Axioms given below :

Axioms :

(a) (p ⊃ p) ⊃ p

(b) q ⊃ (p ∨ q)

(c) (p ∨ q) ⊃ (q ∨ p)

(d) [p ∨ (q ∨ r)] ⊃ [q ∨ (p ∨ r)]

(e) (q ⊃ r) ⊃ [(p ∨ q) ⊃ (p ∨ r)].

Theorems :

(a) |— p ⊃ p

(b) |— p ∨ ~ p

(c) |— (p ⊃ ~ q) ⊃ (~ q ⊃ ~ p)

(d) |— (p ⊃ ~ p) ⊃ ~ p

(e) |— q ⊃ (p ⊃ q).

(2) Explain with examples the basic operations on sets.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dkgh igkoh-

1- [kkyhy ladYiuk izR;sdh 50 'kCnkar Li"V djk (dks.kR;kgh nksu)% [10]

(1) uSxefud iºrhph y{k.ks

(2) vfLrRookph lkekU;hdj.kkP;k fu;ekpk lq/kkfjr vkdkj

(3) rnsork laca/k

(4) lapkpk la;ksx-

2- [kkyhyiSdh dks.kR;kgh pkjkaph mŸkjs nÓk % [20]

(1) dalkr fnysY;k fpUgk aP;k lgk∏;kus [kkyhy fo/kkuk aps fpUgk adu djk

(dks.krsgh nksu) %

(v) lki ljiV.kkjk izk.kh vkgs- (Sx, Rx)
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(c) pdkdrs rs loZ lksus ulrs- (Gx, Ax)

(d) QDr laiŸkh /kkjdkaukp fuoM.kwdh e/;s ernku djrk ;sbZy-

(Px, Vx)

(M) dkgh fo|kFkhZ cqfºeku vkf.k d"Vkˇw vlrkr- (Sx, Ix, Hx)

(2) dalkr fnysY;k fpUgk aP;k lgk∏;kus [kkyhy fo/kkuk aps fpUgk adu djk

(dks.krsgh nksu) %

(v) tj dks.krhgh dsˇh fioˇh vlrhy rj rh fidrhy-

(Bx, Yx, Rx)

(c) tj dks.khgh vf/kdkjh mifLFkr vlsy- ,drj ,dgh estj mifLFkr

ulsy fdaok rks estj vlsy- (Ox, Px, Mx)

(d) tj dqBys uqdlku >kys rj dks.khrjh nks"kh vlsy-

(Dx, Px, Bx)

(M) tj dks.kh okpys vlsy vkf.k QDr efgyk okpY;k vlrhy rj R;k

efgyk vlrhy- (Sx, Fx)

(3) tj %

A = {a, b, c, d, e, f, ....}
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B = {c, f}

C = {a, b, c, e}

U = {a, d}

rj iq<hy lapkrhy lnL;kaph ;knh djk %

(v) A ∪ B

(c) ~ A ∩ ~ C

(d) U ∩ B

(M) (A ∪ C) ∪ ~ B

(b) ~ U

(4) laca/kokph fo/kkukph rkfdZd jpuk-

(5) la[;hdkjdh; fu;ekaph vko';drk-

(6) voS/k la[;hdkjdh; ;qfDroknkaph voS/krk flº dj.;kph iºrh-

3- dks.kR;kgh frukaph mŸkjs fygk % [30]

(1) [kkyhyiSdh dks.kR;kgh nksu ;qfDroknkaph oS/krk flº djk %

(v) (X) (Ax ⊃ Bx)

~ Bt /∴ ~At
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(c) (X) (Ix ⊃ Jx)

(∃x) (Ix . ~ Jx) /∴ (X) (Jx ⊃ Ix)

(d) (X) (Dx ⊃ Cx)

(∃x) (Ax . Dx) /∴ (∃x) (Ax . Cx)

(M) [ktwj [kk.;k;ksX; vlrkr- QDr vUu [kk.;k;ksX; vlrs- loZ vUuinkFkZ

pkaxys vlrkr- Eg.kwu loZ [ktwj pkaxys vlrkr-

(Dx, Ex, Fx, Gx)

(2) [kkyhyiSdh dks.kR;kgh nksu ;qfDroknkaph voS/krk flº djk %

(v) (∃x) (Ax . Bx)

AC /∴ BC

(c) (X) (Ex ⊃ Fx)

(X) (Gx ⊃ Fx) /∴ (X) (Ex ⊃ Gx)

(d) (X) (Wx ⊃ Hx)

(X) (Ex ⊃ Hx) /∴ (X) (Wx ⊃ Ex).

(M) dqBysgh ekatjhps fiYyw eksBs ulrs- dkgh lLruizk.kh eksBs vlrkr- Eg.kwu

dqBysgh ekatjhps fiYyw lLruizk.kh ulrs- (Kx, Lx, Mx)
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(3) f}Ro laca/kkps xq.k/keZ lksnkgj.k Li"V djk-

(4) rknkRe fu;ekP;k pkj vko`R;k Li"V djk- mnkgj.ks nÓk-

(5) [kkyhy oS/k laca/kokph ;qfDroknkaph oS/krk flº djk (dks.krsgh nksu) %

(v) (X) (Dx ⊃ Ex) /∴ Da ⊃ [(Y) (Ey ⊃ Fy) ⊃ Fa]

(c) (X) (Ax ⊃ Bx) /∴ (X) (Bx ⊃ Cx) ⊃ (Ak ⊃ Ck)

(d) (X) (Cax ⊃ Dxb)

(∃x) Dxb ⊃ (∃y) Dby /∴ (∃x) Cax ⊃ (∃y) Dby.

(M) loZ orqZˇ vkœR;k vlrkr- ts dks.kh orqZˇ dk<rkr rs vkœR;k dk<rkr-

(Cx, Fx, Cxy)

4- dks.kR;kgh ,dk iz'ukps mŸkj fygk % [20]

(1) (v) ih-,e- iz.kkyhrhy ewyk/kkj iºrhph izkFkfed vko';drk Li"V djk-

(c) [kkyh fnysY;k ewyk/kkjkaP;k lkgk∏;kus R;k[kkyh fnysY;k dks.kR;kgh rhu

izes;kph flºrk nÓk %

ewyk/kkj %

(v) (p ⊃ p) ⊃ p
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(c) q ⊃ (p ∨ q)

(d) (p ∨ q) ⊃ (q ∨ p)

(M) [p ∨ (q ∨ r)] ⊃ [q ∨ (p ∨ r)]

(b) (q ⊃ r) ⊃ [(p ∨ q) ⊃ (p ∨ r)]

izes;s %

(v) |— p ⊃ p

(c) |— p ∨ ~ p

(d) |— (p ⊃ ~ q) ⊃ (~ q ⊃ ~ p)

(M) |— (p ⊃ ~ p) ⊃ ~ p

(b) |— q ⊃ (p ⊃ q)

(2) lapkojhy ewyHkwr izfÿ;k mnkgj.kkalg Li"V djk-
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Group A (G-2) : Population and Society

1. Answer any two of the following questions in maximum 50 words

each : [10]

(1) Factors of mortality

(2) Types of Population Policy.

(3) Post-independence Population Policy.

(4) AIDS awareness.

P.T.O.

Seat

No.
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2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Importance of population studies

(2) Infant mortality in India

(3) Uses of sample survey method

(4) Impact of population growth on economic development

(5) Factors affecting fertility in India

(6) Characteristics of population in India.

3. Write any three of the following questions in maximum 250 words

each : [30]

(1) Discuss the scope of population studies.

(2) Explain the types of migration.

(3) Describe the stages of population growth in India.

(4) Explain the objectives of Population Education.

(5) Elaborate the importance of census.
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4. Answer any one of the following in maximum 500 words : [20]

(1) Discuss in detail the demographic transition theory of population

growth.

(2) Explain the achievements and failures of family planning

programme.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) xV ^v* fdaok xV ^c* lksMok-

(ii) loZ izðu lksMfo.ks vkoð;d vkgs-

(iii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

(xV ^v*)

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh dek« 50 ðkCnkai;±r mŸkjs f«gk % [10]

(1) eR;Zrsps ?kVd

(2) «ksdla[;k /kksj.kkps izdkj

(3) Lokra´;ksŸkj «ksdla[;k /kksj.k

(4) ,M~l tk.kho tkx`rh-
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2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkai;±r mŸkjs f«gk % [20]

(1) «ksdla[;k vH;klkps egRo

(2) Hkkjrkrh« vHkZd eR;Zrk

(3) uequk losZ{k.k iºrhps mi;ksx

(4) «ksdla[;k ok<hpk vkfFkZd fodklkoj gks.kkjk ifj.kke-

(5) Hkkjrkrh« tuukl izHkkfor dj.kkjs ?kVd

(6) Hkkjrkrh« «ksdla[;sph oSfðk"VÓs-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) «ksdla[;k vH;klkpk O;kIrhph ppkZ djk-

(2) LFk«karjkps izdkj Li"V djk-

(3) Hkkjrkrh« «ksdla[;kok<hps VIis Li"V djk-

(4) «ksdla[;k fðk{k.kkph mfÌ"VÓs Li"V djk-

(5) tux.kusps egRo foðkn djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj dek« 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) «ksdla[;k ok<hP;k laÿe.k flºkarkph lfoLrj ppkZ djk-

(2) dqVqac fu;kstu dk;Zÿekps ;ðk&vi;ðk Li"V djk-
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OR

(Group B) G-2 : Introduction to Social Welfare and

   Social Legislation in India

Time : Three Hours Maximum Marks : 80

1. Answer any two of the following in maximum 50 words each : [10]

(1) Social security.

(2) Liberalization

(3) Legislation banning, sex determination and female foeticide.

(4) Non-governmental organizations.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Objectives of social welfare

(2) Concept of charity in India

(3) Savitri Dattak Yojana
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(4) Dowry Prohibition Act, 1961

(5) Functions of Central Social Welfare Board.

(6) Policy of protective discrimination for SCs and STs.

3. Answer any three of the following in 250 words each : [30]

(1) Explain the nature of social welfare programme in India.

(2) Elaborate the role of welfare state.

(3) Discuss the various measures for youth welfare.

(4) Describe the contribution of Non-Governmental Organization in

social welfare.

(5) Review the various laws for labour welfare.

4. Answer any one of the following in 500 words : [20]

(1) Discuss the various challenges to child welfare in

India.

(2) Describe social legislations for labour welfare in

India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

(xV ^c*)

1. [kk«h«iSdh dks.kR;kgh nksukaph izR;sdh dek« 50 ðkCnakr mŸkjs f«gk % [10]

(1) lkekftd lqjf{krrk

(2) mnkjhdj.k

(3) xHkZt«fpfdRlk o L=h&Hkzq.kgR;k izfrca/k rjrwn

(4) vðkkldh; laLFkk-

2. [kk«h«iSdh dks.kR;kgh pkj izðukaoj izR;sdh dek« 100 ðkCnkar laf{kIr fVik f«gk % [20]

(1) lektdY;k.kkph mfÌ"VÓs

(2) Hkkjrkrh« nkukph ladYiuk

(3) lkfo=h nŸkd ;kstuk

(4) gqaMk fuewZ«u dk;nkµ1961

(5) dsaÊh; lektdY;k.k foHkkxkps dk;Z

(6) vuqlwfpr tkrh@tekrhalkBhps lajf{kr foHksnhdj.k /kksj.k-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkar mŸkjs f«gk % [30]

(1) Hkkjrkrh« lektdY;k.k dk;Zÿekps Lo:i Li"V djk-
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(2) dY;k.kdkjh jkT;kph Hkwfedk foðkn djk-

(3) ;qod dY;k.kkP;k fofo/k mik;;kstukaph ppkZ djk-

(4) lekt dY;k.kkrh« vðkkldh; laLFkkaP;k ;ksxnkukps o.kZu djk-

(5) dkexkj dY;k.klkBhP;k fofo/k dk;nÓkapk vk<kok ?;k-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkar mŸkj f«gk % [20]

(1) ckˇ dY;k.k lanHkkZrh« fofo/k vkOgkukaph ppkZ djk-

(2) Hkkjrkrh« dkexkj dY;k.kfo"k;d dk;nsðkhj rjrwnhaps o.kZu djk-
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1. Answer any two of the following in maximum 50 words

each : [10]

(1) Characteristics of social thought.

(2) Types of Social Action—Weber.

(3) Westernization—Dr. M.N. Shriniwas.

(4) Dr. Ghurye’s theory of origin of caste.

P.T.O.
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2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Social impact of French Revolution.

(2) Conflict theory

(3) Alienation — Marx

(4) Dominant caste — Dr. Shriniwas

(5) Modernization — Dr. Shriniwas

(6) Circulation of Elites — Pareto.

3. Answer any three of the following in maximum 250 words each : [30]

(1) What is Enlightenment ? Describe the impacts of enlightenment.

(2) Describe the Militant society and industrial society stated by

Spencer.

(3) Discuss the types of authority stated by Weber.

(4) Elaborate the characteristics of caste by Dr. Ghurye.

(5) Explain the theory of untouchability by Dr. Ambedkar.
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4. Answer any one of the following in maximum 500 words : [20]

(1) Describe Auguste Comte’s theory of law of three stages.

(2) Discuss the theory of class struggle stated by Karl Marx.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnkai;±r mŸkjs f«gk % [10]

(1) lkekftd fopkjkaph oSfðk"VÓs-

(2) lkekftd fÿ;sps izdkj µ oscj

(3) ikfðpekR;hdj.k µ MkW- ,e- ,u- Jhfuokl

(4) MkW- ?kq;sZpk tkrhP;k mRiŸkhpk flºkar-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk % [20]

(1) ›sap jkT;ÿkarhps lkekftd ifj.kke

(2) la?k"kZ flºkar
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(3) ijkRerk µ ekDlZ

(4) izHkkoh tkr µ MkW- Jhfuokl

(5) vk/kqfudhdj.k µ MkW- Jhfuokl

(6) Js"Bhtu vfHklj.k flºkar µ ijsVks

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 250 ðkCnkai;±r mŸkjs f«gk %  [30]

(1) izcks/ku Eg.kts dk; \ izcks/kukP;k lkekftd izHkkokps o.kZu djk-

(2) LisUljus lkafxr«sY;k lSfudh lekt o vkSnÓksfxd lektkps o.kZu djk-

(3) oscjP;k vf/kdkjkP;k izdkjkaph ppkZ djk-

(4) MkW- ?kq;sZuh lkafxr«s«h tkrhph oSfðk"VÓs foðkn djk-

(5) MkW- vkacsMdjkapk vLi`ð;rkfo"k;d flºkUr Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,d izðukoj 500 ðkCnkar mŸkj f«gk %  [20]

(1) vkWxLV dkWEVP;k rhu voLFkkaP;k fu;ekps foospu djk-

(2) dk«ZekDlZP;k oxZla?k"kZ flºkUrkph ppkZ djk-
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1. Answer any two of the following in maximum 50 words each : [10]

(1) Regionalism

(2) Value crises

(3) Consequences of Alcoholism

(4) Any two causes of terrorism.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Any two problems of religious minorities

P.T.O.
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(2) Materialistic attitude

(3) Mental problems of aged.

(4) Criminalization of politics

(5) Nature of eveteasing

(6) Causes of corruption

3. Answer any three of the following in maximum 250 words each : [30]

(1) Explain reasons behind inequality of castes.

(2) Elucidate causes of Dowry.

(3) Explain the concept of regional imbalance with examples.

(4) Explain consequences of crime.

(5) Discuss the problems of working women of unorganised

sector.

4. Answer any one of the following in maximum 500 words : [20]

(1) Define Divorce. Elucidate causes and consequences of Divorce.

(2) Define poverty and discuss the causes and consequences of

poverty.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnkai;±r mŸkjs f«gk % [10]

(1) izknsfðkdokn

(2) eqY; la?k"kZ

(3) e|ikukps ifj.kke

(4) ngðkroknkph dks.krhgh nksu dkj.ks-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r FkksMD;kr fVik f«gk % [20]

(1) /kkfeZd vYila[;kdkaP;k dks.kR;kgh nksu leL;k

(2) O;ogkjh o`Ÿkh

(3) o`ºkaP;k ekufld leL;k

(4) jktdkj.kkps xqUgsxkjhdj.k

(5) efg«kaP;k NsMNkMhps Lo:i

(6) Hkz"Vkpkjkph dkj.ks-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkai;±r f«gk % [30]

(1) tkrh; fo"kersph dkj.ks Li"V djk-

(2) gaqMÓkph dkj.ks foðkn djk-

(3) izknsfðkd vlerks« gh ladYiuk mnkgj.kkalg Li"V djk-

(4) xqUgÓkaps ifj.kke Li"V djk-

(5) vla?kVhr {ks=krh« uksdjnkj efg«kaP;k leL;kaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj 500 ðkCnkai;±r mŸkj f«gk %  [20]

(1) ?kVLQksVkph O;k[;k |k- ?kVLQksVkph dkj.ks o ifj.kke foðkn djk-

(2) nkfjÊÓkph O;k[;k |k vkf.k nkfjÊÓkph dkj.ks o ifj.kkekaph ppkZ djk-
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1. Answer the following questions in 50 words each (any two) : [10]

(i) Types of state.

(ii) Organic theory of state.

(iii) Ancient sacraments.

(iv) Ancient measures.

P.T.O.
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2. Answer the following questions in 100 words each (any four) : [20]

(i) Causes for the decline of Ancient Indian Republics.

(ii) Theory of Kingship during Gupta period.

(iii) Functions of Samiti.

(iv) Ancient Indian Varna system.

(v) Life of women during Vedic period

(vi) Ancient weights.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Write in detail the work of Ministry in ancient times.

(ii) State the different types of Ancient Indian Courts and explain

the process of Judiciary.

(iii) Discuss the types of marriage in ancient times.

(iv) Take a review of the different industries in Ancient India.

(v) Write in brief about Ancient Indian coins.

4. Answer the following questions in 500 words (any one) : [20]

(i) Explain the sources for the study of Ancient Indian political

social and economic institutions.

(ii) Take a review of Ancient Indian Foreign Trade.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.kR;kgh nksu) % [10]

(i) jkT;kps izdkj

(ii) jkT;kpk lsafÊ; flºkar

(iii) izkphu laLdkj

(iv) izkphu ekis-

2. izR;sdh 100 ðkCnkr mŸkjs f«gk (dks.kR;kgh pkj) % [20]

(i) izkphu Hkkjrh; x.kjkT;kaP;k Úgklkph dkj.ks-

(ii) xqIrdk«hu jktin flºkar

(iii) lferhph dk;sZ

(iv) izkphu Hkkjrkrh« o.kZO;oLFkk

(v) osndk«hu L=hthou

(vi) izkphu otus-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.kR;kgh rhu) % [30]

(i) izkphu dkˇkrh« ea=heaMˇkps dk;sZ lfoLrj f«gk-

(ii) izkphu Hkkjrh; U;k;k«;kaps fofo/k izdkj lkaxwu U;k;nku izfÿ;k Li"V djk-

(iii) izkphu dkˇkrh« fookg izdkjkaph ppkZ djk-

(iv) izkphu Hkkjrkrh« fofo/k m|ksx/kanÓkpk vk<kok ?;k-

(v) izkphu Hkkjrh; uk.kh ;kfo"k;h FkksMD;kr f«gk-

4. [kk«h« izðukaps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) %  [20]

(i) izkphu Hkkjrh; jktdh;] lkekftd o vkfFkZd laLFkkaP;k vH;klkph lk/kus foðkn

djk-

(ii) izkphu HkkjrkP;k ijjk"V™h; O;kikjkpk vk<kok ?;k-
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1. Attempt any ten of the following : [20]

(1) Write e3 = 5 in logarithmic form.

(2) Write simple interest formula.

(3) Find :

dy

dx
 if y = x2/3.

(4) Define growth of function f(t).

(5) If

y = eax

then find 
dy

dx
.

P.T.O.
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(6) Define indefinite integral.

(7) Evaluate :

52x dx∫ .

(8) What is probability density ?

(9) Solve :

2

3

1

x dx∫ .

(10) Define solution of differential equation.

(11) Is y = x2 a solution of 2 0
dy

x
dx

− = .

(12) What is difference equation ?

(13) If |b| < 1, then how is time path ?

2. Attempt any two of the following : [10]

(1) Explain rules of logarithm.

(2) Find the future value when Rs. 1,250 are invested at 12 percent

for four years.

(3) Find ux and uy if u = x0.9 y0.1.
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3. Solve any two of the following : [20]

(1) Solve :

43 xx e dx∫
by method of substitution.

(2) Explain consumer and producers surplus.

(3) Find solution of 4tdy + (16y – t2) dt = 0.

4. Attempt any two of the following : [30]

(1) Explain ‘COBWEB MODEL’.

(2) Solve :

4 .
dy y

y
dt t

+ =

(3) Show that :

3 1 2 3

2 2 2 2

0 0 1 2

6 6 6 6

1 1 1 1

x x x x
dx dx dx dx

x x x x
= + +

+ + + +∫ ∫ ∫ ∫ .
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S.Y. B.A. EXAMINATION, 2015

STATISTICS (Descriptive) (GENERAL—II)
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N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical table and calculator is allowed.

(iv) Symbols and abbreviations have their usual meanings.

1. Attempt any two of the following : [2×5=10]

(a) State types of attitude scales and explain any two attitude

scales.

(b) State all criteria for detecting lack of process control.

(c) State various features of good research design.

(d) Derive an expression for Average Total Inspection (ATI) in

case of double sampling plan.
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2. Attempt any four of the following : [4×5=20]

(a) Show that sample mean is an unbiased estimator of population

mean under systematic sampling.

(b) Describe in brief the construction of X  chart.

(c) Define the following terms :

(i) AQL

(ii) LTPD

(iii) Consumer’s Risk

(iv) Producer’s Risk.

(d) Obtain an unbiased estimate of population mean for the data

given below :

Stratum Ni ni iy

Large 100 8 14.875

Small 80 6 17.5

Medium 50 3 12.3333

(e) Obtain ATI for a single sampling plan with N = 1000,

n = 150, c = 2 and p = 0.01.

(f) Write a note on size of subgroups and frequency of subgroups

in the construction of control chart.
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3. Attempt any three of the following : [3×10=30]

(a) Describe all process capability indices for a stable process. Also

interpret Cpk = 1, Cpk = 1.33 and Cpk = 2.

(b) A control chart is used to control the fraction defectives of

a process. Ten subgroups yield the following data :

Sample No. No. of Defectives

1 20

2 25

3 35

4 10

5 30

6 5

7 45

8 20

9 10

10 10

If n = 100, construct p chart and comment on it.

(c) Define inclusion probabilities for SRSWOR. Also prove that

probability of getting any sample of size n units from a finite

population of size N is equal to 
1

N
n

 
  

.



[4701]-275 4

(d) Define all allocations in stratified random sampling. Also, prove

that :

( ) ( )srsw o r st p rop
V a r Y V a r Y≥ .

(e) Write a note on planning, execution and analysis of sample

survey.

4. Attempt any one of the following : [1×20=20]

(a) (i) What do you mean by an auxiliary variable ? Explain

with two examples how these variables are useful in

sample surveys. Also discuss ratio method of estimation

of population mean. [10]

(ii) The values {(xi, yi), i = 1, 2, 3, 4, 5} of a sample of

size 5 are as follows :

xi yi

1 3

2 5

2 7

3 6

3 8

The population total of 50 observations of X is known

to be 105. Obtain the ratio and regression estimates of

population total for Y. [10]
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(b) (i) Consider a process in which coils are manufactured. Samples

of size 5 are randomly selected from the process and

resistance value of the coil is measured. The observed

values are as follows : [12]

Samples No. Resistance of Coil

1 20 22 21 23 22

2 19 18 22 20 20

3 19 20 23 22 20

4 22 20 18 18 19

5 18 20 19 18 20

6 20 19 23 20 21

7 21 20 24 23 22

8 21 19 20 20 20

9 20 20 22 23 20

10 22 21 20 22 23

Construct X  and R chart for the above data. Comment

on it.

(Given : A2 = 0.577, d2 = 2.326, D3 = 0, D4 = 2.115).

(ii) Describe types of research and their importance. [8]
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1. Attempt any two of the following : [2×5=10]

(a) Describe the test procedure for testing H0 : µ = µ0 against

H1 : µ ≠ µ0, state your assumptions.

(b) If X → F(n1, n2) then show that mode of this distribution

is always less than unity.
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(c) Define statistic, standard error of statistic and sampling

distribution of a statistic.

(d) Let (X, Y) be a continuous bivariate r.v. with joint p.d.f.

as :

( )
2 , 0 X 1, 0

,

0 , otherwise

yxe y
f x y

− < < < < ∞
= 


Verify whether X and Y are independent random variables.

2. Attempt any four of the following : [4×5=20]

(a) Let X → N(µ, σ2) with p.d.f. as :

( )
( )21

12 36
18

x x

f x ke

 − − +  = ; k > 0, –∞ < x < ∞.

Find the mean and variance of the distribution. Also, compute

P[X ≥ 12].

(b) If X follows F distribution with n1 and n2 degrees of freedom

then show that 
1

X
 follows F distribution with n2 and n1 degrees

of freedom.

(c) Define :

(i) ASFR

(ii) CDR

(iii) TFR.
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(d) A random sample of size 10 drawn from bivariate normal

population gave correlation coefficient r = 0.52. Test whether

it is significantly different from the population correlation

coefficient r = 0.61. Take α = 5%.

(e) Obtain mean deviation about mean of the t distribution with

n degrees of freedom.

(f) State and prove lack of memory property of exponential

distribution with parameter α.

3. Attempt any three of the following : [3×10=30]

(a) If X and Y are two independent Chi-square variates with ‘m’

and ‘n’ degrees of freedom (d.f.) respectively, then show

that :

U = X + Y and V = 
X

X + Y

are independently distributed.

(b) Let X1, X2, X3, .......... Xn be a random sample from

N(µ, σ2), then show that X  and

( )22 1
S ix x

n
= −∑

are independently distributed random variable. Also find the

probability distribution of 

2

2

Sn

σ

.
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(c) Let X be a binomial variate with parameters n and p. Find

the m.g.f. of :

X
Y = .

np

npq

−

Hence find its limiting value as n → ∞ and interpret the

result.

(d) The joint p.d.f. of (X, Y) is given below :

f(x, y) = 2; 0 < x < y < 1

= 0: otherwise.

Find Corr(X, Y).

(e) Define Snedecor’s F distribution with n1 and n2 degrees of

freedom. Derive its p.d.f.

4. Attempt any one of the following : [1×20=20]

(a) (i) Obtain the mean and mode of the Chi-square distribution

with n degrees of freedom. [7]

(ii) Show that sum of n i.i.d. exponential variates with

parameter α follows gamma distribution. Hence identify

the parameters of it. [7]

(iii) If t follows student’s t-distribution with 10 d.f., find k

such that :

(I) P(t2 ≥ k) = 0.05

(II) P(t ≤ k) = 0.95. [6]
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(b) (i) If X ~ N(7, 52), find P(3 < X < 9/X > 6). [7]

(ii) The following is the information of certain town of Swine

flu cases. Test at 5% l.o.s., whether the vaccination is

effective to control the said disease ?

Vaccinated Not Vaccinated

Affected 03 22

Not Affected 52 23 [7]

(iii) If X → U(0, 1), then find mean deviation about

mean. [6]
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1. Attempt each of the following : [16]

(i) Let :

( )
0

,

0 0

x y
x y

x y
f x y

x y

− + ≠ += 


+ =

Determine whether the repeated limits of f(x, y) at (0, 0)

exists and equal ?

(ii) Find 
2u

x y

∂
∂ ∂

 if 
1tan .

y
u

x

−  =   

(iii) Find the value of 
u u

x y
x y

∂ ∂
+

∂ ∂
 if 

2 2

3 3
.

x y
u

x y

+
=

+
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(iv) Find critical points of the function :

f(x, y) = x3 + y3 – 3x2.

(v) If

( ) ( ) ( )21 1 2 ,r t t i t j k= + + − +

find 
dr

dt
 at t = 1.

(vi) Evaluate :

( )22
2

2

sin 24
lim .

2 2t

t tt
i j t k

t t→

 − −  + + − −    

(vii) Find grad φ, where :

φ(x, y, z) = x2y + 2z.

(viii) Find curl of :

.r xi yj zk= + +

2. (A) Attempt any one of the following : [6]

(i) Let f(x, y) be a real valued function on a neighbourhood

of (a, b). If f(x, y) is differentiable at (a, b), then prove

that :

(a) f(x, y) is continuous at (a, b)

(b) fx(a, b) and fy(a, b) both exists.
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(ii) Show that the function f(x, y) = 

xy

 is not differentiable

at (0, 0).

(B) Attempt any two of the following : [10]

(i) Find extreme points of the function :

( ) 1 1
, .f x y xy

x y
= + +

(ii) Prove that :

( ) ( ) 2 2, 0, 0
lim 0.

x y

xy

x y→
=

+

(iii) Evaluate :

D

y dy dx∫∫

where D is the region bounded by x = 0, x = π,

y = 0 and y = sin x.

3. (A) Attempt any one of the following : [8]

(i) Suppose f is a function defined in a neighbourhood A

of a point (a, b).

Suppose fy(x, y) exists at all points in A and is continuous

at (a, b) and fx(a, b) exists.

Then prove that f is differentiable at (a, b).
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(ii) Change the order of integration and evaluate :

( )
1/4

1/16 1/2

5

0

I = cos 16 .

y

x dx dyπ∫ ∫

(B) Attempt any one of the following : [8]

(i) Let R be a simply connected plane region whose boundary

is a simple, closed, piecewise smooth curve C oriented

counterclockwise. If M and N are continuous functions

of x and y having continuous partial derivatives in R,

then prove that :

( )
C R

N M
M N .dx dy dxdy

x y

 ∂ ∂
+ = −  ∂ ∂∫ ∫∫�

(ii) Prove that the necessary and sufficient condition for ( )f t

to have constant magnitude is :

· 0.
df

f
dt

=

4. (A) Attempt any one of the following : [6]

(i) If φ(x, y, z) and ψ(x, y, z) are scalar point functions

possessing first order partial derivatives, then prove

that :

∇(φ + ψ) = ∇φ + ∇ψ.
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(ii) If u  is a vector function which possesses continuous second

order partial derivatives, then prove that :

( )div curl 0.u =

(B) Attempt any two of the following : [10]

(i) Find ∇(r), where :

2 2 2 .r x y z= + +

(ii) Find the directional derivative of the function :

φ(x, y, z) = xy2 + yz2 + zx2

along the tangent to the curve x = t, y = t2, z = t3

at the point (1, 1, 1).

(iii) Show that :

( ) ( ) ( )2 3 2cos 2 sin 4 3 2f y x z i y x j xz k= + + − + +

is conservative vector field. Find the scalar potential φ

associated with f .

5. (A) Attempt any one of the following : [6]

(i) If φ(x, y, z) is a scalar function and u (x, y, z) is a

vector function which possesses first order partial

derivatives, then prove that :

∇ × (φ

u

) = ∇φ × 

u

 + φ∇ × 

u

.
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(ii) Evaluate :

∫

by using Stokes’ theorem, where :

( )2 2F y i x j x z k= + − +

and C is the boundary of the triangle with vertices at

(0, 0, 0), (1, 0, 0) and (1, 1, 0).

(B) Attempt any two of the following : [10]

(i) If

( )2 2F 3 6 14 20 .x y i yzj xz k= + − +

Evaluate :

C

F · dr∫

from (0, 0, 0) to (1, 1, 1) along the path x = t,

y = t2, z = t3.

(ii) Show that :

2 0xe dx ydy dz+ − =∫�
where C is the curve x2 + y2 = 4, z = 2.
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(iii) Show that :

( ) ( ) ( )
S

64
,

3
x z dydz y z dzdx x y dxdy+ + + + + = π∫∫

where S is the surface of the sphere :

x2 + y2 + z2 = 4.
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1. Attempt any two of the following : [2×5=10]

(a) A bag contains 18 marbles numbered 1 to 18. One marble

is drawn at random. Find the number of ways in which :

(i) it will have number greater than 10,

(ii) it will be multiple of 3 or 5.
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(b) Let :

Ω = {a, b, c, d, e, f, g}

be equiprobable sample space :

A = {a, e, f}, B = {a, c, d}, C = {a, b, d, e}.

Find P(A ∩ B′), P(A′ ∪ B′) and P((A ∩ B) ∪ C).

(c) Explain the concept of multiple regression plane. State two

practical situations where it is applicable. State the equation

of least squares regression plane of X1 on X2 and X3 in case

of trivariate data.

(d) What are index numbers ? Discuss the utility of index

numbers.

2. Attempt any four of the following : [4×5=20]

(a) A pair of unbiased dice is rolled once. Let the variable

X denote the sum of the two numbers appearing on the top

faces of dice. Find the probability distribution of X. Also

find E(X).

(b) (i) Give classical definition of probability.

(ii) Discuss the limitations of classical definition of probability.

(iii) State the axioms of probability.
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(c) Probability distribution of a random variable X is given in the

following table :

X P(x)

0 0.12

1 0.18

2 0.30

3 0.15

4 0.14

5 0.11

Obtain :

(i) Mean and variance of X

(ii) P(1 < X < 5).

(d) Three fair coins are tossed. Let X number of heads appearing

on first and second coin. Let Y number of heads appearing

on all the three coins. Find P(X ≤ 1), P(Y ≤ 2).

(e) The mean, standard deviation and correlation coefficients

obtained for three characteristics X1, X2 and X3 are given

below :

1X  = 95, σ1 = 22, r12 = 0.7

2X  = 78, σ2 = 42, r23 = 0.6

3X  = 60, σ3 = 15, r13 = 0.66

Compute :

(i) multiple correlation coefficient R1.23,

(ii) partial correlation coefficient r12.3.
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(f) Find the total numbers of 3 digits that can be formed from

6 digits 0, 1, 2, 3, 5 and 7 if every digit appears only once.

How many of these numbers are divisible by 5 ?

3. Attempt any three of the following : [3×10=30]

(a) (i) Explain the components of time series. (5)

(ii) An automatic machine makes paper clips from coils of

wire. It is observed on an average 1 in 100 paper clips

is defective. If the paper clips are packed in boxes of

100, what is the probability that any given box of clips

will contain :

(I) at most one defective,

(II) at least 3 defectives. (5)

(b) The joint distribution of (X, Y) is given below :

    Y 1 2 3

X

0 0.1 0.3 0.1

2 0.1 0.2 0.2

Find :

(i) P(X + Y ≤ 3),

(ii) marginal probability distributions of X and Y,

(iii) E(X) and E(Y),

(iv) conditional p.m.f. of X given Y = 2. (10)
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(c) (i) What is Time Series ? Discuss the usefulness of time

series analysis. (5)

(ii) The data given below are the average quarterly prices

of a certain type of maize variety (in Rs.) for different

years. Compute seasonal indices by simple average method

for these data : (5)

       Quarter I II III IV

Year

2001 15 19 15 16

2002 12 18 18 16

2003 14 14 17 17

2004 11 13 16 16

(d) (i) Define Poisson distribution. State its mean and variance.

State the additive property of Poisson distribution.

Also give real life situations where this distribution is

applied. (5)

(ii) Let X and Y be two independent binomial variables with

parameters (n = 6, p = 0.4) and (n = 4, p = 0.4). If

Z = (X + Y), then find :

(I) E(Z) and V(Z)

(II) P(Z ≥ 2). (5)
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4. Attempt any one of the following : [1×20=20]

(a) (i) Describe the method of estimating seasonal indices by

link relative method. (10)

(ii) Compute GFR, ASFR, GRR and NRR for the following

data assuming the sex ratio at birth as 100 males : 100

females.

Age No. of No. of Survival

Women Births Factor

15—19 16000 330 0.91

20—24 15000 500 0.90

25—29 16500 600 0.89

30—34 14000 400 0.88

35—39 16000 280 0.87

40—44 12000 150 0.86

Give the interpretation of value of NRR. (10)

(b) (i) For two-dimensional discrete random variable (X, Y)

define :

(I) probability mass function of (X, Y)

(II) marginal probability distributions of X and Y

(III) conditional probability distribution of X given

Y = y

(IV) conditional mean of X given Y = y

(V) conditional variance of X given Y = y. (10)
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(ii) If X and Y are two independent discrete random variables

with σx = 2 and V(2X + 3Y) = 45, compute σy. (5)

(iii) The probability mass function of a discrete random

variable X is :

P(x) = k, x = 11, 12, ........, 30

= 0, otherwise

(I) Find the value of k.

(II) Further find E(X), E(X2), V(X). (5)



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-280

S.Y. B.A. EXAMINATION, 2015

PHILOSOPHY

G-2 : Philosophy and Good Life

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) Explain the significance of reflective ethical thinking.

(2) What is theocentrism ?

(3) What is gender discrimination ?

(4) What is media ethics ?

2. Write short notes on any four in 100 words each : [20]

(1) Corporation as a moral agent

(2) Trivarga doctrine of Purushartha

(3) Relevance of the Hippocratic oath



[4701]-280 2

(4) Weakness of will

(5) Fraternity

(6) Deep ecology.

3. Answer any three of the following in 200-250 words each : [30]

(1) Discuss the main features of Epicurean ethics.

(2) Discuss the liberal argument for abortion.

(3) Critically discuss the issue of experimentation on animals.

(4) State and discuss the concept of jeevanmukta, according to

Vedanta.

(5) Discuss the ethical issues regarding media and sex.

4. Answer any one of the following in 500 words : [20]

(1) Explain in detail the way to achieve the ideal of Arhat according

to Buddhism.

(2) Elaborately discuss the notion of Corporate Social

Responsibility.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) foosdkf/kf"Br uhfrðkkL=h; fparukps egRo Li"V djk-

(2) bZðkdsaÊokn Eg.kts dk; \

(3) f«axHkko Hksn Eg.kts dk; \

(4) ek/;e uhfrðkkL= dk; vkgs \

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar f«gk % [20]

(1) mnÓksx lewg % ,d uSfrd drkZ

(2) iq#"kkFkkZpk f=oxZ flºkUr

(3) fgIiksfÿVlP;k ðkiFksps egRo

(4) ladYikph  nqcZ«rk

(5) ca/kqrk

(6) l[kks« ifjljfoKku-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200&250 ðkCnkar nÓk % [30]

(1) ,fiD;qfjvu uhfrðkkL=kP;k izeq[k eqn~nÓkaph ppkZ djk-
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(2) xHkZikrklkBhP;k mnkjeroknh ;qfDroknkph ppkZ djk-

(3) osnkUrkph ^thoueqDr* gh ladYiuk lkaxwu frph ppkZ djk-

(4) izk.;kaojh« iz;ksx ;k fo"k;kph fpfdRld ppkZ djk-

(5) ^ek/;es vkf.k «Safxdrk* ;k laca/khP;k uSfrd eqn~nÓkaph ppkZ djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar nÓk % [20]

(1) ckSº n`f"Vdksukrwu ^vgZr* ;k vknðkkZP;k izkIrhlkBhP;k ekxkZps lfoLrj fooj.k

djk-

(2) ^mn~;ksxkph lkekftd tckcnkjh* ;k dYiusph lfoLrj ppkZ djk-
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[4701]-280

G-2 : Philosophy of Indian Saints

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) What is Saint ?

(2) Explain the term Jangam.

(3) Explain Kabir’s criticism of traditional religion.

(4) Explain the term Akal.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Chidvilasavada

(2) Samartha Ramdasa’s Maharashtra Dharma

(3) Guru Nanak’s concept of Omkar

(4) Concept of Karmayoga according to Bahenabai

(5) Saints : Socio-cultural reformers

(6) Saint Tukarama’s concept of God.
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3. Answer any three of the following questions in 200-250 words

each : [30]

(1) Explain Basaveshvara’s concept of Bhakti.

(2) Explain Guru Nanak’s concepts of Hukum and Bhay.

(3) Examine fully Saint Jnanadeva’s concept of God.

(4) Bahenabai’s concept of True Brahman.

(5) Explain the nature of Ultimate Reality according to Saint

Kabir.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain critically Saint Tukarama’s concept of True Dharma

and heresies (Pakhand).

(2) Explain the nature and role of Bhakti Movement in medieval

India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) lar Eg.kts dk; \

(2) taxe gh laKk Li"V djk-

(3) lar dfcjkaph ikjaikfjd /kekZojh« fVdk f«gk-

(4) vdk« gh laKk Li"V djk-

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVi.k f«gk % [20]

(1) fpn~fo«klokn

(2) leFkZ jkenklkapk egkjk"V™ /keZ

(3) xq# ukudkaph vksadkj ladYiuk

(4) lar csg.kkckb±ph deZ;ksx gh ladYiuk

(5) lar % lkekftd&lkaLœfrd lq/kkjd

(6) lar rqdkjkekaph bZðoj ladYiuk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200&250 ðkCnkar nÓk % [30]

(1) closðojkaph HkDrh ladYiuk Li"V djk-

(2) xq# ukudkaP;k gqdwe o Hk; ;k ladYiuk foðkn djk-

(3) lar Kkunsokaph bZðoj ladYiuk lfoLrj foðkn djk-

(4) lar cgs.kkckb±ph [kÚ;k czk„.kkph ladYiuk foðkn djk-

(5) lar dfcjkauk vfHkizsr vl«sY;k vafre ln~lRrsps Lo:i lfoLrj Li"V

djk-
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4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar nÓk % [20]

(1) lar rqdkjkekaph [kÚ;k /kekZph ladYiuk o ik[kaM ;kaps fVdkRed ijh{k.k

djk-

(2) e/;;qxhu Hkkjrkrh« HkDrh pˇoˇhps Lo:i o Hkwfedk ;kfo"k;h ppkZ

djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-281

S.Y. B.A. EXAMINATION, 2015

PHILOSOPHY (S-1)

(Indian Philosophical Approach)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in about 50 words each : [10]

(1) State upanisadic view of Atman.

(2) Explain the nature of Arthapatti.

(3) Explain Buddhist doctrine of Anityata.

(4) State the notion of Visistadvaita.

2. Write short notes on any four of the following in about 100 words

each : [20]

(1) Upanisadic criticism of Ritualism

(2) Concept of God according to Yogadarsan

(3) Buddhist Anatmavada
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(4) Vaisesika’s concept of dravya

(5) Bhutachaitanyavada

(6) Knowledge and its kind according to Jainism.

3. Answer any three of the following in about 250 words each : [30]

(1) Discuss the nature of Bhakti Yoga in the light of Bhagwat-

Gita.

(2) Elaborately explain the nature and importance of Artha-

vidhivada.

(3) Discuss Buddhist doctrine of Dvadasanidan.

(4) State and explain the nature and kinds of Pratyaksa according

to Nyayadarsan.

(5) Discuss Samkhya view regarding the creation and destruction

of the universe.

4. Answer any one of the following in about 500 words : [20]

(1) Explain fully the nature of Brahman, Jiva and Jagat with reference

to Sankar and state the interrelation among them.

(2) Elaborately discuss Jainism view about the nature of

reality.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1- [kkyhyiSdh dks.kR;kgh nksgksaph mŸkjs izR;sdh 50 'kCnkar fygk % [10]

(1) mifu"knkarhy vkReu~ ckcrpk n`f"Vdksu lkaxk-

(2) vFkkZiŸkhps Lo:i Li"V djk-

(3) ckSº n'kZukrhy vfuR;rk flºkar Li"V djk-

(4) fof'k"Vk}Sr gh dYiuk lkaxk-

2- [kkyhyiSdh dks.kR;kgh pkjkaoj izR;sdh 100 'kCnkar fVik fygk % [20]

(1) deZdkaMkojhy mifu"knkaph Vhdk

(2) ;ksxn'kZukuqlkj bZ'oj gh ladYiuk

(3) ckSºkapk vukReokn

(4) oS'ksf"kdkaph ÊO; ladYiuk

(5) HkwrpSrU;okn

(6) tSun'kZukuqlkj Kku vkf.k Kkukps izdkj-

3- [kkyhyiSdh dks.kR;kgh frghaph mŸkjs izR;sdh 250 'kCnki;±r fygk % [30]

(1) Hkxon~xhrsyk vuql:u HkDrh;ksxkph ppkZ djk-
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(2) vFkZfof/koknkps Lo:i vkf.k egRo lfoLrj Li"V djk-

(3) ckSºkaP;k }kn'kfunku flºkarkph ppkZ djk-

(4) U;k; n'kZukuqlkj izR;{kkps Lo:i lkaxwu izdkj lkaxk o Li"V djk-

(5) fo'okP;k mRifŸk vkf.k R;k fo"k;hP;k lka[; n`f"Vdksukph ppkZ djk-

4- [kkyhyiSdh dks.kR;kgh ,dkps 500 'kCnki;±r mŸkj fygk % [20]

(1) 'kadjkpk;k±uk vuql:u] cz„tho] txr~ ;kps Lo:i iw.kZr% Li"V djk vkf.k

R;krhy laca/k lkaxk-

(2) fo'okP;k Lo:ikfo"k;hP;k tSu n`f"Vdksukph lfoLrj ppkZ djk-
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-282

S.Y. B.A. EXAMINATION, 2015

PHILOSOPHY

S-2 : History of Western Philosophy

(Ancient, Medieval and Modern)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) State Heraclitus’ view regarding the nature of reality.

(2) Explain St. Augustine’s concept of God.

(3) Explain Berkeley’s Immaterialism.

(4) State Descartes’ distinction between clear and distinct

ideas.

2. Write notes on any four of the following in 100 words

each : [20]

(1) Cosmologist’s view of reality

(2) Aristotle’s notion of substance
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(3) St. Aquinas’ reconciliation between Faith and Reason

(4) Locke’s distinction between Primary and Secondary

qualities

(5) Leibnitz’s notion of monad

(6) Hegel’s concept of dialectic.

3. Answer any three of the following in 200 words each : [30]

(1) State and discuss Socrates’ view of virtue as knowledge.

(2) Explain Aristotle’s doctrine of cause.

(3) Discuss Hume’s scepticism.

(4) State and examine Spinoza’s notion of substance.

(5) State and explain the basic tenets of Descartes’ rationalism.

4. Answer any one of the following in 500 words : [20]

(1) Elaborately explain Plato’s theory of forms.

(2) State the distinction between analytic and synthetic propositions.

Discuss with reference to Kant the possibility of synthetic apriori

propositions.



[4701]-282 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksgkasph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) foðokP;k Lo:ikfo"k;hpk gsjkfD«Vlpk n`f"Vdksu lkaxk-

(2) lar vkWxLVhuph bZðojfo"k;d ladYiuk Li"V djk-

(3) cdZ«spk vtMokn Li"V djk-

(4) LoPN vkf.k Li"V dYiukae/ks nsdkrZus ds«s«k Hksn lkaxk-

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) foðopSrU;oknkapk foðofo"k;d n`f"Vdksu

(2) vWfjLVkWV«ph ÊO;fo"k;d dYiuk

(3) lar vWfDoukWluh Jºk vkf.k cqºh ;kapk ?kkr«s«k ijLijes«

(4) «kWd ;kauh izkFkfed vkf.k nq∏;e xq.k/kek±r ds«s«k Hksn

(5) «kbfCu>ph fpn.kq gh dYiuk-

(6) gsxs«ph }a}kRed fodklkph ladYiuk-

3- [kk«h«iSdh dks.kR;kgh frghaph mŸkjs izR;sdh 200 ðkCnkar f«gk % [30]

(1) ln~xq.k Eg.kts Kku gk lkWÿsfVlpk n`f"Vdksu lkaxwu R;kph ppkZ djk-
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(2) vWfjLVkWV«pk dkj.krspk flºkar Li"V djk-

(3) ·weP;k laðk;oknkph ppkZ djk-

(4) fLiuks>kph ÊO;fo"k;d dYiuk lkaxwu frps ijh{k.k djk-

(5) nsdkrZP;k cqºhoknhph ew«Hkwr rRos lkaxwu Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) I«sVksph vkdkjfo"k;d miiŸkh foLrkjkus Li"V djk-

(2) foð«s"kd vkf.k lað«s"kd fo/kkukarh« Hksn lkaxk- dkaV«k vuql:u lað«s"kd

vuqHkoiwoZ fo/kkukaP;k ðkD;rsph ppkZ djk-
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N.B. :— (i) Attempt All questions.
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1. Answer to the following questions in 50 words each (any two) : [10]

(1) State the principles of development.

(2) State the functions of leadership.

(3) State the nature of development.

(4) Explain the aims of village adoption.

2. Write short notes in 100 words each (any four) : [20]

(1) Personality development

(2) Leadership

(3) Communication
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(4) Field work

(5) Social development

(6) Mobilisation.

3. Answer to the following questions in 200 to 250 words each

(any two) : [30]

(1) Explain the styles and qualities of leadership.

(2) Explain the aspects of development.

(3) Explain the tools and methods of training of political

leader.

(4) How can be government and non-government agencies be

participated in N.S.S. activities.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the co-relationship between the Political Leadership and

Social Development.

(2) Why is the action programme are necessary for field

work ?
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 'kCnkar f«gk (dks.kRksgh nksu) % [10]

(1) fodklkph rRos Li"V djk-

(2) usr`Rokph dk;Z Li"V djk-

(3) fodklkps Lo:i Li"V djk-

(4) nRrd xko@[ksMsps /;s; fo'kn djk-

2- izR;sdh 100 'kCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) O;fDreRo fodkl

(2) usr`Ro

(3) laokn@laKkiu

(4) {ksf=; dk;Z

(5) lkekftd fodkl

(6) xrhf'k«rk@xrhekurk-

3- [kk«h« iz'ukaph izR;sdh 200 rs 250 'kCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) usr`Rokph xq.koRrk o usr`Ro'kS«h Li"V djk-
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(2) fodklkps ?kVd@cktw fo'kn djk-

(3) jktdh; usr`RokP;k izf'k{k.kkP;k iºrh o lk/kus fo'kn djk-

(4) jk- ls- ;kstusP;k dk;Zÿekar ljdkjh o fcxj&ljdkjh laLFkk d'kkizdkjs lgHkkxh

gksow 'kdrkr \

4- [kk«h«iSdh dks.krkgh ,d iz'ukps 500 'kCnkar mŸkj f«gk % [20]

(1) jktfd; usr`Ro o lkekftd fodkl ;krh« lglaca/k Li"V djk-

(2) {ksf=; dk;kZlkBh œrh dk;Zÿekph vko';drk dk vlrs \



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4701]-284

S.Y. B.A. EXAMINATION, 2015

ADULT EDUCATION–II

(Content, Approach, Methods and

Evaluation of Adult Education)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Why are Adult Education Programmes necessary in India ? [20]

Or

What do you mean by curriculum ? How to prepare the Adult Education

curriculum in your centre ?

2. Write the Adult Psychology ? How to motivate the adult learners

to attend the centre ? [20]

P.T.O.
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Or

Tabulate the literacy percentage in India from 1951 to till

date.

3. Write the various teaching methods of adult learner. [20]

Or

Write an assay on word and sentence method for adult learner.

4. How to identify the illiterate in your village. [20]

Or

Define evaluation ? How to conduct the evaluation of adult

education programmes.

5. Write short notes on any two : [20]

(a) Teaching-learning process

(b) Survey method

(c) Audio-Visual aids

(d) Numeracy in adult education test.
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(ejkBh :ikarj)

oš  % rhu rkl ,dw .k xq.k % 100

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. Hkkjrkr izkS< fðk{k.k dk;Zÿekph xjt dk vkgs gs \ Li"V djk- [20]

fdaok

ikBÓÿe Eg.kts dk; \ rqeP;k dsaÊkr izkS< fðk{k.k ikB;ÿe dlk r;kj djrk

;sbZ« \

2. izkS<kaps ekulðkkL= Eg.kts dk; \ izkS< fðk{k.k dsaÊkr mifLFkr jgk.;klkBh o mifLFkrh

fVdo.;klkBh izkS<&v/;ukFkhZuka dls izsjhr djkos \ [20]

fdaok

1951 us vktrkxk;r lk{kjrsP;k VDdsokjhph rk«hdk dðkh djrk ;sbZ« \

3. izkS< v/;;ukFkh±lkBh fofo/k v/;kiu iºrh Li"V djk- [20]

fdaok

izkS< v/;;ukFkh±P;k n`"Vhus ðkCn o okD; iºr f«gk-
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4. rqeP;k [ksMÓkrh« fuj{kj dls ðkks/krk ;srh« \  [20]

fdaok

^ewY;ekiu* ladYiuk Li"V djk] izkS< fðk{k.k dk;Zÿekaps ewY;ekiu dls djk« \

5. iq<h«iSdh dks.kR;kgh nksgksaoj FkksMD;kr fVik f«gk %  [20]

(v) v/;kiu&v/;;u izfÿ;k

(c) losZ{k.k iºrh

(d) n`d&JkO; lk/kus

(M) izkS< fðk{k.k pkp.khr vadKku-



P.T.O.

Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4701]-285

S.Y. B.A. EXAMINATION, 2015

(Vocational Course)

COMPUTER APPLICATIONS

Paper III (Theory)

(RDBMS)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Draw a neat labelled diagram wherever necessary.

(ii) Figures to the right indicate full marks.

1. Explain the following terms with syntax and example (any four) : [12]

(a) Alter Table

(b) Update

(c) Count()

(d) ABS()

(e) Where Clause.

2. Explain the following with examples (any four) : [12]

(a) Select SQL command

(b) Foreign Key

(c) Between Operator

(d) DDL

(e) PL/SQL Datatypes.
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3. Attempt the following (any four) : [16]

(a) Explain in brief the concept of PL/SQL Cursors, with

example.

(b) Explain in brief the objectives of DBMS.

(c) Explain in brief Network database model.

(d) Define RDBMS. Explain the advantages of RDBMS.

(e) What is Normalisation ? Explain in detail.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4+2

Seat

No. [4701]-286

S.Y. B.A. EXAMINATION, 2015

FUNCTIONAL ENGLISH (VOCATIONAL STREAM)

Paper III : Advanced Writing Skills and

Introduction to Electronic Media

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (a) (i) Write five meaningful word using letters from the word

Straight. [5]

Or

(ii) Describe your friend using five adjectives.

(b) (i) Identify the Register of the following paragraph and identify

its markers : [5]

Longer and shorter films coexisted with similar popularity

throughout the early days of film. However, comedy short

films were produced in large numbers compared to lengthy
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features such as D.W. Griffith’s, “Birth of Nation”. By

the 1920’s a ticket purchased a varied program including

a feature and several supporting works from categories

such as second feature, short comedy, 5-10 minute cartoon,

and newsreel.

Short comedies were especially popular, and typically came

in a serial or series (such as the Our Gang movies, or

the many outings of Charlie Chaplin’s Little Tramp character).

Even though there was often no set release schedule,

these series could be considered somewhat like a modern

TV sitcom—lower in status than feature films but

nevertheless very popular (comedians such as Laurel and

Hardy, Charlie Chaplin and Buster Keaton all ‘graduated’

from shorts to features).

Animated cartoons came principally as short subjects, as

did newsreels. Virtually all major film production companies

had units assigned to develop and produce shorts, and

many companies, especially in the silent and very early

sound era, produced mostly or only short subjects.
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Or

(ii) State whether the style of the following conversation formal

or informal and guess the number of speakers and their

relation :

“John, where are you ?”

“I’m in here, I’m stuck.”

“You naughty boy, what are you doing there ?”

“Hiding.”

2. (i) Write your biodata to be attached to the application for a

job under Earn and Learn Scheme of your college. [5]

Or

(ii) You are going for a long leave, write a letter to your Head

of the Department seeking his permission.

3. (A) Your college made a survey on personal health awareness among

students of your college. Write a report to the Principal as

a chief coordinator of the survey team based on the following

points : [10]

• No. of students surveyed—boys and girls
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• Which classes

• Type of survey : oral/questionnaire

• Items included : oral health, cleanliness of body, clothes,

eating habits

• Conclusions

• Recommendations.

(B) An elocution competition on the theme, ‘Green, Healthy and

Beautiful Campus’ was organized by your college. Write a report

on the prize distribution ceremony of the same. [10]

4. (A) Write a script for comparing the Funny Games organized in

the Dept. on the occasion of farewell party to your seniors,

based on details given below : [10]

• Games for seniors only

• Games for teachers

• What games for which group

• Mixed Group

• Announcement of winners and their prizes.
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(B) Attempt any two of the following : [10]

(i) Which of the various types of radio programmes do you

like the most ? Why ?

(ii) Comment on the Social Advertisements like child education,

or Polio dose or toilet free village etc. on radio and

their effect on Society.

(iii) Consider Radio as a media of entertainment.

(C) Attempt any two of the following : [10]

(i) Which TV channel is your favourite ? Why ?

(ii) What are the important people working in a TV studio

to prepare a serial ?

(iii) Do you think that Educational Programmes on TV are

very useful ? How ?

5. Attempt any three of the following : [15]

(i) Do you think radio has gained popularity again in the last

few years ? Justify your answer.
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(ii) What important role was played by the TV and radio in

Election 2014 ?

(iii) What are the qualifications of a radio anchor as compared

to those of a TV anchor ?

(iv) Which according to you is more popular—TV or

Radio ? Why ?

(v) Would you prefer working for radio or TV ? Why ?



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [4701]-287

S.Y. B.A. EXAMINATION, 2015

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper III : Tourism Marketing and Travel Agency Operation

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (around 50 words each) : [10]

(i) Tour operator

(ii) WTO

(iii) Check-in check-out time

(iv) Private air taxi.

2. Write short notes on any four (around 100 words each) : [20]

(i) Pension

(ii) Visa

(iii) Broachers

(iv) Nature of marketing

(v) Travel terminology

(vi) Organizational Structure of a travel agency.
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3. Answer any three (200-250 words each) : [30]

(i) How does a travel agency function ?

(ii) How does IATA co-operate the tourism industry ?

(iii) Explain the importance of Indian Railways.

(iv) Linkage between tourism industry and accommodation.

(v) Bring out the importance of tour packaging.

4. Answer in detail any one (around 500 words) : [20]

(i) Prepare an itinerary on the Kokan area for 8 days and mention

the cost calculation for first/high class tourists.

(ii) Classify 5 types of hotels in detail.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4+2

Seat

No. [4701]-288

S.Y. B.A. EXAMINATION, 2015

iz;kstuewyd fganh % oksds'kuy

(Functional Hindi : Vocational)

iz'ui= III

(jktHkk"kk fganh] fganh esa i=kpkj] foKkiu] i=dkfjrk rFkk vuqokn&1)

(2008 PATTERN)

le; % rhu ?k.Vs dqy vad % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks x, vad iz'u ds iw.kk±d gSa A

(iii) foHkkx ^v* vkSj foHkkx ^c* ds mŸkj ,d gh mŸkj&iqfLrdk es a

fyf[k, A

foHkkx ^v*

1- (d) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [10]

(1) jktHkk"kk vf/kfu;e] 1976 ds izeq[k mica/k

(2) vkn'kZ O;kikfjd i= ds xq.k

(3) dk;kZy;hu i=kpkj ds izdkj

(4) foKkiu ds izdkj A
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([k) ^izdk'k bysDV™hdYl* 21 'kkL=h ekxZ] iq.ks 411030 dh vksj ls ^fQfyIl

bafM;k izk- fy-* eq acbZ dks fuEufyf[kr oLrqvks a ds fy, vkns'k&i=

fyf[k, % [6]

(v) 24 bap ds 15 jaxhu Vh-oh-

(vk) 18 bap ds 15 jaxhu Vh-oh-

(b) 15 jsfM;ks

(bZ) 10 fMthVy dWejs A

vFkok

^cukjl VsDlVkbZYl* 1760 mŸkj izns'k dks 200 cukjlh flYd lkfM+;k°]

250 Ms™l eVsfj;y [kjhnus gsrq l'krZ vkns'k i= Hkst fn;k Fkk A mudh

vksj ls Lohœfr&i= izkIr gqvk A ysfdu vc rd eky ugha igq°pk A bl

lanHkZ esa ^vIljk* lkM+h lsaVj y{eh jksM] iq.ks dh vksj ls f'kdk;r&i=

fyf[k, A

2- (x) fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mŸkj fyf[k, % [9]

(1) jktHkk"kk vf/kfu;e cukus dk D;k dkj.k Fkk \

(2) ^fganh esa izoh.krk* dk D;k rkRi;Z gS \

(3) Kkiu dh fo'ks"krk,° fyf[k, A

(4) O;kikfjd&i= dk dk;Z Li"V dhft, A

(5) foKkiu dk egRo Li"V dhft, A
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(?k) fuEufyf[kr foKkiuksa ds okD;ka'k vFkok ?kks"kokD; fyf[k, % [7]

(1) pk;

(2) ikiM+

(3) fMVt±V ik≈Mj

(4) okWf'kax e'khu

(5) cPpksa ds f[kykSus

(6) x̀g&izdYi

(7) fuHkZ;k vfHk;ku A

foHkkx ^c*

3- (p) fuEufyf[kr vuqPNsn dk fganh esa vuqokn dhft, % [7]

njlky ,fizy v[ksjiklwu esa v[ksji;±r lqV~V;k ;srkrp- lqV~Vh lq# gks.;kiwohZ

lqV~Vhr dk;&dk; djk;ps ;kps mRœ"V fu;kstu loZ fon~;kFkhZ o ikyd ;kapsdMs

r;kj vlrs- iksgk;yk f'kd.ks] iq<hy o"kkZpk vH;kl dj.ks] igkVs mBwu fQjk;yk

tk.ks bR;knh- i.k izR;{kkr dk; gksrs \ njjkst fu;feri.ks igkVs fQjk;yk tk.;kpk

dk;Zÿe dkxnkaoj xksaMl fnlr vlyk] rjh [kjks[kjp tsaOgk igkVs ikp oktrk

xtj ?k.k?k.krks] rsaOgk xqykch >ksisr vki.k va/kkjkr pkpiMrks] xtj can djrks
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o eukrY;k eukr Eg.krks dh vkrk lkjk fnol eksdˇk vkgs- nqikj >kY;koj

tk≈ lkodk'k ^igkVsp* fQjk;yk&uqlrs fQj.;kph gh voLFkk] rj iksg.;kps dk;

gksr vlsy ;kph dYiukp dsysyh cjh-

(N) izfr&la'kks/ku ds fpUgksa dk iz;ksx djrs gq, fuEufyf[kr ifjPNsn dks fQj ls

fyf[k, % [7]

lUlœrh vksj ijœrh es HkSn gS A xqlk dju euq'; dh ijœrh gS] yksc esa

iMuk mldk loHkko gS] b";kZ] eksg] jkx] nos'k vkSj dke oluk&;g lcdslc

ijœrh ds xqu gS A exj ijœrh ds ;s xqu vxj cjksd NksMs fn, tk, rks

vkneh vkSj tukoj esa dkSbZ Hksn ugha jg tk; A blyh, euq'; vkSj ijœrh

ds bUu vosxks ij jksd yxkrk gS vkSj dkslhl djr gS dh oks xqls ds cl

esa ugh] cydh xqlk fg mlds cl es jgS A oks yksHk] eksg] b";kZ] nos'k vkSj

dkeoluk dk xwyke ugh jgS A cydh ;g nqjxqu fg mLlds xwyke jgS A

vksj bUu nwjxwuksa ij vknfe thruk fotbZ gksrk gS] mlfd lulœfr fHk A mrfu

fg vkSaph leth tkfr gSa A

4- (t) vkids egkfon~;ky; esa fganh&fnu lekjksg esa duZy Hkw"k.k xks[kys i/kkj jgs gSaµ

bl lanHkZ esa izsl&foKfIr rS;kj dhft, A [6]
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(>) (i) fuEufyf[kr es a ls fdUgh a ik °p ds fg anh ikfjHk kf"kd 'kCn

fyf[k, % [5]

(1) Advice Book

(2) Bridging Loan

(3) Data Collection

(4) Compartment

(5) Emergency Stop

(6) Overtime allowance

(7) As may be just

(8) Ceiling price.

(ii) fuEufyf[kr es a ls fdUgha ik°p ds vax z sth ikfjHkkf"kd 'kCn

fyf[k, % [5]

(1) O;kns'k

(2) fof/k n~okjk oftZr

(3) l'kL= dkjZokbZ

(4) lgk;rk xkM+h

(5) ladsrd

(6) jkgr xkM+h

(7) vf/kewY; ij

(8) tek'ks"k A
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5- fuEufyf[kr esa ls fdUgha rhu ij fVIif.k;k° fyf[k, % [18]

(1) vuqokn dh mi;ksfxrk

(2) i=dkfjrk esa laiknu dk egRo

(3) izfrla'kks/ku dh vko';drk

(4) dEI;wVj dh bdkb;k°

(5) ,e-,l- oMZ dh mi;ksfxrk A



Total No. of Questions—2] [Total No. of Printed Pages—1

Seat

No. [4701]-290

S.Y. B.A. EXAMINATION, 2015

(Vocational Course)

COMPUTER APPLICATIONS

Paper IV

(Theory)

Software Engineering

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Draw a neat-labelled diagram wherever necessary.

(ii) Figures to the right indicate full marks.

1. Answer the following (any four) : [20]

(a) What is system ? State its characteristics.

(b) What is feasibility study ? Explain its types.

(c) What is E-R diagram ? State which symbols are used for

E-R diagram.

(d) What is system maintenance ?

(e) Explain output design with example.

2. Write short notes on (any four) : [20]

(a) Decision Table

(b) System Requirement Specifications

(c) Data Dictionary

(d) Software Analysis and Design

(e) Flowchart.

[4701]-290
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Total No. of Questions—5+5] [Total No. of Printed Pages—8+4

Seat

No. [4701]-292

S.Y. B.A. EXAMINATION, 2015

MATHEMATICS

MS-2 : Paper (a) Combinatorics and Computational Geometry

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Choose relevant question paper and attempt the same.

(ii) All questions are compulsory.

(iii) Use of logarithmic tables and calculator is allowed.

(iv) Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(i) Find the characteristic equation of the recurrence relation :

an = 2an–1 – an–2.

(ii) State Pigeon hole principle.

(iii) Find the number of non-negative integer solutions of the

equation :

x1 + x2 + x3 + x4 + x5 = 20.
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(iv) (a) How many 6-digit numbers can be formed with the digits

3, 5 and 7 ?

(b) How many of these have two 3’s, two 5’s and two

7’s ?

(v) If the line segment joining A[1 6] and B[5 –2] is uniformly

scaled by factor 2, then find the midpoint of the transformed

line segment.

(vi) Define Dimetric projection and Isometric projection.

(vii) The square of side length 5 is transformed by :

[T] = 

1 3

1 10

 
 
 − 

to create a parallelogram A*B*C*D*. Find the area of the

parallelogram A*B*C*D*.

(viii) Find the angle δθ to generate 4 equidistant points on the

ellipse

2 2

1
16 9

x y
+ =

in the second quadrant.
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2. (A) Attempt any one of the following : [6]

(i) Show that the number of ways to select r objects with

repetition from n different types of objects is :

1n r

r

+ − 
 
  

.

(ii) Using combinatorial argument, prove that :

....... 2

0 1

n
n n n

n

     
     + + + =
          

.

(B) Attempt any two of the following : [10]

(i) How many integers between 1 and 1000 inclusive which

are not divisible by 2, 3 and 7 ?

(ii) (a) How many ways are there to arrange the letters

in the word ‘VISITING’ ?

(b) How many such arrangements are there with no

pair of consecutive I’s ?

(iii) Among the integers 1, 2, ....., 200 if any 101

integers are chosen, then show that there are two

among the chosen integers such that one is divisible by

the other.
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3. (A) Attempt any one of the following : [8]

(i) Solve the recurrence relation :

an – 12an–2 + 16an–3 = 0 for n ≥ 3

and a0 = 4, a1 = –8, a2 = –12.

(ii) State multinomial theorem. Use it to find coefficient of

x7 in :

(1 + 3x – 2x3)10.

(B) Attempt any one of the following : [8]

(i) Reflect ∆ABC through the line y = 3x, where :

A = [1 2], B = [3 –4], C = [0 7].

(ii) Generate uniformly spaced 6 points on the ellipse :

2 2

1
4 9

x y
+ = .

4. (A) Attempt any one of the following : [6]

(i) Suppose a line segment AB having slope m is transformed

to the line segment A*B* under 2 × 2 transformation

matrix :

[ ]T

a b

c d

 
 =
 
 
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then prove that slope of segment A*B* is :

*
b dm

m
a cm

+
=

+ .

Hence prove that parallel lines get transformed to parallel

lines under the transformation [T].

(ii) Derive the rotation angle ‘φ’ about the ‘Y’ axis and rotation

angle ‘θ’ about the ‘X’ axis in dimetric projection for the

given foreshortening factor fz along z axis.

(B) Attempt any two of the following : [10]

(i) Find the transformation matrix for rotation about the

point [1 2] through an angle 27°.

(ii) Reflect the point [3 1 4] through the plane y = 5.

(iii) Find the cavalier projection of the object represented

by [X] with a horizontal inclination angle α = 25°,

with :

1 2 1

X 3 4 1

2 3 1

 
 
 = − 
 
  

.
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5. (A) Attempt any one of the following : [6]

(i) Write an algorithm for rotation about an arbitrary line

in space through the angle δ.

(ii) Write an algorithm to generate uniformly spaced n points

on the circle :

(x – a)2 + (y – b)2 = r2.

(B) Attempt any two of the following : [10]

(i) Find the parametric equation of a Be’zier curve determined

by the control points :

B0[0 2], B1[2 3], B2[3 2], B3[2 0].

Also find position vectors of the points on the curve

corresponding to parameter values t = 0.2, 0.4.

(ii) Obtain the concatenated transformation matrix for the

following sequence of transformations :

(a) Rotation about x axis by 30°.
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(b) Translation in x, y and z directions by –1, 4 and

5 units respectively.

(c) Reflection in YZ plane.

(iii) The plane :

2x + 5y + 3z = 0

is to be rotated so that it coincides with z = 0 plane.

Determine the required angles of rotation about x axis

and y axis.
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[4701]-292

MS-2 : Paper (b) Graphics and Lattices

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [16]

(i) Define a complete graph and give an example.

(ii) Give an example of a self-complementary graph.

(iii) Define an arborescence.

(iv) Is there exist a graph on 4 vertices with degrees 1, 3, 3,

2 ? Justify.

(v) Show that the union of two ideals may not be an ideal of

a lattice.

(vi) Write Jordan-Dedekind condition.

(vii) Define an atom of a lattice.

(viii) Show that every finite lattice is complete.
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2. (A) Attempt any one of the following : [6]

(i) Prove that a connected graph is Eulerian if and only

if degree of every vertex is even.

(ii) Define vertex connectivity and edge connectivity of a graph.

Prove that the vertex connectivity of any graph G, can

never exceed the edge connectivity of G.

(B) Attempt any two of the following : [10]

(i) Find incidence and adjacency matrix of the following

graph :

v1 e1
v2

v3

v4v5

e5

e6

e2

e3

e4

(ii) Write all fundamental cut-sets of a graph G with respect

to a spanning tree T given below :

v2 v4

v6

v5v3

b

v1

a

c e g

h

k

f

d

G



[4701]-292 10

v4

v6

v5

h

k

v2

v1

v3

e

c

b

T

(iii) Show that a simple graph with n vertices and k components

can have atmost :

( ) ( )1

2

n k n k− − +

edges.

3. (A) Attempt any one of the following : [8]

(i) Prove that a tree with n vertices have n – 1

edges.

Draw 3 non-isomorphic trees on 5 vertices.

(ii) Define Hamiltonian circuit. Give an example of a graph

which is Eulerian but not Hamiltonian. Give an example

of a graph which is Hamiltonian but not Eulerian.
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(B) Attempt any one of the following : [8]

(i) Prove that a distributive lattice is modular. Is the converse

true ? Justify.

(ii) Prove that a lattice is modular if and only if for a,

b, c ∈ L the three relations a ≥ b, a ∧ c = b ∧ c,

a ∨ c = b ∨ c, imply a = b.

4. (A) Attempt any one of the following : [6]

(i) Draw a diagram of the lattice of factors of 20 under

divisibility and show that it is same as that of the product

of two chains with three and two elements.

(ii) In a Boolean algebra, prove that :

(a′)′ = a

(a ∧ b)′ = a′ ∨ b′.

(B) Attempt any two of the following : [10]

(i) Show that the homomorphic image of a modular lattice

is modular.

(ii) Consider the lattice L of positive factors of 100 under

divisibility. Draw the diagram of ideal lattice I(L).

(iii) Give an example of a poset which is not lattice.
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5. (A) Attempt any one of the following : [6]

(i) Prove that in any lattice L :

(a ∧ b) ∨ (b ∧ c) ∨ (c ∧ a) ≤

(a ∨ b) ∧ (b ∨ c) ∧ (c ∨ a)

for all a, b, c ∈ L.

(ii) Show that the lattice N of natural numbers under

divisibility is distributive.

(B) Attempt any two of the following : [10]

(i) Draw the circuit represented by the function :

a ∧ [(b ∧ c) ∨ (d ∧ (e ∨ f)].

(ii) Put the function :

f = [(x ∧ y′)′ ∨ z′] ∧ (x′ ∨ z)′

in the CN form.

(iii) Show that an ideal is a sublattice. Is the converse

true ? Justify.
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